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Yuwl Ywpudws £ wpnwnpnipjwl inbluGhywihg U inkuGninghwihg, npnGp
qquipnptit wannd G0 wiwnwdwdwbwyh Ypdwindwl, wiuwnwhph
htpinwgdwl, wpnwnpnipjwl YnGgbGupwgdws nt dwulwghunwgiwl
Jpw b wyG, b ubpunpbl Ywwydws £ npuwhg hbinn: SGinbuw-dwpbdwnh-
YwywG depnnGbph oglnipjwdp qGwhwwnd &G Gnp nbuGhywih U nbju-
Gninghwlwh gnpoplpwgltiph wpyniGwybwnnnilp, npnnud G0 wuw-
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nbfuGhw-nlGnbuwywG hhdGwynpnudhg b Gwhiwgoynn dtnlGwpynipjw
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Ynipjwl Gwwgsdwb b Yuwengdwl wnlnbuwywli Gywunwlwhwpdw-
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hnydwG hlwpwynpnpynilp, nsnw G0 dknGwpynieymbhg pnipu wnpwiu-
wnpunwhl dhenglbiph welwympiniGp, dannd 66 2hGwpwpnipjwl Juwipp’
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wpwnwnpwiph hhdGwlw nbuwlwine hwywpy, bgpwlwgnienGGtip:

LUhldoudht Uthu suueisr

Lwhwgddwl Gywinwyl £ wwinpwunt) hwunwpenebp, npnigny
Yupbh £ Yunnighy, qbprwnmghl npjwd wnwownpuwlpny dbnGwp-
ynipymG:

Stfubhlyw-wohwinwlpuhb bwpwgpd: Uju Gwhwgdnud wbwp & nio-
&G htwnlywy hhdGwlwh hwpgbpp®

— hnudpny, odwlnwy Gnipbipny, tGpghwind, opny U wyy rbunipu-

Gbpny dbnGwpynipjwl weywhndnudp;

— hndph U wwwpwuwnh debpph  dnuwnpdwl  hwdwlwpgbph

unbindnu;

— wpunuwnpnipjwl Jwubwghnwgnd U gninwnGubunipjwl nygjw;
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dnilp; 3 - wndhGhuwnpwinhy-Yelgwnwihl Jwulublp; 4 - whgninh; 5 - Yinunw-
npuhy; 6 - dbptiGwObph wpwnwphl Jwgdwh hpwwwpwl; 7 - hwywhpnbhwihb nb-
qbpynuwpllip; 8 - pwg wywnnjwjwlwwntnh; 9 - wdwnjujwlwnbnh; 10 - ww-
hbunGbph piny ’
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Lwp 3. ip jninugnipy Yweh gnpdwpwlh quwynp hwanwlwgsh b

YndniGhwghwlbph gulgh nhwyuhb Gwfuwghd
w - gliwynp hwwnwlwghd; p - YndniGhlwghwlbph guig; 1 - qfuwynp Jwulw-
2blp; 2 - Ywpuwjwwnnl; 3 - quebihph hnfuwlgiwl bunwywnw; 4 - hwppwy
Junbihph hwdwp; 5 - wwhbunGlph piny; 6 ~ dwdly wwpwih hwdwp; 7 - ntiqlp-
Unwwp gph hwdwp; 8 - hwppwy Gnebph hwdwp; 9 - pwluhy Yaw; 10 - oph ww-
nigdwl Yuywl; 11 - wanwpwy; 12 - wpnbquub gphnp; 13 - dbpkGwGbph pw-
dwdnilp
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5500

JGI0

Lywp 4 Mwiph gnpéwpwGh qiluwynp hwnwlwgsh nhywihG Gwfuwghd:
1 - quwnp Jwuluyblp; 2 -~ odwlnuly dwulwybklp; 3 - gph wwnbgdwh
YuwjwG; 4 - wwhbuwnGbph pnY; 5 - YplGwyh oquniwgnpedwh oph
ntiqbpyniwp; 6 - pupd gph nbigbpynuup; 7 - depblwhtiph pwdwOdniOp; 8
- UbpbGwaGbph wpnwphG Ywgdwl hpwwjwpwy

.

‘}4'

A
. IOBOBEESIGEIRAOHER
( .-

Lywp 5. ShywijhG Gwiuwghd dup YndphGwwh qluwynp hwnwYwghs
(J6Y hwplwh): 1 - hhibwlwt wprwnpwdwu A - Juwdwpwywihs dwu-
Owtilp; b - uwnlwpw(; B - dhu Jopwdwynn wpnwnpwdwy; 2 - wy-
dhGhunpwnhy-4bGgunuihG dwubw)bGp; 3 ~ YwdpewyGbp; 4 ~ YEGwpn-
Owlwl YpnwihG; 5 - YElnwhGbnh Gwwuwwbnwihe wwhdwl dwulw-
260p; 6 - wbnbuwlwl Jwubwyblp; 7 - Grpbph hwdwp hwppwy;
8 - YwpuwjwwnG; 9 - YnbnbhuwwinpuihG nbnwdwy; 10 - Ynunwdwp-
phy Ywjwo; 11 - wdnGhwhh U jinbph wwhbuw; 12 - vwlhwwpwlws
din; 13 - wnuwhwGhy Yew; 14 - GpYweninh; 15 - wnndbpbGwGbph
hwppwy; 16 - Yatinpw)h0 U Y6GnwGhGeph gndbp; 17 - dbpblwltph wn-
nwhwOnw; 18 - dwpuww-npuhy; 19 - gndwnph hwppwy; 20 - opuwdwwnw-
YwpwpdwG hwppwy; 21 - hwywhpnb-hwhG rbgtipymwnGbp; 22 - Ynjni-
nne YuywG; 23 - wdwqunpuhy; 24 ~ uynpowghG hpwwywpuy

13



Lywp 6 ShwwijhG duh YndppGuwnh guwynp hwunwlughd (inwhwpl):

1 - duwdwpuyuwihl dwubupblp; 2 - uwnbwpwl; 3 - dhu Ybpwizwynn dwulwytlp;
4 - YndwpbunpuihG; 5 - Ynunwdwpnhy; 6 - wGgnnhy dhewlgplbp; 7 - wdhGhuwn-
punhy-ytGgunuyhl  dwulupblp; 8- YpbnpwihG; 9 - wnlnbuwywl  Jwubwabilp;
10 -Gnipbph hwdwp hwppwl; 11 - 4bGnwGhCbph GwhiwdnppiwG fuGwdph Juuyp;
12 - uwChnwpwlwl uwywlnwlng; 13 - dbynwswG-umg; 14 - winndbpblwltnh
[wgiwl U wnunwhwldw Yo 15 - §5GnwChGbph pGnmGdwG wynndwinwgywd
hwppwy; 16 - YaGawGhGliph plnnGdws bipyueniquihG hwppwy; 17 - 4tGnwChGlph
pGnmGdwG U nbuwywynpdwd gndbp; 18 - Juip gniwnph hwdwp; 19 - bopwipb-
pwihG; 20 - dwpwwnpuhy; 21 - opwlwywl; 22 - nbigbpynuwn opp hwdwp; 23 - dw-
qniph ntigtipynuwn; 24 - YwpuwjwunmG; 25 - Yytnuwnpuhy; 26 - hwGquinjwl gninh

14
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Lywp 7. Uup Jbpwdawldwl Yndphbwwh quwdnp hwinwlwghsp: 1 - hhdlwlwa
wpnwnpwdwy A - dup Yepwdwldwl dwubwblp; b - uwnlwpwb; B - §ndwpk-
unpwihG b wpwlupnpdwinnpwih Yujwl; T - wlnbuwlw dwubw)tbp; 2 - wn-
dhGhunpwwnhy-Yhbgunuiht dwubwyblp; 3 - Ynunwdwpphy; 4 - wlgnnhy Ju-
dningllip; 5 - YanwihG; 6 - Yupuwjwwnm; 7 - Ybnpnbwlwt nwpwgdwl Jujp;
8 - wdhwyh b dwpyp wwhbuw; 9 - 9pw- U wndwwywiwb; 10, 11 - 9ph nbkgbip-
Yniwpltip 500 ¢° nwpnnnywdp; 12 - dwpywnpuhywyjwqunpuhy; 13 - Ynjninw-
IhG wndwwluwywe; 14 - hwiquunjwh gnunh .
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Lwp 8. RngGwyndphbwunh gifuwynp hwnwlwahdp: 1 - hhdlwywb wpunwnpwiwy
A - pnsGh uwwOnh U dubnhpltph Buldwl wpnwnpwidw; b - uwnlwpwl; B -wi-
gnnhy dhgwilgp; T~ wywnhwppwyltp: 2 -wndhGhunpwnhy-4algwnw)hl Jwulw-
9bip;. 3 - YobnpwihG; 4 - pnyGh pOnnibdwl nbnuuiwy; 5 - wywnnjwjwluwnbnh; 6 -
wgiwh U wnunwhwldwl wbnwdwy; 7 - wintuwywl Juwulwytop; 8 - odwlnwy
Gnietiph hwppwy; 9 - eph ntiqtpynuwpGbp; 10 - wndywluwwo; 11 - yGnunwdwpnh,
12 - winGpwyh wwhbuw; 13 - Ynynigh; 14 - dwpwuwnpuhg; 15 - pasmGOGph wwhdwl
YuwjwG; 16 - hnpwlng prgGh Juwnwlupwnpnnlbph huwdwp; 17 - pnsnilOtph duyni-
uwpw; 18 - jwnwhpwywpuwy: 19 - wynuip; 20 - uwnpuwih@ upwh; 21 - Swnpy-
Gbph U pwGgwnbinkiGh gbipdng; 22 - viwnwywp
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qLNkhu 1.

LURLUMSNRLULG A NRERSUL AGNLULrYNRR3NRLLE D
LUlugonky 64 UULSEuLhYU

1.1. YURP, YURLUURLErLr Ur13NFLULEINMR3UL
A6NLULYNMR3NFLLECP IPULUYUL ShIEFC bl
' Huyusyucsnsue

1. UGwpwwn Yuplwdptppbtph wpunwnpnigiwb dGrbwpyneniltp -
Junnignd &G pwnwplbpnd 25, 50, 100 L dhlyu 300 w/hkpe hgnpni-
piwdp, huy 3 4j0 b wybih pGwysneginil nillignn pwnuwpGtipnui dhGsl 1000
w/hbpp hgnpnigwdp, Jwllwlwl uGinuwdptpph U Wwnwwnwyh wp-
nwnpwdwubpny:

2. Mwiph wpnwnpnpjwl d6rGwpynenbp - wbnunpdnd &6
hnwph pwquwjh dnwn 25 w/hbpe L wdtth hgnpnigjwdp: Mwlph wpunwn-
pnejwl dtnGwpynieniGGepnd Owfuwnbuynd b nilblwy jwplwiwpwph
b Ywpwgh wpnwnpwdwu:

3. Ywpwgh wpunwnpnieywl dEnGwpynieyntGGbp - Ywenignud 66 hnw-
ph pwqwih dnin hbppwihnfunid 40-50 v Yweh dbpwdwldwh hqnpni-
pjwdp: Ujn dbatwpynipinibbbpnid Gwuwwnbudnd t YuqbhGh, unwgpws
Ywd snp wljnin Yweh wpnwnpwdwubp:

4. Ywplwih0 wywhwonlbbph wpnwnpnipjwb dGrGwpyneniGibp -
Ywnnignw 6G 100 w/hbipe hgnpnejwdp, funwgpws, snp Yweh, wiwpwwn
Yweh thnjuwphbhsOtph b dwijwlwl Ywplwdpbppltph wpunwnpuwdw-
ubpny:

5. Ywpwgh b wwlph wprpnibwpbipnigywl dGrGwpynieinGltp - Yuplnp
wtn 60 qpunbiglnw Ywpwah, wywlph uwrbwpwlitpp 500-hg dhisl 5000
w wwpnnnjwdp, hwiwd wwlph b jninh wpnwnpwdwubpny:

6. Mwnwwnwyh dwpphywltp, npnlp Ywenigynd GG funynp pwnwp-
Gbpnud:

7. Ywph pOnnidw(, Owubwlwb Jwydwh gnpdwpwl Ywd wpuiwn-
pwdwu, npnlp Ywenignud G0 hnwdph pwquihG dnin, npnbn Ywep plnnt-
Onwd, YEnuwdwppnw U wwhywbnw 60 dhosk 24 dwd:
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1.2. CL'RULAKM SE1GUNRE3NRLLEN LUNUSTUUL
LUulu3luc4uskhL oUUSURIRELMH UUUPL

COnhwlnip nbtinbYynpnGltp Gwiuwgdh tunwwlbph, pwdhGGbph U
autph dwupl’

= nbuGhYw-nbnbuwywb hpdGwynpnd 2hGwpwpwywb hpwwwpw-
Yp pGupnipjwl Yepwpbipjwy, twwgddwl wrwownpwlpp, wuwnwbp-
GGpp &ubpp U pnywlnwynipniGp, whwywiht Gwjuwgdnd, Gwjuwgsh
tnwppbip pwdhGGEph pndwlnwynieynilp U pGnipwghpp:

StfulGhyw-wnGwnbuwywh hhdGwynpdwh pwdlnid wwp § pbpyp’

- 2hGwpwpnigjwl zpgwlh (dwpgh, pwnwph) plnewghpp U wafuwp-
hwgpwwb Ynnpnhlwwnlbpp;

- hnuiph pwqujh pGupniejnlp U hnwlYwpGbpp;

- hnudph ubignGw)Gnipjwl gpwdhyp:

- dnGwpynipjwh wkuGninghwlwh pGnipwghpp;

- pwhynpwlwh ndh U EGLpgLinhy nbunipuGbph wwwhnyywsnie)nilp
(wnbwbynie, £E4unpwtbtpghw, enip, gninpgh, uwnrbnienil) b w)G;

- YGnuwenptph htnwgdwl hwdwlwpgh hwdwp wohpwdton ww)-
dwG0Gpp:

Stubhyw-ntnbuwywb hhdGwynpdwld pwdGp pnlnp thwuthw-
pnetpp. Gniptpp hwdwdw)lGtgynd U hwunwwymd G0 wEnuywt hw-
Juwwwwnwufuw hhdGwpyGbph, gipwintugnieniGGtph Ynndhg:

ChOwpwpwlwl hpwwwpwyp pGwpnd 66 gininwnbunbunipjwt hw-
dwp ng whinwbh wwpwdpmd U npngnd B0 GoJwes mwnwbpnu] atnlwp-
Ynipjwl Ywnnigdwl Gywnwywhwpdwpnipynip:

1.3. URGLMrUShL JUTJUMrYb YUSUrUuL cuau_sec

UpbpwihG  hwydupylbpp Ywwnwpnd 60 wpuwnpripjwl swwp,
odwlnwy Gympbpp, gninpont, ElGGwnpwkGepghwih, opp U w) b whhpwdbin
pwlwyp npngbint, wbuGninghwlwl vwppwynpnuiGtip pGuptint, Ywplw-
dpbippltph WwhwwGdwa jugbiph dwywip hwpdwpytint hwdwp:

UptpwjhG hwajwpYyp Ywwwpnd 66 opdw 1 hGppwthnfunid plrnid-
ynn Ywph wewybjwgnyl pwliwyh hwdwp: bpb gnpdwpwlp wifuwwnnd t
2 Ywd 3 htppwiinfu, wyw hwiwwywwnwufuwb yEpwhwyqupyGlph oglnt-
Rjwdp, hwyyh wurGGind Ywph gnpéwpwGibph wytuwwnwbpwihG nbdhdp,
Ywwwpnud 5G Yweh wnwyt) pGnniGdwG dpbpw)hl hwaqwpyh ngjwiGtpp
1 opduw, 1 wiujw U wdpnng wwpyw hwdwp:
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UpbpwjhG hwoywpyp Ywwwpnd 60 Gnipwlywh.hwyybynh hwyw-
uwpnuiGipny  wwwpwuwnh Jdpbpph dhwynph  hwdwp, GGGny  hnwdph
dwiuup GnpdwGtphg, hwadh wreltiny hnwpn U wwwnpwunh dpbppnid
jnh, ¢gnp - Gypbiph,  funGwynippwl U wy gmgwlhGbph  wwpnilw-
ynippnilp:

UpbpwihG hwaqupyp Ywwwpbine hwdwp wwipwuinh dpbppltph
wlhpwdtn unwbnwpwn Yuqdp (hwdwdw) F0US-tiph) pbpqws £ N 1.1
hwybGywonud:

Pwnwpw)hli Ywph gnpdwpwGibph, wprwnpuwdwubph dpbpwihl
hwajwnyp Ywpbih £ Yunwpby® GiG6iny pwnwph powysnipiwh pwlwyhg,
hwh wrltiny wwpyw plpwgpnd Ywph U YweGwdebppltnh Hhghn-
(nghwywG GnpdwGbpp (Yg-ny) dby dwpnnt hwyyny:

1.3.1. ULUQUS WURLUUREMRLEMh URGMUSPL JUTUUruC

UGwpwwn Ywplwdptpplbph JdebpwihG hwoqwpyh dwdwlwy we-
wpwwn Ywpp Gnpdwihquglnud GG hnupnid ubpqun-Gnpdwihquunnpny,
Ywd fuwnGtny jniquagnipy Yweh Ywd ubph hwn:

3nupnud Gnpdwihqughwih dwdwbwy npnnd GG ubpquwn-Gnpduw-
(hquwinphg unnwgyws ubiph pwlwyp htwnbyw; pwlwalny’

e =M.q
‘ 3u —3ﬁ.l|.
npunbn 8, - Ywpeh Gnpdwihqughwh dwdwlwy vnwgyws ubph pwGwyp, Yg
8, - Gnpdwihqughwjh GGpwnlynn wlwpww Yweh pwlwyp, Yg
3, - jninh wwpniGwynipinilp wlwpwwn Ywpnd, %
3y — Jmnb wwpniGwynipgnilp Gnpdwihquigdws Ywend, %
3, - jninh WwpnilGwynipimbp ukpnid, %
4 - ubpqundwl dwdwlwy ubiph payjwnpbih Ynpnwnltipp, 0,98

(1.1)

Lnpdwihqugywd Ywph pwlwyp npngnud 66 hEwnlywy pwlbwabing’
Qﬁ-ll- = Qu - Qu (1 2)

npuntn &, - Gnpdwihqugyws Ywph pwlwyp, Ye
ﬂbqbpt{mmnmd Ywph UGnpdwihqughwih ntwpnid wlwpwwn Yweh

wybjwglmd G0 jninugnipy Ywpe, nph pwlGwlp npngnid GG hbwnlywy
pwlwalny’
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£, -8y ~36u)
3ﬁ.u. _sj.l].
npuibn &, - jinwgnipy jweh pwGwyp, nph oglnipjwdp Yuwnwpnu GG

Unpdwihqughw, Ygq
3,4 — Imnh Wwpni@wynigynilp jniqgnipy Ywpenud, % (0,05)

£, = (1.3)

Uu ntupnd Gnpdwihqugyws Ywph pwlwyp npnanud GG htinbjw)
pwlwalny’
By =0, +8), (1.4)
Sninwqgnipy Yweny wiwpww Yweh Gnpdwihqughwih hwdwp dhlgl
wlhpwdbaun niqulnieniG unwbwip npnond G0 ndjw; YuwpGwdpbpph
hwuywgqwd Ywph pwlwyh wit dwup, npG wlhpwdtipn [ ubpquunt,

htwnbyw| pwlwdauny’
_ Py By =30 ) (B -3,)
guhnq. = Y (1 5)
(8. - 34y )3y —3J.u.)
nputin 5., - Ywph pwlwyp, npl wlhpwdban £ Ywph nyjw) pwbwyhg
ubipquwntiy, Yq

8, - Ywph upyws pwluwlp, g
l-| - uwhdwGuwjhG pnyjwwnptith Ynpnwnlbbpp ubpqundw dwdwﬁwu

1,003
Utph pwGwyp npnond GG hbwnlyw] pwlwalny’

e - guhnq. '(314 _31.14.) (1.6)

3u. _31.14.
Lnpdwihqugyws Ywph pwlwyp npnznud 66 hbinlyw) pwlwduny’
UGwpwin Yweh pwluyp Yihah'
. gmﬁ,lg. = Elg. - 2uhp.l;mp (1.8)

Sniqwqnipy Ywph pwlwyp Yhbp'

e],l{. = Quhn.ump _Qubp (1 -9)

Nwunbphqugywd Yuwph pwlwlhp, hwydh welGbing pnywwnpkih
YnpnunGtipp, npnanid GG henljw| pwlwauny’

* £y, -1000
y, =8 "7

W - (1.10)
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npubn &g, - ywunbphqugyws Yweh pwlwlp, 4g
U - 1 n Wwuwnbphqugyws Yweh wpnwnpnpwh hwdwp Gnpdw-
lhqugqwé Ywph Swfuuh GnpdwG &, npp Yujudwd b |gdwl
tnwlwyhg U gnpdwpwlh hgnpnipniGhg, Ygq, 10071012

3Gy pem Juwplwdptppbbph wpnwnpnpiwl hwdwp wihpwdtion
Gnpdwihqugyuwd Ywph pwlwyp npnznd GG GnyG duny, hGswbu wwuwnb-
phqugqwé Ywpeh hwdwp: el pwlnbphw| dwywpnp Wwwpwundnd £
jnunuqgniny Ywehg, wwyw Gnpdwihqugdws Yueh jninwiGnienip npnamd
50 hbwnlyw] pwlwdluny
100-3y, -5-3,),

100- £,
npuntin 3, - wwwpwuwnh dpbipph jninwGnipnlp, %

(1.11)

3u.u. =

Pwlunbphw| dwywpnh pwlwyp npnznid &G hGnlyw) pwlGwauny’
_ Loy B
100

npnbin U - dwlwpnh pwGwyp, Yq
- Uwhuwpnh pwlwyp, %

(1.12)

Uptipph pwGwyp npnznud GG hGnlyw| pwlwdlny’
gllp = EELI +U (1.13)
Jwydh wnelbing paywwpbh Ynpnwnlbpp, wwwpwunh debipph
PwlOwyp yhGh®
8, -1000

Ly, =9'T (1.14)

npnbn U - Swjuuh GnpdwG £ 1 v wwwpwuwh dpbpph hwdwp®
Ywhujws £ (guwh Gnwlwyhg U gnpdwpwbh hgnpnipynilhg,
4yg, 10091012

Vwpdwlnwbh (hwpwd) Guwphg dpbpplGbpph wpnwnpnipiwl dwiw-
Gwy Gnpdwihqugyws uwneGnipnh payjwunnbh jninw)Gniegnp npnnd GG
hbwlyw) pwlwauny’

1012-3,,

3, =
=" 1068

(1.15)
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npuibin 1012 - 1 v wpwnwnpwilph hwdwp Gnpdwihqugywd fuwrbnipnh
Swluuh Gnpdwa t, Yg
3y - Wwwnpwuwnh dpbipph wwhwbgynn ninw)nipinilp, % (4.6)
1068 - 1 w Upbipph hwdwp hnwiph dwjuuh Gnpdw@ £, Yq

bpt 3, < 3y, www ubiph pwlwyp, npG wlbpwdton £ Ywph Gnpdw-
(hqughwjh hwdwp, npnanud GG hbnbyw| pwlwalny :
e, (8. -3,) :
S L 1.16
=50 (1.16)
bpb 3,> 3., wwyw wlwpwwn Ywpeh tnpdwihqughwih hwdwp wihpw-
dbigu jniquignipy Ywph pwGwlp npnonud 56 hbnlyw| pwGwaduny’

13,-3
eLu_=fﬁt—£lL-E) (1.17)
3tu. —sj.l].
Unpdwihqugywd fjuwnbnipnh pwlwyp hwjwuwp £
Qu.u' = Bu +Qu (1 18)

Grbt wpnwnpynud £ pent Yuplwdpbpp, wyw 2-5 % dwlwpn wywn-
pwuwnynid £ Gnpdwihqugqwé Ywphg b dnGnd £ Gpw dbg:

Uptpph pwlwyp, bwyyh wnlbiny uwhdwGwihG pnywwpbih Yn-
nnwinGbpp, npngnud 66 henlyw| pwlwaslng®

2, -1000

=t 1.19

. 1068 (1.19)

Brywubiph dpipw)hG hwaywpyp Ywuowpnd 66 hGnlyw| hwenprw-

Ywlnijwdp:
Rpqwutiph wpnwnpnipjwl hwdwp Yweh ubpquunnudhg unwgyws
ubph pwlwyp npnanud GG hGwlyw) pwbwéalny
o _PuBy-3,) 100-4,
l.j 3u._aj.ll. 100
npubin Y, - ubiph uwhdwGwjhG pnywwnpth YnpnunbGtpp, % (0,17)
Prywubph wpnwnpnipiwl hwdwp wlbpwdtyn dwywpnh pwlwlp
(4g-ny) npnanud &G hbwnlyw) pwlwdélny'
_ 2u 'gd
* 100
npwtin £, - dwywpnh pwlwyp, %

(1.20)

(1.21)
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Vwhwpnywé ubiph pwlwyp prqwubph wpnwnpnigjwl hwdwp npn-
onud G0 hbnlyw| pwlwalny’

el=p +U (1.22)
npunbin &) - ubiph pwGwyp Jwywpnl wytjwgltnig htwn, Yq
Rrywutinh pwGwyp, hwyyh wnibiny vwhdwlwihG prywwnpbh Yn-
pnwunGbpp, npngnid 66 hbinlyw) pwGwalny®

2! .1000
ppd. = L

P (1.23)

npunbin £, ~ prywutiph pwGwyp, hwauh welkiny uwhdwGwhG
pylwwnkih Ynpnwnblipp, Yq '
U - 1w ppqwubiph wpnwnpnigwl hwdwp hrwph dwjuuh GapdwG,
Yq (1005)

TMwuwnbphqugyws ubph dpbipwihl hwdwnplp Yunwpmd GG hbnlyw;
Yspw® npnond GG wpjwd wlwpwen Ywph pwGwyhg ubpqundwG
dwiwlwy unwgywe ubph pwlwyp (Yg-ny) hbnlyw| pwlwatny’

8,-B,-3,,)
g, =4 TSl 1.24
v 3.-3., (1.24)
Ubpquundw( dwdwlwy unwgywd ninugniply Yweh pwGwyp YihGp'
R, =2,-8, (1.25)

Utiph pwiwyp, hwydh weGkny Gpw wpnwnpnipiwi dwdwGwy uwh-
UwlwhG paywwnpbih YnpnwnGbpp, npngmd GG hbnlyw) pwGwalnyg’

2, 1000
1.
- (1.26)

npuntin L - hnwiph dwiuuh GrpdwG £ 1 n wwunbphqugywd ubiph hwdunp,
Yg (1009:1012) .

Qlj=

Smunuip U huwyninuih Ywpluyneh dpbipughG hwpywpyh dwiwGwly
wlwpwwn Ywep Gnpdwihqugbnud GG hnupnud ubipquun-Gnpdwihquunpny
Ywd wlwpwin Ywphl uwnGbiny jniqugnipl Ywp:

Fnupnud Gnpdwihqughwih nlwpnud npngnud 56 ubipquinGnpwhqu-
winpny unwgyws ubiph pwlwlp (1.24) pwGwalny:

Mqqtipynuwpm fuwnGjn EnwGwyny Ywph Gnpdwihqughwh dw-
Uwlwy wybiwgn 66 jniquqnipy Ywe, nph pwlwyp npnand GG (1.3)
Pwlwalny:

23



Sninwgnpy Yweny wlwpwwn Ywpeh Gnpdwihqugiwl dwdwlwy,
Gpw jninwinipjwl heligdwa hwdwp, win dpbpph hwdwp Gwpwwnbugws
Ywph pwlwyhg wawhaGwglnd 60 Yweh wil pwlwyp, npl wGhpwdtzn
k ubipquunb, (1.5) pwGwalny:

Lnpdwihqugywd Yuwph pwlwyp npngmd &G (1.2), (1.4) Ywd (1.7)
pwlwalbpny:

vnpdwihqugywd Ywpeh jninw)GniginiGp npngnid k0 wrynwwyGbph
oqGnipjwip” Yulugwd whwpww uph U YuwpGwyneh jninw)GnipjniGhg:

YwpGwynnh pwGwlp npngnid 66 htnlywy pwGwaliny’

Py,
npibn U-1 0 Ywplwyneh wpunwnpnipjwl hwiwp Gnpdwihqugyws

fuwnGnipnh dwfuuh GnpdwG £, Yg

YwpGwynnh pwlwyp, hwh Luriﬁblnq uwhdwGwh rar_uuwmnb[h lqrj-
nnuwnGtpp thwpbpwynpdwl dwdwwy, npngnid tG htnbyw| pwlwalny

£,-1000 ’
g =1 3 (1.28) |
nputin -G - whowwn tnwlwyny wpwwnnbihu YwpOwynrh dwfuuh Gnp-
du@ t, Yq
Sniqwqgnipy Ywpeh pwGwyp npnanid GG hbnlywy pwlwauny’
g =) B3, (1.29)
3u _Sj.ll.

npwkin 3, - ubph jninwilnipgnilp, % (50 %)

UGN YwpGwyneh pwGwlp npnznud GG htnlyw| pwlwdlny’
B
L
npwtin 8, - wijnin Ywplwaneh pwlwya £, Yg |
L-1 w YwpGwnnh wpunwnpnigiwG hwdwp  jninwgnipy Ywph
dwfuuh Gnpdw £, Ygq (7,23+7,43)
UGjnin YwpGwgnnp pwGwyhg biGtny hwaywpynid 60 wwhwbgynn
50 %-ng ubiph pwlwyp’

e, (1.30)
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g, ="t "1 (.31

npuntin 3, - ywplwyneh tpywd jninwbnipjnGp, 9 Ywd 18 %

Ywplw)nnh pwlwyp (Yg-ny) hwjwuwp £
R, =8, +8, (1.32)

Ywplwneh pwlwyp, hwyyh welbind hwpbpwdnpdwl dwdwGwy
uwhdwbuwhG pnyiwwnptkh Ynpnwwnbbpp, npngnud GG (1.28) pwGwélng:

YwpGw)neh wpnwnpnipiwl hwdwp wihpwdbion dwywpnh pwGwyp
dunGnud £ Gnpdwhqugywd Ywd jrinuignipy Yweh pwlwyh dbe U Ywqind
t Gpwlg pwlwyh 3-5 %-p: : .

Ywplwnnh 7hdniyh bipp Yuqdnd £ 80 % Ywpeh pwlwyhg

8y, -80
8, =—es (1.33)
Ywplwynnwipli wwlppllbpp hwyqwpyp Ywuwpnd GG, GGkng
Gpwlg wwhwOgynn pwlwyhg Ywd Ywplwyneh pwlwyhg, npp unwgynid
t Gpwlg wpnwnpnipwl dwdwlwy pun hwunwnywd pwnwnpwunnd-
ubiph:
bOpwnptlp, «Jwwny» wwliphyuwiht qulgwsdh wpunwnpnipjwh
hwdwp wpwdwnpydt) £ 1000 Yg 18 % jninwlnipjwip Yuwplwine: Iwy-
Jupyb| pwnunpwdwutph pwbwyp, npnip wlhpwdban G0 «Gwwniy»
wwhphYuwihG qubgywsoh wpuwnpnipiwl hwdwp pun hGnljwy pwnwn-
pwuinduh:
Unynwwly 1.1
«3winny» wwlphYwihl qubqwoh pwnwrpwwndu® 1000 Yg-h hwdwp

PwnwnphsGtip Rwlqyuwop, Yq
Sninuwh weliwnn (18 %) 527,0
UGwih ubipwlwpwq (82,5 %) : 141,6
Cwpwp 2358 .
Quidhy Ywd gniyuwnlbp ' 100,5
Ywlpjh 0.1
LOnwdbGp 1005
bipp 1000

! Nwwpwunh wwlphywjhl quigiush pwiwyp 1000 Yg Ywplwinnhg
thGh*
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1000-1000
=—— " =-1898
w.q. 527 Uq

1898 Uq wwlphywihG qulGgwsh wpqunmmwﬁ hwdwp wlhpw-
dtion wlwih ubpwywpwgh pwlwyp hwywuwp
141,6-1898

Fel

=——_——"— =2689
Euun. 1000 26891
Cwpwph pwlwyp hwyjwuwp £
235,8-1898
=£20 090 _ 4475
£ . 1000 e
Qudhgh pwlwyp hwyjwuwp £
100,5-1898
=229 _490,7
. B =560 a
YwGhihGh pwlwyp hwywuwp
0,1-1898
=— =02
T o

Udpnne pwnwnpwdwubph  pwlwyGbph  gndwpp  Ywqimd k
1907,3 yq, npwnnkin 1907,3 - 1898 = 9,3 g wwlphywjhh qwﬁqd_w‘bh wp-
nwnpnywl dwdwGwy Ynpnwwnbbpb bG:

“1.3.2. WUNMUNUUD URBIUSPL IUTUUNY

Nwnywnwyh wpnwnpnippwl dwiwbwl wywwpwunh debippp whnp
E wuwpmGwyh janh, jninwgnipy gnp Yweh dGwgnpnh, wquph, wpwph
npnawlyh pwlwynentl: hwnGnipnp Ywqdnd 66 dh pwOh wbuwyh
hnuiphg: Ujn nbiwpnd unwlnwpn Ywqdny wwwnpwuwnh debpp unwGwim
hwdwp hwdwpyn 66 pwnwnpwwnndup: Pwnunpwwindubpp hwqwp-
ymd G0 hwOpwhwyywywG dbpnnny: Fpwlp npnadmd B0 hwywuwpnid-
Gtph dhongny, npnlg pwlwyp hwiwwwwnwuluwln £ juwnGnipnh dbg
dwnGnn hnwph wihwjwn nbuwyGtph pwGwyha:

OppGwly. UGhpwdtipwn £ Ywqdk| 100 g ubipwihl wwnwwnwyh fuwn-
Grupn, npp wwpniGwynd £ 10 % jniy, 10 % 3UU, 16 % wpwp L 0,3 %
wqup: hwnlnipnh ywwpwundw6 hwdwp oguwgnpond 66 hbwnlyw
hnudpp® Yndh Yup (3,2 % jmin, 9 % 324V), ubip (30 % jnin, 6,3 % 3uU),
snp whwpwwn Ywpe (25 % |nin, 68 % 3UU) U wqup:

Lwfuopnp npngnd G0 juwnbngpnh pwGwyp, hwGbind wpwph b
wquwph pwGwyGkpp’

auph pubuiite 100-(16+0,3)=83,7lg
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Mwhwhgynn ubph pwlwlp GubuwlbGp xnd, Ynyh Yweh pwGwlp
y-ny, np whwpwwn Gueh pwGwyp z-ny: :
tulnph |nddwG hwdwp Ywqdnu bGp bipkp hwywuwpnud®

X+y+z2=2837 (1)
jninh pwlwyp®
30-x+3,2-y+25-z=10
100 100 100
Yuwd .
30-x+32-y+25-2=1000 (2)
3UU-h pwlGuwyp
63-x 9.y 68-z
=1
100 "100 100 0
Ywd

6,3:-x+9-y+268.2=1000 (3)

Lndnud 6Gp (1) hwywuwpndp x-h GYwwndwdp®

. x=837-(y+2)

x-h wpdbpp nbnwnpnud bGp (2) b (3) hwJwuwpnudGhph by
30-(83,7-y-2)+32.y+25.2 =1000 (2w)
6,3-(83,7-y~2)+9.y+68-2=1000 (3w)

(2w) U (3w) hwywuwpnwGph Ybpwihnfuniihg htiun YunwOwp

26,8-y+5-2=1511 (2p)
2,7-y+61,7.2=472,69 (3p)

(2p) U (3p) hwywuwpnudGlipp hwdwwbin nstiny YunwbwGp®

1640,06 -y = 90865,25
npuntinhg® - y =55.4lq
y-h wpdtipp nbinwnpnu bGp (2p) hwywuwpdwG by
26,8-554+5.-2=1511
npuwbinhg’ 5:2=2628 z=53
(1) hwjwuwpnuihg qunGnud bGp x-h wpdtipp’
x+554+53=83,7
npinbinhg’ x =23

wnwwnwlh pununpwanduh dbg ubph dinfuwpbG Yupbgh & oguw-
anpot) Ywpwq (82,5 % JninwiGnipjwdp), snp wlwpwn Ywph thnjuwpbG*
& Ininwgnipy Ywe (93 % 324U): -
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LnwnwiGeph wpryntGplbpp unnignid BGp phy 1.2 wyynwwiny’

Uninwuwrly 1.2
3nwiph Nwpnibwlnigimbp, Yq, %
3nudp pwlwlp, pOnwdkGp gnp
L nn Ju wpuip Girpbp
i, 9 % 3940) 55,4 18 5,0 | 6,8 |
Ukip (30 % jntn, 6,3 A
% 39UU) 23,0 6.9 1,4 8,3\1
np wlwpuwn Ywp
(25 % n, 68 % 53 1,3 3.6 - 4,9
3yl
Cwpuwp 16,0 - - 16,0 16,0
Uqup 0,3 - - - -
LOnwdkp 100 10 10 16 36,0

1.3.3. WUERLU3PL MUIUTNLENMP UREMU3PL IULYUNY.

Lbwplwihl ywhwdnGbph dptpwih hwydwpyp unynpwpwp Juunw-
pnid G0 hnwiphg Uplsh wwwpwuwnp detippp: Ywplwihl wwhwonGbph
wpunwnpnipjwl hwdwp oquwgnpdnd 66 Ywpep, pwgh wib Ywep, npp Jyb-
pwdawlynd £ plwlgmpiwl hwiwp wpownpynn wlhwpwn  Guplw-
dptipplGbph wpnwnpnipgwl hwdwp:

U. UGwpunn fuinwgpué qup pwpwpny: _

Ywpeh unwgdwl dwdwlwy snp Gmpbpnd wwhwwGdmd § w)b pw-
nwnphg Jwubph hwpwpbpneilp, hbs np futnwgdwl GGpwlw uwnGnip-
nnud: Pwnuwnphg Jwubiph hwpwptpngnlp uweGnipmd U wwunpwunh
dptppnud dhown hwjwuwnp £

dp U funwgpws Guelwihl wwhwonGbph hwdwp Gnpdwyjwydnpyws
pwnwapwdwubiph® joinh W jniqugmply snp Giripbiph hwpwpbpnndp
Yupbih £ gpbip hnlywy Yenpwy®

o (1.34)
32ul, 32Ul
+ Cupy, _ prdp (1.35)
3ru 309
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npwtin 3, 83U, Cuwp, - hwlwywnwuhwwpwp Yuwpp huwnGnipnh
Innp, nwigniny YuwpeGwihG snp dGwgnph
2wpwnh wwpmbwlnuyniGp, %
3ip 3AUU,,, Cuipy, ~ Gnylp dpbppnid, %

Unpdwihqughwh dwdwlwy wbwn
R £ hdwGw) jmnph U g Y
YwplwihG snp JGwgnpnh dpol hwpwpbipnipinil QUL
il (SUP/SQHU@): nwpGpmpinilp Yupnad @,/ SQHUH) U
3dp 8,

_ 88 _
3ouu, 207 0% (1.36)

Wa  nbwpnd, bpb 3y < Ssp
32UV, 324Uy,

Ywph  GnpdwihqughwG

Ywwwpnw 6G ubpny, puly bpb Sy Sip
. huly b 32U, " 3G, ™ Gnpuwihqughw

l{Lumhlijnu] GG quwd Ywpny:

wnGnipnh vnwlnupowgiws  hwdy
N wihpwdbpn jninw

Yueh b ubph pulwyp Yupbih £ npngty hhmh]w[pmﬁwéuni‘ Jninwiqniply

_#,{8,-32uu, -0, )

e 32W,, -0, -3,, (1.37)
B, = 8, (8, -324, -0y, )
3,-32uW, -0y, (1.38)
npunbin’
100-3
394U, = !
* 10,615 (1.39)
32u,, =uau,, -3, (1.40)
100-324U
WU, = b ]
& 4
g 100-3, (1.41)
324U, =0,9-:\W+u+0,5 (1.42)

npubn” U - Ywpeh funnigyniGp wpbindbwnph wuwnhdwlny:
Unpdwihqugyws fuwnlnipnh pwGuwlp hwdwuwp £
B, =8,+8, (1.43)
By =R, +8, (1.44)
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Lnpdwihqugyws fuwrlnipnh pwlwyhg Gl0Gny npnanud GG Jwpw-
nny funwgnws Ywph pululp’

P T T (1.45)
g 3dn.

nputin’ By, - awpwinny funwgnuwd Ywph pwiwlp, Ye
U - YnpntuinGEph gnpdwlhg, %, 0,93
3, - 2wpwpny futnwgpwd Ywpnud jninh wwpnGwynipiniap, %

Cwpwph pwlGwyp npnznw 60 hewnlyw) pwGwaling’
CWQup -3y,
100-3y,
npwntn’ Bwp - gwpwinh pwlwyp, Yg
Cuwip,, - wwinpwutnh dptinpnud awpwph pwlwlp, g
Cwpwnh ogwnwh pulwyp™

Cwp =8y, - (1.46)

100-Cwp
npubin’ £, - 2wpwph owpwyh pwluwyp, Yq
75 - 2wpwph opwpwynud gnp Gynipbiph pwlwlp, %

e (1.47)

UGhnwdbzitn Ynbghibwpwghwih opwpwy wwwpwuwbint hwdwp gph
pwluwyp YihGh’

U, =Y
S = Cwp-—2—% = (1.48)
02-

npnbin’ Y, ~ 2wpwpnud gnp Gjniptinh pwlwlp, % (99,75)
U,, - 2wpwnh ogwpwynd gnp Gjnipliph pwlwlp, % (75)

hnwgdwl Glpwyw fuwrbnipnh b wwwpwuwnh dplipph pwlwlhg
GGbgny, npngnd 60 fuvnwglwl dwdwlwy gninpohwgwd funlGudnipywG
pwlwlyp htiwnbyw| pwlwslng’
W=2E8;, +8,, -84 (1.49)

npibn” W - gninpohwgyws unGuyniejwi pwlulp, Yq

P. nwgpwé Ywp unindny b pwpwpny
Vnwlnwpw uqdh wywwpwuwnp debppnid jninh U 3YU-h pwlwyni-
Riwl hwpwptpmpynlp hwywuwp £ 7,4 : 14,0 = 0,528, npp gnyg £
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nwihu, np Yupp whing b Gnpdwihquiglly ubipng: unpdwhqughuwh
hwdwp ubiph U Jwpwph pwlwyp, hwadh wnlbiny Ynpnwwn Gt
bG htwnlyw) puGuabtpng | nd bon " Az

o _ 8, -B2wU, -0y, -3,) (1.50)
3. —39‘4Uu-0dp_ . '
npwntn’ 0y, ~ = 0,528
_ Bqy. -Cuwpy, -34,,
= | 100.309‘ (1.51)
Unipdp L tintipnh pwlwlyp, nn0 whhpwdtown | wjGwhuh Epunpwinp

wwwpwundwl hwdwn, npybugh Wwwpwuwh dpbippnud |hakG 5,6 %-hg

ng wwlwu unipdh snp Epunpwlnhy Gjniptip, npngnd GG hbnlyuw
pwlwdlny

Cwp

9|
Qumnﬂ +G=—uk . (1 52)

0,3
nputin’ 8, - unipdh pwlwlp, g
& - tintipnh puGwyp, Yq
Uys. - Wwwpwuwnh dpbippnud unipdh U tinbipnh snp Epuinpwy-
why Gnyebiph wwpniGwynipiniGp, %, npp npnanwd GG hbwnb-
jwi pwlwdlng' :
- eu.u. “Qp. gy,

= 00-5, (1.53)

npwbin® 2y, - unipdh U Gnbipnh Ghdwa dwdwlwy np Epunpwlnpy

- Iynpiph pwiGwyp, npp whnp £ |hOh wwwnpwunh dpbn-
o h wwwnpwuwh debip

Sﬁ.q. - inpdwihquigyws Yuwph Jninw)GnieyniGp, %
3ie - WYwnpwuwnh dpbipph jnnwyGnipinilp, 7,4 %

Unipdp b bintipnp Jtipglnud GG wyGuhuh owGwlGpny, nnubu
UnuiGg hwpwptipnipynip fuwnGnipnnu (hoh 100:20° nrnd. npwbugh
Bt
Qumm =U"l# (154)
Npnanud 66 bnipnh pwiGwlp (yq)

6=1.20,,,-8,,2028, . (155
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9. funwgpwe ywp Ywlwnny b awpwpny:

Ywlwnjny b wpwpny funwgpws Yup wpuwnpbhu Yuep Gnpdw-
(hqugGnid &G wyG hwyyny, npwtugh dpbppp nGbGw htwnlyw| gnigwlhy-
Gbpp™ 26,8 % funGwynipinil, 7,2 % |nin, 44,8 % wpwn, 14,1 % |nuw-
qnipy snp Gynetip L 7,1 % Yulwnih gnp Gniptip:

Tuunpwunh Upbipph jninwinieyniGp plnniGn GG unwlnwpuihg
0,3 % wwlwuy, pwGh np Ywwnih tinghny dpbpp £ Jugynud 1,5-1,7 %
jnin, npp (nwgGnul & wwinpwuwnh dpEipprnd wwywunn jninh pwlwyp:

UnwGnwpuihG hwiwwwunwuuwt wwnpwunh debppnd jninp b jni-
nugnipy snp Gyniebiph hwpwptipnie|niGp Ywqdn £ 7,2 : 14,2 = 0,51, nph
wwwndweny Gwwnwywhwpdwp b uep Gnpdwhquglt) ubpny:

Gwlwnjnud gnp Gyniebiph pwlwlp npnanud &G htwlyjw| pwlwdlny®

Boy - -2
nph = 33“'“' ok (1.56)
up

nputin’ 8,5 - Ywlwnjnid snp Gniebiph pwGwyp, Yg
£;,, - Gnpdwihqugqws fuwnGnipnh pwGwyp, Yg
3,4, - Gnpiwihqugqwd fuwnGnippnud jninh wwpniGwynuyejmlp, %
3, - ywpuwuwnh detippnud jninp wwpniGwynipinilp, % (7,2)
Q. - Wwinpwuwnh dpbippnid uywnih gnp GyniRbph )
wwpniGwynienilp, % (7,1)
Ywluwnjp ingnt pwGwlp  hwyjwpymd &G hwyyh welbny Gpw
hunGwynipiwl wwpniGwympnilp’

. - 1008,
W T 1009,,,

npuntin’ 8, - Yuhwnih dingnt pwlwlp, Yg
R0, ~ Ywlwnjh thngnwd hunGuynipjwl wwpniGwynipinGp, % (5-6)
nh pwlwyp, npG wGhpwdban £ Yulwnjh b owpwph opwpwyGtiph
wwinpwuwndwG hwdwp, npngnud 66 hbnbyw| pwGwalny’
Q-2 2-2
az__‘*-g TU0 oo F B 2 (1.58)

Y.02. y.02.
npwtn’ R - onh pwlwyp, Yq
8,4 - Ywlwnh thnpnt puGwyp, Yq
Qop. - Ywlwnih L owpwnh owpwynd snp Gynptiph wwpniGw-
Ynipynilp, %
- wGhpwdban Jwpwnh pwlwlp, Yg

(1.57)

e

2wp.
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Qup. — 2wpwpnud snp Gynipbiph wwpniGwynienilp, % (99,75)

0y = 100 -2, (1.59)
npunbin’ Ry ~ Wwwpwuwnh dplipph junGwynipinlp, %

1 2np wlwpwn juwp
Unwinuwpnhl hwiwwwunwoluwl wwnpwunh debippnd jninh b
yniquqnipy gnp Gniptiph hwpwpbprgniip wqdnd £ 26,1 : 70,9 = 0,369,
ll:j]l]. quuumdwnnq Gywuwwywhwpdwp t Ywep Onpdwhquglby jniqwgnipy
wpeny: :
Lnpdwihqughwih hwdwp wGhpwdtn jninwgniply Ywph pwlw
npn2nud GG hbnbjw) pwlGwélng® ' " il
_3,(8,-324U, -0y
4 =T
! 324U, -Og, -3,
Lnpdwihqugywd ewnbnipnh pwGwyp npngnud G0 hwnlyw| pwbwsdlny’
gnu = Qu +Q,u (1.61)

Cuwn ﬁnnd‘w[hqwghw]h tfuwnGnipnp pwlGwlh npnand GG funwgpud
Ywph pwlwyp

(i 60)

Bg, -4U
o _Foy 6y,
hanig-4 Llf")Ululnuxg.u. )
npukin® 42U, - Gnpdwihqugywd fjuwnrGnipnnid snp Gyniptiph wwpniGw-
YnieymGp, %
YUpnugy, - unwgpwd  Jupenwd  snp - Giripbph - wwpniGwyni-
pInlp, % (48-50)
Y - YnpnwwnGtph gnpdwlhg (0,93)

(1.62)

honwgiwG dwiwbwy gnnpohwgywd funGuwynipjwl pwlwlp npngnid
b0 hGwlyw] pwlwsuny’ : jubp bp npn2

Wlumwg. = Qﬁ.u. - 2[umung.l;. (1 -63)
2np Ywph pwGwlp npnznud GG hbnlyw) pwlwalny’

P qvlij
e, = h‘““‘ﬂ-tgu u'“‘"“’g-“- y (1.64)
4.

npubin’ 8, - ¢np Yupnw snp Ojpetiph wwpniGwynieinilp, % (96)
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npwgdw dwdwbwy gninpzhwgywd funGwynpejwl pwbwyp npnznud
G0 htwnlyw| pwlwaling
W[ul.mug.h. = 2[uunug.l.|. - Qz.u. (1 .65)

6. Pnp jmquinniply Yup:

Sniqwqnipy snp Ywpep wnqupmd b0 wwuwnbphqugywd jninugnipy
Ywphg, pwih wd wewbg Gpw wybjwgdwdp: Upwlwpwgh wpnwnpne-
pinihg utnwgyws pwlp wybjwglnu G0 fuwebnipnh pGnhwnip pwGwyh
20 %-hg ny wybi|:

Cun jninwgnipy Ywph pwlwlyh npngnd GG funwgpws dpbipph
pwlwyp’

2tuu.mug.j. = QL:QL‘—UL‘QHiq (1.66)

tuvug.ly.
npunbin® Y2, - jmnwqnipy Ywph snp Gmipbiph wwpniGwynipnilp, %

(8.77)

UUpnugy. = a0 Grupbiph wwpniGwynpinGp funwgpws jnuqw-
qnipy Ywpnwd, % (thnohwglnn snpwgdwh nbwpnd® 36-
40 %, hynwwjhGh nbwpnd” 27-32 %)

Y - YnpnwinGliph gnpdwyhg, % (0,93)

funwgdwl dwiwlwy qnlnnzhwganl funGwynipjwl pwlwyp npnonud
GG htwnlyw) pwOwdlny’

Wtumwg. = Qj.l]. 2tumu:g.j. . (1-67)
2np jningnipy Ywph pwGwyp npngnud GG htinlyw) pwlwaling®

e LU
QH.. _ tuunuig.). futnwsg.j. .y (1 .68)
Lauv,,

npunbin” YU, - snp jninwgnipy Yuend snp Gpliph wwpniGwynip)ni-
Gp, % (ny wwlwu 93 %)

pwgiwl dwdwlwy gninpohwgynn funGwynipjwl pwGwyp npnynid
b0 htwnlyw| pwlwalny
Wz. = 2|uu.nu1g.j. _ez.j. (1.69)
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1.3.4. MULrk URLMUSPL FUTHUNY ,

Nwlph dpbpwiht hwjwpyp Gripwywld hwydtyseh hwlwuwpnid-
Gpny Ywwwpynud £ hbnlyw) Ypy:

Nwbph wprwnpnpjwh hwdwp, hwyh welting Gwwwnbuws Yuwph
pwlwyp, hwagwpynd GG Gnpdwihqugyws Ywph pwlwlp, Gujuopnp
npn2tiny Gpw jninw)Gnieynilp:

Gwpnu  uyhwnwymgh  wwpnilbwynipnp  npngnd GG htwnlyw
pwlwdlny’

U, =U-3, £ (1.70)

npukin’ U-G U R-G - thnpbﬁtuuwﬁnphﬁ npn2ynn gnpdwlhglbip
(U=0,35-045, P=1,5-2,0)

NwhGhpGph wpnwnpripjwlb dwiwbwy Gnpdwhqugyws lqtuph |ni-
nwjGni)niGp npnnud GG hbwnlyw) pwlwdlny
— QUL' 32- o.
7100
npunbn” 4 - thnpalGwywlnpbl npnadwd gnpdwypg (snp Giniptipnud 50 %
jninwGnipniG niGtignn wwbhpGiph hwdwp - 2,07, 45 %-h
hwdwp - 1,96, 40 %-h hwdwp® 1,86)
Uy, - uyhunwynigh wwpniGwynipniGp Yupnd, %
3,6. - wwoph gnp Gnupbipnud jninh wwpnilGwynenGp, %

(1.71)

Nwlph wpnwnpripjwl hwdwp wehpwdtan Yweh pwGwyp npnonid
G0 hbnlyw| pwGwésuny’
bipki 3. <3,
uts £,8,-3)

. .
Gy. = 3, -3, (1.72)
tipb 35, >3y, wul(w
R,-(8,-3,,)
Ry, =) 1.73
T 0

Utipquundwl dwiwlwy unwgqusd jninwgnipy Ywph pwlwyp
npnanud GG htin byug pwﬁwblmn&‘
100-4

2, - 2y -8y —3au, _
o Bpy. — 3y, 100

npwnbin’ 3, - jninwgniply Ywph jiw)Gnipinilp, %
35

(1.74)



Y - Ywph vwhdwbuyhG payjwwpbith YnpnwnGbipp, % (0,17-0,30 %)

UbpquundwG dwdwlwl unwgyuwd ubiph pwlwlp npnonid GG htinlywy
pwlwalny’

L, (36,3
e, =_L(_Mc__u) (1.75)
' 3u.“3ﬁ.u.
Jwunmb wwhph g(wﬁwun n[)mznul b0 htwnlyw] pwGwslny’
£,-8¢y. -3,) 100-4
By, =2 (1.76)
u 3, -3, 100

npwnbn’ 8, - wwpdwlwlwl hwumb wwiph pwbwyp, Yg
8, - 2hdniyh jninwyGripgnilp, %
3, - wwlph pwgwpdwy jpinuyGnpinlp, %
Y - wwlph wprwnpnipiwl U hwumbwgdwl dwdwlwl jninh
uwhdwluwihG poyjwwpbh  Yopnwunblpp, % (Yujudud |
wwbph nkuwyhg) :

Ywd

e .
Bry =" (1.77)

npntn’ U - 1 unGGw wwlph wpnwnpnigiwl hwdwp Gnpdwihquigdud
puwrlnipnh Swiuuh GnpdwG E, Yg

Sninh pwgwpdwy wwpnibwynpnip wwbpnw, Ywpdws hwunb
wwhph unGuyniginilhg (%), hwagwpymd GG hnlyw] pwlwéduny’
3,q.-(100-2,)
S 1 a1 1.78
3 100 ( )
npwbin® R, - hwunib wwGph funGwynipiniGp, %
Uwdpjwé wwiph pwlwyp npnand 66 hbnlyw) pwGwduny
8,100
| W5~ 900 -,
npuntin” B, - dwdpws wwlph pwlwyp, Yg
My - wuwlph snpwwwhwunpap, %

(1.79)

Cifdniyh pwlwyp Yuqin £ Yuweh pwlwlh 756 %-p:
Chdywubph pwlwyp®
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w3, -8, |
n bn"‘?' zhdlj:;ﬁbm:‘zwﬁ Yn, Y
pn 2.0, ~ wyp, yq
L, - ohdniyh pwile wlp, Yg
3, - 2hdnihh jninuyGnieyniGp, % (0,5-0,7
3,,. - imnwgnipy 2 shdnilh gy Gnieynity % (0,1)
3, 2hdlwubiph  jnuywyGnigmiGp, % (280)

. = 92- '(32 ‘31.“.) (1.80)

Sninwqnipl shdmbyh puyGuyp®
100 - '
QJ-Z. = (QZ 2 —QZ.U.). 1000 4 (1 .81)
npnbn” Y - ubipqundw( | dwdwGwly ]nlnu:qnlnhz.hd"th uwhdwluwyhG
poylwwnbiihh YnprwnGtpp, %

Chawhwpwah pwGwlyp npnynid 66 hbnlywmGwalng'

L‘wnz —. QZ.U'(SZU—SP). 100‘“ (1.82)
] Byt = 3p 100 -

npubin’ Ywin, - shdwluupwagh puwluwp, Yg
3. - pwlh junuayGnipiniGp, % (0,3-0,5
Y- Ywpwah wapnunpripiwt dwduiy Jmnh  vwhdwGwihG
poypwinnbil h YapdinGtpp, % (1,004)

- Fwwd wywGph dpbipwhG hujwpyp

Fwwd wwlhpGiph  wpnwhpnpjwe wnbpinghwlwl hpwhwGqGh-
poud, jripwpwlgntp wbuwyh wwlph hwdwp, wlph fuwnbnipph wwin-
pwundwl hwdwp pbipYwey 56 hwdwwwinwujul pwnwnpwinndubp:

Fwwd wwlph punuugpunndubpp Yuptpt hwdwpy, ognwgnp-
otiny  hupqwplywhG huwywuwpmiGlpp puu ubhwjin  dbdnipynGGlph
pwlwyh: bpb hwpwd WwwGhpp wpnwnpynid badph dh pwlh wnbuwlhg,
www dbY b bpynd wbuwliyGbph pwGulp wpynst UGwgwép npnymud &G:

Fupud wwlph hugduplyyh ophGwy

Ywqub) hwiwd wwleph hudwp punwnpundy, npp wwpmGwynud §
40 % iy Gapynil snp Gnuptipnud U 50 % anﬁ;ntpbp: 3Inwiph inhuu:lm U
pwlwlp pbpdwd b6 whtynwwly 1.3-md:
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Ungnwwwly 1.3
Pwlwyp 100 Yq |2inp Ginebph| Sninh pwgwp- | 3ninh hwp-
Pwnwnphslbip JuwnGnipnh wwpnilw- | dwy ywpnlGw-| Jwplwiha
: bwdwp, 4q | Ynpynlp, % | Ynpjnilp, % gnguwlhy
3ninwih wwbhp 20 .58 23,2 0
UGjnin wwlpp 8., 55 1,0 21
UGjnin Ywplwgnn 10 20 1,5 6,5
Ubpwlwpwg . . 84 83 : 49,4
Swihg-wn 3,5 39 - 15,6

Lntdnid: Sninwih wwlph b Ywplwynnh pwlwylbpp wpywd &G,
wGhpwdtwn k npngtip wljniy wwbph b Ywpwgh pwlwyGbpp: \
Udbh wbuwlyh hnwiph hwdwp npnand 66 hwaqwplwihG gniguwGhyp

© 2,30
=2h Shi g 1.83)
W=—"J00 (

npintin® w - hwawplwihG gnigwGh
Q,, - hnwipnud snp Gjnpbiph wwpnibwynignibp, %
3,6, = Jninh wwpniGwyne)niGp hwiwd wwbph snp Grpbipnud, %
3, - hnwipnud jninh pwgwpdwy wwpniGwlnpinibp, %

3nwdph hwdwp hwyjwpywihl gnigubhGlpp hbnlyw6 66

=840 _932-0
100 -
L= 5540 4 5
100
(22040 o oo
100
84-40
= -83=494
‘7100
39-40
= -0=156
"5 =00
SwoqwpYwihG gnigwbhGbph wpwnwnpjwiGiph gnwpp hwywuwp
0-h, wjuhlpG
20-0+8,, -21+10-6,5-8,,,-49.4+3,5:156=0 (1.84)
3nwiph wlhwyin nbuwybtiph pGnhwbnp gndwpp hwyjwuwp §°
8,, + 8y =100-20-10-3,5=66,5 (1.85)

Ujuwntinhg™ 8y, =66,5-8,,,: Uu wpdtipp wtinunpnd G (1.82)
hwywuwpdwG gty

38

Pon =21,5Yg, B,, =450 g
Uytjwgynn 9ph pwlwyp npngnid bG*
9190 -2) (1.86)
2
npntin” 2 - 9nh pwlwyp, Yq
2, - fuwnGnipnh snp Ginyebinh wwpniGwyniegmiGp, %
2, - hwjws wwhph snp Gniebiph wwpnibwynigynip, %

50x58 +45x55 +10x20 + 21,5x84 + 3,5x39
9'“ =
100
100- (57,7 - 50)
50 .
Fwjwd wwlph pwnwapwwnndup mphy Bnwlwyny Ywqubin hwdwp
whiwp £ oquiyty hbwnlyw) hwywuwpnuiGtiphg®

=57,7%

2= =154lq

8y, +8yyp +2=100-20-10-3,5=66,5 (1)
23.2-2049,,_,_ +1,5-10+83-9qulrl =2000 (2)
Swiwd wwlpnu jninh pwgwpdwy wwpniGwyneyniGp, %'
45.50 o
= = 0/
3h 100 20%

(-58x20)+55 x B, +20x10+84x8,, +39x35=5000  (3)

Jwdwwbn  wstiny (1) U (@) hwywuwpnuilbipp, Yunwlwep'
g"”"1= 17i49 Yq: (3) hwjwuwnnuihg 8, = 36,4 Yq, huy (1) hwywuwpnuihg
=12,2 Yg:
Unwgywd wpnymilpGpp nbnuinpaud GGp wnjmuwy 1.4-nd, npnbin
W - pwnunphyGtph pwGwyG L, p - Gny Pwhwnpwwndup® 100 Yg fuwn-
Gnipnh hwyyny, g - punwnpwinndup, npp hwaqwplyyws £ hwlpwhw)yw-
Yu bqwﬁw_hm{' : _

Unjnwwl 1.4
i Pwnwnphstip w P g
Sninwith wwlpp 20 17,3 20
UGjnin wwGpp 45 39 36,4
UGjnin Ywplbwynn 10 8,7 10
Ywpwg 21,5 18,6 17,9
hGwwphdnudwin _ 3,5 3,0 35
0 15,4 134 12.2
COnwdtGp 115,4 100,0 100,0
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1.3.5. uSUSPrUT bd 2NF th&Nkyh URLIU3PL JucdUry

funwgpwd 2hdniyh pwlwyp (Yg-ny) npnand bG htinlyw| pwGwatng’

2. .2 100-u
th _ 1.2 32 . 5.0, (1.87)

& Qs 100 _
npubin 2, - lunwgpwd ohdniynid gnp Gyl wwpniGwynipnilp, %
(43-60) :

£, - jmwgniy zhdniyh pwluwlp, Yg

Q,, - Jniwgnipy hdniynud gnp Giptiph wwpniGwynipniip, % (6)
- unwgdwl dwdwbwy snp Gnipbiph  uwhdwGwihG

paywwnpbith YnpnwwnGiph gnpdwyhg, % (0,69)

hnwgiwl dwiwbwy gnpphwgyws hunGuynipjwG pwGwyp npnantd
tG htwnlyw] wwpptpniejnihg’

l'l.ﬁ.

W = Roons~ B (1.88)
2np 2hdniih pwhwyp npnznud GG htwnlyw| pwliwalny’
B2 100-Y4
B = NBM s 100 2 (1.89) |

1-2né.
npubin 2,54, - 40D ohdniynud gnp Gynupliph wwpniGwympnlp, % (93)
U, ;. - snpwgdwl dwiwGwl snp Gniptinh uwhdwGwjhG poywwn-
phith YnpnwinGtipp, % (0,69)

npwgiwG dudwlwy gninp2hwgwd runﬁluqmp]ujﬁ pwlwyp’
Wi. = Qlu.zhd. - Qi.zhd. ' (1 90)
YwpGwywpwnh dptipwh hwzduny

prﬁwgwpwn;hmdp:

3nquqnipy ghdmyh pwlwlhg GiGbiny, npngnid GG YwpGw)wpwph
pwGwyp, hnwph dwfuup 1 dpbipph wpnwnpnipiwl hwdwp plnniGny
41

e
)2
4 oup. =41 -1000 (1.91)

apunbin’ 8, - Jniqugniny ghdniyh quiigywdn, 4g
npwgiwl dwiwbwy gninp2hwgywsd funGwynipuwl pwlwyp npnznud
tG htnlyw| nwpptipnipnlhg’

40

‘W = 8y . — B, . (1.92)
npunbN By, - Y0npnlwpwiinidhg htinn Ywplwwpwph qulqubp,
npp npn2nd G0 hawnlyw| pwlwaéuny’
B XL
By = T fu-gh87 u.ghd. (1.93)
. Lu-Lwll.
Ut g, - funwgnidhg hbun YuipGuwawpuinh quigjuby
L. - lwhinquih - wwpniGuynippmbp  funwgyws  2hdniynd,
% (81-85) :
e X2, .
—_ .2h4. .2h4.
B ———”Q uighd (1.94)
) lu.2h4. . ’
apnbin’ 2 qpe. - 20p Qipbiph wwpniGwymipmGp Wwpqbigwd 2hdniynid,
% (5,9-6,1)
Quaps. - 400 Gyniptinh wwpniGwympniGp funwgpwd shdnyndd,
% (60-62)

Nwreqligws ohdniyh pwlwlyp npngnid 66 hnlyw) pwlwdlny’
npntiry’ 0,09 2,4 - wipnihGwihG Ywph U neh pwlwyp, Yq
nmugdwl dwiwlwy gninpohwgyws unGuynipjwd puwlbwyp’
W, =8 P-MM (1.96)

PPNGMY By s, - Wwpqligywd 2hdniyh pubwlp, Yg
By ps. — funwgpuid Zhdniyh pwlwyp, Yg

Snirywiqiply ghdnih pububhg wipn

" g wipnwihGuijhG gneh bpp plnnilnud GG

0,03 %, huy wpnwihGwihG Yweh' 0,06 %: " °
Rpnt 3hdniyh pwlwyp npngnd G0 hbwnlyw) pwiwdlng'

w.2hé. ~

2 uX(@,-B,,)
R B i At LT/ 1.97
p-2h& ra ra ( )

R-Zh8. 9

Mt 2, 6 - pRnL 2hdniyh quiqyudp ppytigniihg wrws, Yg
@, - 2hdniyh gwllwih prynipilp, %@, (30-35)
[@hs. ~ pwnd 2hdniyh peynipinilp, °@, (14)
(34206, — PRNL 2h8NYh pRYNRINGD, °B, (150)
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1,3.6. WULrUGHh URLMPUSHL FUTHUrY

Ywpwgh wpnwapnipjwl hwdwp Gwfuwwnbuwo \Luuph pwwyhg
kiGhny, npngnud &G ubiph U jninwgnipy Ywph pwlwyltpp

e,y -3,u) 100-4, 1.8
P =
vwT3,-3, 100

npunbin &, - ubiph pwlwyp, g
8, - Ywph pwlwyp. Yq
3, - Ywph jninwjGnipinilp, %
3, - ubiph jniwjGnipimlp, %
4, - ubph uwhdwbuwihG poywnntih YnpnwwnGbipp, % (0,17)

Unwgywd jninuqnipy Yweh pulwyp’

R, =8,-8 _ (1.99)
hwhwqh pwGwyp npnpnud 66 hGnlyw) pwlwdlny’ -
_ 2. (8.-3,) 100-4 (1.100)

bun =73 =3, 100
npubin 8y, - Yupwgh pwlwlp, Yg
3, - pwGh jniqw)GniiniGp, %
Biup - Ywpwah jninu)Gnieynibp, %
Y - upwgh wpnwnpnpjwl dwdwlwy jninh vwhdwlwhG pny-
jwupbih Ynpnwnlepp, %

Pwlh pwhwyp hwpqwpynud &G hbwnlywy pwlwalny’

100-4, (1.101)

8, = (8P )05

npinkin &, - pwlh pwlwyp, 4g ‘
H:-hwanh wpnwnpnipjwl  dwiwlwy ninp uwhdwlwjh
pnyjwwnptith anngumﬁbpﬂ,_% ,

Rpnt ubpwlwpwgh wpnwnpnipjwl dwiwGuy ubph Jupdwwnl dw-
ywpniwG hwdwp wihpwdtzn dwiwpnh pwlwyp npngnud GG htwnlywyi

pwlwdlny’
g @R (1.102)
""B,-1,

42

npuntin @, - ubiph gwiywih ppYnipIMGp dwlwpn wybjwglbimg hbun, °@
[@, - ubiph ppYnipinlp Jwlwpn wybjwglting wnwy, @
@, - dwlwpnh prynienilp, @
Unh Ywpwgh wpuwapmpjulG hwdwp wGhpwdtan wnh pwlwyp
gwlnuwi 66 hbwnlyw| pwlwalhg’

_ By Ungup 1
By = 0= 1,03 (1.103)
npubn Un - wnh pwluwyp, Yq '
Unyup - wnh wwpniGwynipinilbp Yuwpwgnd, % (0,8-1,5)
1,03 - wnh YnpnwwinGiph ninndwG gnpdwlhg

enymuwnuwiht ywpwgp wpnwnpbihu unwwwpGbph dbe wybjwglnu

60 Ywywn b wpwp: Wn gnGeEph pwlwyp npnpmd B0 hbwnlyw YEpw:

UnwohG hbpphl hwadwpynd GG onynwnwihG Ywpwgh nbuwlwb Gipp
Nyg-nyY/ htwlyw| pwlwauny
e — gu '3u
Ywp.2. = 63,2

nputin 8,- hwpynn ubipp pwlwlp, Yq
3, - ubph ninw)Gnipjmap, %
63,2 - hwunwuinil dGompnib §:

UjGnihbunl qnGnd 60 wwhwbeynn jwlwnjh U pwpwph pwlwllbpp®

Eyun,. - 8s
wp. = __ll;:g 273 (1.105)

npuntin &5 - uwlwnih Yud owpwph swihwpwlwyh t, %
99,73 - Jwpwph snp Gupbph wwpniGwympmab t, %

Uybjwgytihp onh pwlwyp npngnid GG hbnlyw| pwlwéabng

(1.104)

- |- N T
Q= _twnz vhwn.  Tkmn) _ gy (1.106)
100~ R0

npubin .- 2nynjwnwih Yupwgh wwhwbgynn unGwynipjmibp, %
R ene — Uphipjulwl Yewnnd Yupwgh 2bpnh funGuympenitp, %
H - onh wwprbwyngmlp Jupwquywinpwuhgh wwinbph dpw

InupwhG wprwnpnipjwl dwdwbwy Ywhwnb b wpwpp wybjwg-
Onwd 6G pwpap jmqwjGnpjwG ubiph dbe: Ywlwnjh, swpwph U oph pw-
GwyGbpp npngnud GG hbnlyw| pwGwatny®
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£,, 3.8
g -lpuCnuFs (1.107)
28 " 100- 34un,
8,3
9= _';:mn :-“- (B + Byt + ) (1.108)

npubn &, - pwndp jnnw)Gniejwi ubph pwlwyp, Yg
3.~ pwpap jinw)anipjwG ubph jninwjGnigmbp, %
Py Pup. - wybijwgynn Yulywnih b wpwnh pwlwyGtpp, Yg
Jwywd jninp SpbpwihG hwojwpyh dwdwlwy Ywpwgh dwjsup 1 n
hwjwd jninh wpuwnpnipjwG hwdwp npnand 66 htnyw| pwlwsduny’

1000x3, xQ
L‘hwqu. = Tuhl . (1 A 09) |

nputin 3, - hwjws jninh jnnwiGnie|niGp, %
3y~ hwywpwdnt Yuwpwgh jninw)Gnipinilp, %
4 - Ynpnwwnltbph gnpdwyhg /1,00341/

YwqbkGh dpbpwhG hwajwpy

Sninwgnny  Ywph pwlwyhg bLoGnd npnpnd 56 hnwdp-YwqbhGh
pwlwyp’
Pyuqn. = St
100 - Qg n,
npuntin 2, - jnnwgniply Ywpeh snp Gnptiph ywpniGwynieiniGp, %
Ruwen~ NnWp-YuqbhGh funGuynipymlp, %
G - snp Gynelph ogurwgnpddwG gnpdwyhg (0,276)

2np YwgbhGh pwlwyp npnamd GG hGnlyw) pwlwdlny’

B, 2,
S E el R 1.111
W 100~ 9y, (1111

npunbin 5!@%- snn YuqbhGh funGuynyenilp, % (10,5) .
4 - snp Onuebiph oguwgnpddwG gnpdwyhg (0,268)

(1.110)

YuwqbhGh ynpwgdwl dwdwlwy gninpzhwgywd funbwynipjwl pwliw-
Yp npn2nud LG hbmulw[ pwlwalny’
W=Lun B, (1.112)
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1.3.7. ULULrUS “URHL oAl UrPLRLE N URLMUSHL IUBYUry

townGnipph jnipwpwlygnp Jwup wihpwdtan pwlwlp hwawpynid
&G, hpdGYGind wlwpwwn Yweh hnfuwphGhgh hGnbjwy Ywqdh dpw’ Yue-
GujhG U funhwpwpwywh dwpyh ywpnilwynigndlp - hwiwywnwuuw-
Gupwp 0,6 U 15 %, dnudwunhnuihl funwbmph jnnp 2 %, Jninugnipy
snp Ojnipbipp’ 75,4 %, funGwynip)nibp - 7 %:

tunhwpwpwYwb dwpyh L jpnwgnipy snp Jowgnpph wwpniGwyni-
pintGGtph dhel hwpwpkpnignip Ywqdnd £ 15: 75,4 = 0,199, dnudw-
tnhnwihG junwGynieh jninp U jniqnuignipy snp SGwgnpnh dhol” 2,0 : 75,4 =
0,027: _

tunhwpwpwlwb dwpwyh pwlwyp  npnpnud GO hbnlywy pwlwdlng’

_ R84 Bm
M 10032uU,,0,997

npubn’ &, - jnnugnipy Ywpeh, Ywd joinwgnipy yuph U pwlh Ywd

ohdniyh htw fuwnGnipnh pwlwyp, Yg

32Uy, - jninwgnipy Ywend, Ywd jninwgnipy Ywph U pwlh
Ywd 2hdniyh htin fuwnbnippnd jniqugnipy snp YwpGwihG
Jowgnpnlbiph wwpnibwYynemlp, %

Sip b, = Wwinpwuwh dptppnd unhwpwpwlwl dwpwh ww-
pniwynipynilp, %

3y, - wwwpwuwnh dplippnd jninwgnipy snp YwplGwihG
dGwgnpnh wwpniGwynipinip, %

0,997 - junhwpwpwwl dwpwh oguwgnpddwh gnpdwyhg

(1.113)

bnudwinhnuwihG unwGinieh pwwyp npngnid 66 htinlyw) pwlwdlng

Q'b= Qh,~39l4Uh,'3upq, (1.114)
100-32UU,, -0,44

npubin’ 3,5, - Wwnpwuwnh dptippnd dnudwinpnw)hG funwainieh jminh
- wwpniGwynpinilg, %
0,44 - Inudwinhnwihl funwGneh ninh oguwgnpddwl gnp-
dulhg -

Mwinpwuwh debipph Giep npngnud 56 hbnyw) pwGwéuny’

2,2
gy, =Py (1.115)
de.

npubin’ By, - ywinpwuwnh dpbinph pwlwyp, Yq
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% e - hwdwywinwuhuwlwpwp huwnGnippnd U Wwwnpwuwnh
dpbppmd wdpnng snp Gniebinh pwlwyp, 2,=7.8 %, =93 %
Y - YnpnwnlGliph gnpowlhg
hinwgdwl dwdwlwy gnapzhwgyws unGwynipjwl pwlwyp npnanud
&G hbwnlyw| vwwppbpnigywdp’

W=48 - L, (1.116)

npubin W - gninpohwgdwd funGwdnipjw pwGwyp, Yg

£, - jninwgninl Yuph, pwGh ywd hdnh pwebnipnh puGulp, Yo

8, - lunwgnuihg htun fuwnbnipnh pwlwyp, Yq

R '
‘ fudu 2.

npwutin 2y, - uwnGnipnh snp Gyniplph wwpniGwympnilp, % (7,8)

up. - lutnwgpwsd uwnbnipnh snp Gnekiph wwpniGwynipynilp,

% (40-43)

npwgdwl dwiwlwy gninpzhwgydws funGwynpwl pwlwlp npn2nid
60 hwlyw) pwlwalny’ .
W, = (B + 2 + B ) 2o (1.118)

(1.117)

1.3.8. UULYUYUL YURLUURLMrELLNrP URGMUSHL IUTUUrY
UwGiulwG htnnily yupGwidpbpplbph dptipwhG hwzwplyGtpp

«dhinnwln-MWy: - 1 i wwwnpwuwnh dpbipph hwdwp pwwnpwnny-
up pbipdwé £ phy 1.5 wynwwynud:

OphGwy’ wwhwhgynd £ wwwnpwuwnb) 2 i «Jdhnnjwlywn-MW» 3,6 %
jnin b 3,1 % uwhunwynig wwpnilwlyng prhg: Jwodwplp Yuwwnwpnid GO
2-pn pwrunpwwnnduny: ‘

Unpdwihqugyws fuwnGnipnh pwlwyp (4g)

2000-1088
- 0-T00 2176
Bn 1000 o

Ywph (3,6 % jnin) L ubiph (35 % nin) ulqplwlwl pwGwlbbpp (Yq)
npnynud 66 htinlyw) pwlwalng’

o/ _ 2000-600

. u_——

=1200
1000 49

4A

2000-30,6

, = =
= ogp - 012 19
Ulwgwd pwnuwnphyGliph pwOwlbtpp npnanud 66 htinlywy duny’
2000x42
R, ,——=84
#1000 1
2000x379,8
R =——————=759,
e 1000 6 49
2000x22,3
=—————=446
e 1000 “a
2000x5,5
= 2005.5 41y
1000 K
2000x7,5
=2~ =15 g
R 1000
Unynuw 1.5
Punwnphyltp Inuwiph swjuup, Yg
1 . 2
Ywph uwnbnpn (3,1 % janh U 2,2 % vyhunw- 1050,6 1052,4
Ynigh wwpniGwsynipjwdp)
wjn pYnd® 3,6 % jmin U 3,1 % uwhunwlnig 600,0 600,0
wwpniGwlnn fuwp
2np hnwwGhqugywd hwybinw (233) 42,0 42,0
Rrpwd gnip 378,0 3798
Utp (35 % jnuqw)Gnyejwa) 30,6 30,6
TpuwnphlG-Swipnqw (wahuyhl nidwdqnd) 7,0 -
TYpuunphG-dwipnqu (snp) - 5,5
MwHhGugywsd swpwp 22,3 22,3
NwdhGwgywsd hnnwgplwd prwwlwi jmn 75 7.5
A qhnwdhGh jpquih@ nowdgny’ wwpnilw- 0,0176 . 0,0176
4nn 10-10* h.d./;
UuynpphGwppnt _ 0,075 0,075
CGnwablp 1088 1088

Nwhwlgynn ubiph unwgiwb hwiwp Yweh pwewyp (4g) npnpmd GG
ubpquundwl pwlwdluny
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“2,(8,-3,) 100 _ 61,2(35,0- 0,05) 100
“3,-8,, 100-y 3,6- 0,05  100- 0,07
100- 0,4 _

2w «Llhmn[luum Wx»-h wpwnwnpnipwld hwdwp Ywep Swhiup
(49) Ywqunu £*

= 603 g

e, =£l’4 +E{4' =1200+603=1803 yq

UwGluwlwh ynp upGuwdpbppltph dpbpuwjhG hwagwpy

UwGlwlwG snp  YwplwdpbppGph  wpuwnpnipjwlt  dwdwlwy
Gnpdwipqugnuip Ywwwpnd &6 wyG &uny, np unwgyh YwplbwhG snp
hpup, nph Ywqup ppqwd £ ghy 1.6 wnynuuwlynud:

Unygmuwly 1.6
Ywgdp. %
- Snigwlpoltp Uil Vihy 1 J Lnnu.uu;n

3nin 34,0 40,2 41,7 " 44,2

wjn pymy* ' :

pnwwlwi 84 9,9 69 | 7,2

YupGwihi 25,6 30,8 | 34,8 37,0
3uU 47,8 57,3 49,7 52,8
Mipuwnphi- dwlpnqlu]h snp 15,7 ) 5.6 )
Gjnipbip
tunlGwyrgnil 25 25 3,0 3,0

Ywph pwelGnipph  Gnpdwihbqugnidp  ppwywlwglnd G0 Gplynt
Gnwlwyny’
w. NMaqtpYniwnGbpnud Yweht wybjwglbinyg ubip:
Lwjuwwnbuqws Ywpeh Gnpdwihqugdwl hwdwp ubiph pwlwyp npnnd
0 htunlyw| pwlwduny
_#,-(324U,-04,.-3,)
"7 8,-32UU, Oy,

Lnpdwihqugywd fuwnGnipnad jninh quiqudw)hd dwup’

(1.119)

48

3,-2,+3, -8,
Qu +9u
npuntin 3, - Gnpdwihqugdwh ninwplydnn Yweh (pinw)lnienilp, %

£, - Gnpdwhqugiwl tipwlw Yweh pwlwyp, Yq
3, - utiph JninwjGniemibp, %

8, - utiph pwlwyp, npl wybjwgyt) b uyqplwlwl Yweh(, Yq

p. UnwGwiny jpinugnipy Ywp U ubp ubpquun- andw[hqwmnphq hnupw-
hG BnwGwynd b hEwnwquynid rumwgpwb Jmuignipy Ywpp juwnGbing

3, = (1.120)

ubph htw:
Utpquwnniihg utnwgywd ubph pwlwyp’
e, L W 7 (1.121)
3. 3”,
lumtugdujﬁ hwdwp oquwgnpdynn ninwgnipl) yweh pwlwyp
o, B 8- 3up, (1.122)
W= A .
! 3u -sj.|.|.

npwtin 3y, - Gnpdwihqugywd fuwrGnipnh jninwyGnipimap, %

Lnpdwihqugywd Yureh pwlwyp, npp sh oguiwgnpdynud
YwplwjhG snp hhdph wpnwnpnipjw hwdwp®

£, =8 '('gu +9,.u.) (1.123)
hunwgpwd Ywpbw(pG hhdph pwlwyp®
2 3 -XQ Lju.
"™ =—°;—°'" (1.124)
ufu,

npubin &, - Gnpdwihqugywd fuwnGripnh pwlwyp, Yg
Qu.ru.— Gnpdwihqugywd juwnGnipnh snp Gpigbiph wwpnGwyni-
pnilp, %\
up. = funwgpwd fuwnbnipnnwd gnp Gripliph wwpniGwynipinilp, %

hunwgpwd Gnpdwihqugywd uwnbnipnd Yweh snp Gnuebph wwpni-
Gwynteymhp (%) npnand B0 hewnlyw)| pwGwdlny’
o =BunXdhn (1.125)
¥ 100
Mpunphl-dwipnquih  pwlwlyp hwadwpynd &6 Gnpdwihquigywd
unwgyws fuwnGnipnh snp Gniptiph pwlwyh hpdwb ypw®
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E - Dq.d,xgz.ﬁ.
WU,
npnbn” 2. - YwelwjhG hhipn nbipunphG-dwienquih snp Gaupbiph
wwpnibwynipimlp, %
4V - Ywplw)hG hhdpmd Yweh snp Giebph wwpnibwYnendp, %

(1.126)

THipuwphl-dwpnquih (wohywihG |dwdgnly) 75 % snp Gpbp ww-
pntbwynn pwlwyp npnznud GG henlyw| pwliwduny’

o =5 | (1.127)

" 0,75
UGhpwdtan pniuwlwl jninh wybjugdwl hwadwpyp uujnh[h £ Yw-
wnwpb| Gpynt Gnulwyny’
w. Cunn Yuph snp Ginpbiph wwpmGwyniejwG pwGwyh Gnpdwihqugyws
funwgqwd uwnlnipnnud®
= ﬂdpxg;_.ﬁ.
MUY,

npntn’ 8,6 - pniuwful jninh pwGuwyp, Yg
Py — Ywpluyhl gnp hhupnw pnwwlwG jmnh wwpniGwympnibp, %

(1.128)

p- Cunn dbipwizwldwo Gipwlw Yuplwnnh pwlwyh®

p =PuX® (1.129)
P.J 3
i
npubin’ 3, - welwihG snp hhdpnd YuwpGwninh wwnnGwyniemilp, %
R, - Gnpdwihqugywd fuwnGnipnnd juwplwjninh wwpntﬁwhm—
rInbp, Yg
A, D, U E dwpwwnyd dhuwdhGGbph pwlwlp npngnud GG hwdwéwG
pwnunpwuinduh, pnuwlw jpinh pwGwyp hpdwb gpu:

YwprlwjhG snp hhdph pwlwlp’

= BruunX2up.

3

e (1.130)
y.¢.h. 9.,,,
npntin’ 8, - znpuwgldwﬁ blpwlw puwnwgywd YwplwihG hhdph pw-
Guyp,

p = Ywplwjhl snp hhdpnw snp Guetiph wwpnlwynieimlp, %
50

YwpGwihG snp uwelnipnibiph wwnpwundwl hwdwp pununphg-
Gbpp wybiwgGnud 56 hwdwéawyG unnpl pbipywsd punwnpunndubph’

«Uwpnunlw»

YwpeGwihG snp hhdp nbpunph0 dwenquind, % . .. ... ..o ot 77
Lo T LT R R 23
JhwwdhGbbp, dg %

G ot i i it i et i a e r e 45,0

o 1.9

PP 0,058
Gpyweh gihgbpwdnudwmn, §g% . ... ..o 22,0

«Uwho»

YwplGwihl gnp hhdp, % ..o ove e 65
Uwiywywh uGlnh hwdwp wymp fud pruwaump, Yoovinnnn - 12
LT T S 23
JhuinwdhGobp, dg %

PP 45,0

2 =P 1.9

TP 0,058
tpywpeh ghgbpwdnudwn, §g % ... 22,0

«dhunuywn»
1 2
YwplGwihGsnp hhip, % . ..o 56,4 53,2
Lo T R 12,9 12,9
Qnp hndwGhqugud hwdbintd, % . .. eveveeeeennnns s 307 307
2np ntipunphi-dwipnqu, % ..o vve e e - 3,2
JhnwtdhG C, g% v v vee i e 42,0 42,0
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1.4. UPSUArUUUUGr UULGPEULErP BY
uuLSstshuLhyushk IUucHuryLGr

bweh wpynGwpbpnipwl dGeGwpynpniGGeph wpynlbwybn wy-
hiwwnwGph Yuplnp onwytphg deyp vwlhnwpwntuGhyuywl hwdw-
GupgG k: WG plngpynud £ gbinmigdwG U onwiinfunipjwl, wwp U uwep
opwiwwnwywpwpdwl, ququiwnwywpwpdwl, wpunwnpwywld wnph
JGwuwqtipddwG nt htrwgdwG hwbgnygltipp U YnjninhG: Unwlg gpwidw-
wwlwpwpdwG b Ynynigne gh Yupbh hpwwGwgbp wpnwnpwlwl gnpo-
pGprwglbnp, unbndt) Wwwnywd uwbhunwpw-hhghtlhYy wwjdwltp: Hwan
wwpwgynn U onwiinfuynn nwpwdpGbpnud wewowlnud £ funGwynien,
nph hnlwGpny 7kGph wrwGahG wbnwdwutp gwpphg nnipu 60 quihu b
360 hwdwywunwufuwbn  uwGhnwpw-hhghtGhYy  wwdwGGEppG, npp
Guwuwnnu £ wGnpwy debipph pnnwpldwln:

Gpywp dwiwGwy gnipn U funGwy wwpwspnid, wpnwnpwiwuntd
quGytip, npwtin onp Ytinuinundws £ hngny, quqtipny, wlnpunwneln £
Jwpnnt wennonipwl U wfuwwnwlph wpnwnpnqwubnwl Jpw:

Upwlyywd &G U gnpdnd 5G hwwnt GnpdwinhyGp, npintin hwayh GG
wnGyws wkuGnnghwywl gnpoplpwgbliph U wpnwnpwlwh . dEnGwp-
YnyniGGbph woluwwnnGbph - Gnpdw] wuwydwGGbph  wwwhnydnwip: Un
Gnpdbph hhdwG Ypw GEpYuwjwgyws b ywhwGownply dwppnipwh, onh fun-
Guyntpjwl, wwpwdph gtpdwunhdwlh, 9ph npwlh, Yenuweptiph hb-
nwgdwh n dwppiwh GYwindwdp:

1.4.1.Ursurruvuusrh UUYGrEULGNE 3UTHUNYE B4
ursuIruyuL thLNkR3NRLLLME SEAURUTUNRUC

Uptnwnpwdwubph dwybpbulph hwpdwplyGlpp jwuwpbihu wihpw-
dbow £ hwydh welby wkfuGninghwywl b odwGnwy uwppwynpnudGtph,
hGswbu Gul yinfuwnpwidhenglbiph qpwnbigpwd Jwybpbulbipp: Lyntn-
Gbph U wwhbuwnGlph Jwybpbulbpp npngtiihu whwp £ hwayh welby day
opYw pGpwgpnd wpnwnpynn debipplbph pwlwyp, npwlg wkuwywpwp
swlpwpbrGuonpnlp U wwhwwldwl dwdybwnp: YeGgunwihG U Jwp-
swinlnbuwlwl JwulGwytlpbph Jwybpbulpp npntijhu wGhpwdtawn £
hwayh wnlb| odwlnwy wpunwnpninibpmyd U ohGnieinGGEpnd watuw-
uninnltph pwpwwyp: :

Npwybu uanG wpnwnpwlwG dwuGwybGph Ywqdh dtg dulnud GG

o Yuph pGnniGdwl pwdwGdnilp,
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o wywpwwwihls wpnwnpwiwy, Yuph wywhywGhoG b dspwlp
wwwpwundwh pwdwbdnlGpltipny,

o wpnwrpwlwl wpnwnpwdwubp,

o twpuwih, wwpwpltiph U Gniebph ywhtuwnbp,

e Ywplwdpbpplbph  wwhwywldwld U pbpdnunwwnwiha fughp U
dpbppGtiph hpwgdwh hwdwp tpuwtinhghwbbp,

o uwppwynpnuilph b Ywph junquywywiwptph YeGunpnGuwgyws
[Ywgiwh pwdwbdntlp,

e plnniGdwa, phipwluwl U Jwlpbwpwlwlwb jwpnpwwnnphu,

o YGhgwnwihG nwpwopltip U wy(l:

Uwlbpbultph  hwpwpbpnginip wbwp £ (hGh  dnunwynpwubu

hbwnlywip (wrynwwly 1.7y
Unymuwy 1.7
Swpwoplbph wpnwnpwlwh dwybkpbup, %

Swpwdplbp Pwnwpwih Yuwplwha Mwbph Ywpwgh
Juph wwhwonGbph gnpow- gnpow-
‘ gnpdwpwa gnpowpwl pwh pwa
3hdGwlwb 60-70 . 5560 80-85 - 75-80
wpwwnpnu{nil
0dwlnul 15-20 27-30 8-10 10-12
nwpwoplbp
UndhGpuvpwwpy |- 1-2 4,5-5 1,5-2 2-3
Nwpgwlw/
nwpwoplbp
ULGgunwjh 6-7 6-7 3,55 5-6
nwpwdplbpn
Uhoulgplbp, 8-10 2,5-3 2-3 2-3
wuwnhdwbbbp,
wuwnhdwlwyuwl-
nwlGbp L w0

1.4.1.1. IRULULUL UL SUPULUL UUULUTELRR UMYLrEUR IUTJUCYC

IpdGwywl wprwnpwidwubph dwytpbulGph GufuGwywb hwdwpyh
hwdwp vwppwynpnuiGbpny qpwnbigpwd dwltipbup pwqiwwwnynd GG
gnpdwygny, npp hwyyp £ welnu pwhynpwlwb wentph, dhewbgpllph,
unilbph U wunhdwGGtph dwybpbulbpp: YwybpbulGbph wwhnwwnwihb
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qnpdwyhgp Ywpudws £ uwppwynpnudGbph qupwphuwihG swiubiphg,
hGspwG GpwGp ¢npp G0, wjGpwh gnpdwyhgp dkd £ K-h wpdbipp wyb-
(wenuw £ wjG ntwpend, bpt wpnwnpwdwunyd Gwiwwnbund b6 EEYwnpw-
Yurh wyiwwnwapp: Swpptp wpnwapwdwubiph hwdwp win gnpdwyhgp
niGh htwnlyw) wpdtipp’ pGaniwG-wywpwnwhG U wlwpwn Ywpelw-
dptippGiph wpunwnpwdwubp - 4-5, jupwgh wpunwnpwdwy - 5, unwg-
JwG U snpwgdwl wpunwnpwdwu - 3-4, wwlph wprnwnpwdwy - 4-5,
Ywplwywpwph wpnwnpwiwy - 4, ywhwdnGliph wpnwnpwdwu - 5:
Uwppwynpnultiph pOupnigjul dwdwlwy whpwdtan £ hwalh
wnGby, np npwip htppwinfund wiluwwnn 66 ny wwlwu 5...6 dwd’
t1G6ny wpunwnpwywb gnpaplpwgGliphg: Upnwapwdwuh vwppwynpnu-
Gtph pGupnigymGhg U hwdwplhg htun, oquytiiny wkinkywwniGbphg L
YwwwinqGtphg (hwytiiws 1.6), npnpnud 66 uwppwynpnuiGiph qpwntig-
pwé U wnwGdhé wpunwnpwdwubph  JwybpbuGbpp hwdwdw)a (1)
pwlwdlh:
Ipdowywl  wpownpwdwuh  dwlbpbup  npnpmd GO hbnljwy
pwlwdalny’
. F=K-YF, (1.131)
npntin’ TF, - nkfulninghwlwl vwppwynpnuiGtinh qpuwntigpws dwytipbiub
£ wrwGg hwah weGtnt uwywuwpydwG dwybpbup, @
K - dwybptuh wwhnwwnwihG gnpdwlhg, npp Ywiudws £ wpunwn-
 poipywl plnyphg, wpwGuynpuwihG dhenglbph wnljwni-
pintlhg, wpinwnpnipjul dbpbGwjwgdwl wuwnhdwlhg:

Eoayjwunpynud £ Gwhuwgst] wnwlg wpnwnpwiwuwihG Yuenigdws-
ph gnpdwpwGGlp, tpb GnyG wwpwdpnid gyt GG dninhly obipdw- L
tunGuywjhG rbidhdbtpny wpuwnpnienGGp:

1.4.1.2. WUSPUUSH URLrLLLMP MUITULUUL 8Erh
UuybGrsULLrk 3UTJUrye

Nwhywdwa fugbph dwybpbuGtpp npnznd G0 hwadh welting dhw-

dwiwlwy wwhywlynn debippGtiph pwbwyp W dhwynp dwlbipbuh Swe-
pwptinGywénipyws Gnpdtpp: W6 wpunwhwynynd £ hbnlyw) pwlwabng

Fy=— (1.132)

nputin 8 - dhwdwdwGwy wwhwwbynn dpbipph pwbwyp, Yg
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p=g,

Lo -Z

n
g
nputin &g, - 1 opnud wpuiwnnynn dptipph pwlwyG £, Yg
z - Upbipph WwhwwGdwh wunnnigymlp, op
g-1 (% Juybpbup wnbuwwpwp dSwlpwpbtnGwonpymbp, Yq
(hwybiws 1.2)

Nuwwpwuwnh dpbipph WwhwwidwG dwdybnp gopdwpwlnd Ywgdnw £

F, = (1.133)

wGwpwwn Yupdwbpbppltph hwdwp 1-2 op
pprywubph, Ywplwineh hwdwp 20p
wwnuwwnwyh hwdwp dhGsl 120 op
Ywpwgh hwdwp 5-10 op
YwpGwyhG wwhwdnltph hwiwp 20-30 op

Jwlywlwh pent YuplwdpbppGtph hwdwp 0,50p-
NwGhpGbph wndwl b hwumbwgdwh GYyninGhph dwybipbuGbpp hwy-
qupynd GG &GNy hwuniGwgdwl wbnnnipimbhg, 1 d? fugh dwybipbuh
Jpw swhpwptinGwsnipinlhg U dwybiptiuh wwawphp gnigwbhzhg:
Unwopwihl wwqwGGipny dhwdwdwlwl wwhwwlynn wwbph
pGnhwGnn pwGwlyp npnand G0 hbnlywy pwGwduny'

By =8, Z (1.134)

nputin 8y, - wwlph plnhwGnp puGwy £, Yg
8, - onjw plpwgpnd wpwwnnpdws wwlph pwlwyp, Yq
z - wnunpiwl dwiwGwywdhgngp, op

Unwopwih6 wywquGGhpp dwytipbup hwpdwpyymd £ juudws wyw-
nh wwhwwidwG nwGwyhg' w. tpt wwGhpp Wwhwywiymd £ |nqugnn
Uhdwynw Yuwd p. tpl ywbhpp wwhwywymd b pinGwplyntpnud:

w. Unwnpdwl wjwqulh dwybiptup npnond 66 hbnlywy pwGwalh

oqlnipjwdp’
[ :
F=—000 (1.135)
g _
npubin g - wnuapdwl wjwqweh 1 02 ypw wwlph wnbuwwpwp sSwi-
pwpbnGwonpiniGp, Yg/u?

p. bpt wwlhpp wbnuwapnd G0 wnwepny ptinGwpyntiph dbg, wwyw

wywquwh dwlbipbiup hwdwpynd GG htinbjw) Yepw:
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Jwqwpynwd GOp whpwdbign pbrGwpyntph pwlwyp’®
P
_ 0ln
N, = v (1.136)

npwntin M, - ptinGwpynh wwpnnmipilp, Yq (hwybijws 1.3)

Uwquah hwjtnt dwybpbup npnanw GGp hewnlyw| pwlwalny
_ RNy,
"7 Keon
npwtin F, - pinGwpynh dwybpbup, §
K- wjwqubh dwytptuh ognwgnpodwl gnigwlhy (K = 0,8)
n - jwpnwGGpp pwlwyp

(1.137)

TNwlhplbpp wnwepnd wknwnptin hwdwp oquwgnpond GG T-547
dwylph ptrGwpyn, nph swihubind &G 1080 x 885 x 1335 U4, wyl niGh
5 pwptip:

UndwG fugh dwytpbup npngnid 66 pwqiwwywnlbiny wqwquwih
hwjtnt dwytpbup dwykpbuh wwwph Jpw (2,0-2,5):

UJwquGh funpnigynilp pGnniGnd 66 hwdp welbing pbrGupynp
pwpdpnipinilp U jwpnwlbph pwGwp, huu GtpphG (w)Gniejnilp npngnud
GG hbnlyw Yepy'

bug =140 (1.138)

npwtin | - ptinGwpynh GplupnueniGa &

UJwquGh pGrhwGnip Gpywpnieinlp npnanid 66 hnlyw) pwGwalng'
L ;i
buy

bpt wwGppGepp hwunGwlnd GG pinGwpynbph dpw, wwyw fugh
whhpwdbion dwybpbup Yuqund £

N,-F,-K
=—E P (1.140)
n

(1.139)

puwn
npwntin K - dwytiptiuh wwowph gnpowlhg (2,5-3)

mwﬁhpﬁbnh hwuniGwgdwl hwdwp oginwignpénud GG T-480 dwlGhoh
ptirGwpyn hbnlyw) swihubpny (Jd-ny)* jwjGnieinilp - 898, tplwnpnueniGp
- 1104, pwpdpnipinilp - 1240:
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Odwlnwy 2hGnigjniGGeph dwlbpbuGbpp npnanud 66 GlG6NY Gwfuw-
qdUwl Gnpdbphg, wpuwnpnpjwb pGnipwgphg, dwywihg: Odwlnwly

ohGnipymGGEph Jwytpbultph hwdwp Gpwpewydnpynd £ tipgll| hGul-

jw UG onaniGhtipp (U2) ng ywlwy'
Lwpnpwwinphw - 18
Upluwwnwublyuy - 12
Jwlnbpéwpwl U ywGhwhgnyg - 72
3wlgquwnp ubljwy - 24
UblwGpywlwa, yspwinpngiwl wphbunwbngltp - 24
Ywpuwjwwnil, Yndwypbunpwiht wpnwnpwdwu - 48
OnwthnfunipjwG ubljuy - 18
Upnipww, wwpwh wwhbuwnlbp - 24
Spwludnpdwunnpuihl opwlwjwa - 12
NwlppGbpp hwpbpwdnpdwl ubbuy - 18
Epuwnhghwih dwybpbup, Ywiews wpnwnpniwl hgnpnieniGhg,
Yuqunud £ ywhwywGdwh GyninlGtph dwltpbultiph 10...20 %-p:
Cpowlwnnt wwwyt nwpwih wwhbunbbph dwytptup hwyynd GO
punn 4 htppwihnjuh hwdwp wGhpwdtipn wwhwGewnlyh, wywhwonGph
hwdwp w)G Yugqdnd £ 10 op, wwpwih Gebp’ 3 wdhu, wwupwuwnh
nwpwih hwdwp® 5 op: _

1.4.1.3. CLNRLUUL UrSUAruuUUUR UUYGrsUR 3UT4HUrye

G|G6nY gnpowpwlh hGppwihnfuwhG hgnpnieyniGhg U Yueh pGyndd-
Jwl dwdwGwyhg' npngdnd £ wpwGuwnpuwihb dhenglhbiph™ wywnnghu-
wbnlbph pwlwyp: Gt Ywep wubnwidnfund B6 wdwnghunbnlbpny,
wbwp £ npngt) npwlg Jugiwl pwdwldnilGph dwytpbup® 1 wywnnghu-
wbnGh hwdwp wjl vwhdwGnud £ 72 4%

1.4.1.4. 4U6LSUNSPL b4 OdULIUY THLNRFSNRLLE R
vuusrsuLers nencnkut

Jwlnbpdwpwllbpp wewp b wwywhnyqwd (h06G wwhwpwGGbpny,
YuwjuhsGtpnyd, ubnwGGtpny, Gunwwnbnbpny: 3wgnwnp wwhwpwGGbpp
d&Y woluwwnnh hwdwp wbwp £ nlblwG 0,3...0,5 U jwylnipntG: Twhw-
pwlGbph pwlwlp wbnp b Gwliwnbub GGy 1 opnid hhiGwywh L
odwlnwl wytuwwnnnltph pGrhwlnip pwlwyhg:
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Gpbt Gwluwgdynn gnpdwpwbh hbppwihnfuwihG hgnpneniGp dhbsl
50 w/htpp £, wyw odwlnuwy, Jwpswywe b YGgwnwihl shGnieniGGbpp
Gwhrwgdynud b6 hpiGwywl wprnwnpwlwh dwubw)tlph htn dhwupl:

UkhgunwjhG 2hGnipymGGEph Jwlbtpbup hwwplytihu wibpwdtion £
b0t hbwlyw) Gnpdtphg” Ywgwpwbh deY dnpwy 5...7 dwpnnt hwdwp,
dbYy glgnin & Jwpnnt hwdwp, 1 vwbhwlgnyg 10...15 dwpnnt hwdwp:
8GgninGGph fughyh suhbipp whwp £ |hG6G 0,9x0,9 U, vwlhwlgnyghlp'
0,9x1,0 d: JwGquwp ubGwyh dwybiptiup npngbint hwdwp wbwp £ hwydh
wnGby 0,2 42 kY dwpnnt hwyyny Gnpdp:

tunanp gnpdwpwGbbph hwdwp cwwnbudnd £ prdybn, hwlgqunh
gnunp b wyG: -

1.4.2. U SUMUUUUG bk UUMrLUYNPNRULEND SETULUUSNRUL

Upunwnpwiwubiph uwppwynpnwGph wbnwpwlunidp Ywwwpnd GG
wbjulGninghwywl vwppwynpnwdGph pGupnieiniGhg b hwyywpyhg htwn:
UG whwp £ Ywwyws |hGh gnpdwpwlh giuwynp hwinwlwgsh hbwn w)G-
wtiu, npybugh wwywhnyyws hat0 wwypwlpwihG hnupbpp, wpnwnpw-
Jwubph b wy opywGeph phnjujwywygwanynilp, dwpnywlg hwp-
Jup wbnwawpdnuip gnpdwpwlh wwpwdpny b wyil:

Upunwnpwdwutiph dwybpbup hwywplyting hbwn npnonwd bﬁ wp-
nwnpwlwl Jwubwytph Jwybpbup, nphg htwin wbnwnpnd 66 uinGbph
gulgp 6 x 6, 6 x 12 jwd 6 x 18 § Ywluwd gnpdwpwlh hgnpnyeynilhg,
hwpybph pwlwyhg, wbjuGnnghwlws gnpdpGewglbph wrwisbwhwn-
YnipyniliGphg:

Ywph Ybpwdwliwh gnpdwpwGibpp hhuGwlwGnu uummgnu] kG
dby hwpywGh, pwgwnenigjwdp funanp YndphGwnGbph, uwngwpwGGbpp:
Jwpyh pwpspnipnilp Ywiudws § uwppwynpnuiGeph pwpéapnipimlhg L
nwwnwlynd £-3,6...12 d-hg b npwlhg k| pwpdph vwhdwGGbpmd (1,2 d-h
hwpwpbpwygnipjwdp):

YwplwpryntGwptpnipjwb pninp drGwpynentGGtpp Gwiewgdnmid GG
twiGnpjwl U Gpywpnipjwl htulyw; hwpwpbpwygnipmllepny’ 1:1, 1:2
Yuwd 1:2,5: ThlUnpnbGph  jwjGniemlbp  unynpwpwp plnnlGnd GG
hwywuwp 24, 48, 60 Ywd 72 d:

Pninp 2hGnieynibGbph wbnupwopunwdp gluwynp dwulw)bGpnd whwp
 pwywywlwswih jwy hwlwwywinwupwlh wpnwnpnigjwl Yuqiwybpy-
dwlp, HACCP dpwgph wwhwlgltphl, wwwhndh whhpwdbian hwyw-
hpnbhwjhlG L uwGhtnwpw-hhghtlhYy wwhwbeltpp W Gapdbpp, Gwfuw-
wbup dbrGwpynpjwl hbnwqw Ybpwlwnenigdwh hGwpwynpyeinibp (wp-
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wwnpnipjwl plwiimd, wbjubninghwywl vwppwynpnwiGliph dinfuntd
Ywd nenwihnfunud), pwjwpwph wkuGhywlw tuptinhyuwh wywhwhelt-
nh0 U wwwhnyh 2hGwpwpnipwl wd epwywenigdwl hwdwp Yuugh-
wwy GEpnpndGeph wnwybjugnyl nbwnbund:

Upunwnpwdwubph, wwhbunbbph b w)) 2hGnipnibelph nbnwnpdwh
dwiwlwy wGhpwdbtan t hwph well wpnwnpwywl 2hGnenGatph
plwlwh nyuny  wewybiwgnyG nwwynpywénipnilp, huy GYninltpp
wtwp £ nbnunpt) JwuGwytiGph hjnwhuwihG Jwunwd: Gpb gnpdwpwGh
Ywd wprnwnpwdwuh (wiGnnibp Jed £, wyw wihpwdban £ Gwjuwnb-
ubi| wwwnthwGbp widhgwwbu wowunwnhg Ywd hwdwwnwpws ywwnnt-
hwGGEp wenwnpb] wprnwnpwdwuh wdpnng Gpwpniejwdp:

Upnwnpwdwubipp wbwp b nbnwpuwppull GGGy nbluGninghwlwG
qnpéplpwglbph wrwGabwhwnynyenGGlphg, hnupwjGnieintGhg: kugbipp,
wwhbuwnGbpp, 2hGnemGGtpp, npnlp nGG dnwnply  gbpdwuwnhdwlwh
ntidhuGtn, wlhpwdbpn £ wbnuwlwity hpwp Ynnph EGbpginhl swhuubinp
ypdwintnt Guywwwyny: IpdGwlwls wprnwnpuwdwubphl Yhg wlhpwdtion £
Owjuwwbul] wpnwapwdweh wpnpwwnnphwtn, Jupwbnh, Hehnphlh,
thwlwlwgnpsh b vwywuwpynn wisbwlwqdh hwdwp wy vbGjwyGbn:

Qwwnwlwgend  JbpEhwlbph U wwwpwinlbph nuuwdnpnieinilp
whuwp £ wwywhndph uyqpGwlwt gnpdnnnyeynilGephg dhGsl Ytpg hnuiph
unbnwowpdiwl wibGwlwpd ninplbpp b whedh Yweh b Gpwlhg Ybpw-
Jowyws dpbipplbph hnupbph hwunwip: UbpkGwlGph dhol tnwé wa-
gniGbpp wbwp b pwdwpwnbb wuwwwiph ywinwwlnpws b wl-
Juwhgnyeywh wbuGhywih wwhwbeltphG' hhdGwlwl wlgnwibbiph jwy-
Gnipyntlp - ny wwlwu 2,5 ¥, whgnwGipp Jwndynn dwubp nilGlignn wnwG-
8hG wgpbiquwnGph dhol - ny wwlwu 1 4, whgnuiGbpp wewlsh dbfuw-
Ghqulbph U wwwpwwnbeph dhol, tpt npwlp nlbl wplvwwing wgpb-
quwnGbp - ng ywlwu 0,9 Jd: UwppwynprdGlpp, npnlp snilbG naipu BYynn
wtnnynn dwubp (wGGwlbp, wwhywldw6 hwdwp nwpeqneimGGbp U
w))0) Ywpnn 66 whnwpwyludby hpwphg 0,5 U htinwynpnipjw@ Ypw, tpb
Gpwag dhol whgnuiGtp slwh:

TGbpp, wwwnthwGibpp, uwGnmijupllpp, Jbpblwyp hwwwlwgsh
Ypw wenwnpnd 50 vwppwynpnudGlipp nbnwnpbinig htiwn:

. 1.4.21. UULRUUNCNRULENP UTUULSULLUSHL afUDPUh YUNNRSNRY

VwppwynpnudGph b JbpbGwlbph wuwunwlpwihG gpudhyp Ywg-
dnd 66wyl )phy hwlwwwunwulwlbglbiny wbjubninghwlwG gnpdpl-
pwglbph gpwdhyh htw: U nbwpnud haphgnlwlwl ninne Ypw nbinwn-
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pnwd GG hppwipnfuh, opdw wouwnwlph dwdp, huy ninnwhwjwgh ypw*
wnbfulninghwywh gnpédplpwgh uwppwynpnuiGph b dkipkGwbbph wijw-
GnuwiGtpp, Jwybhyp, pwiwyp, wpunwnpnqulwbneinibp: UpiwwnwGpw)hG
gpwdhih Ywenigdwl dwdwlwy wwnp b hwygh welk) uwppwynpndlbph
wpuwnpnnuywlneinibp: Ipdtwlwbnd pninp vwppwyrpndGliph woluw-
nwlph wbnnmpinilp Yupbih £ pnnlb) 6 dwd heppwihnfund, pwgwent-
pjwdp w0 uvwpptiph, npnlp woluwwnwlph plpwgpnd YwGqlbgGnid GG
[JwlGwint:

Cuwn gpwdhyh hwurnwwnn G0 wouwwnwbph wbnnniginlGp b hbp-
pwlwlnip)niGp, unngnd GG npwlg pGupneuwb b hwoqwpyh dgpunni-
Rinp, hGgp hhdp £ hwlnhuwGn EGlwpwkGepghwih, gninpant, eph,
uwrbnejwi dwfuubiph npndwh hwiwp:

Nuwpdwlwlwb GuuGGepny wwihu G0 nbubnnghwlywl uwppwyn-
pnedlbph wouwwnwlph dwdwlwyp, 1gdwh, puwnwpldwi, Yuwgdwh dw-
Jwlwyp® hwdwwwwnwufuwbwpwp Gwunpn W hwenpn uwppwynpndGhph
wpuwnprqwwlnewdp:

lZ] (gnd

E nwwunwpynud

|Z [Jwgntd

l:, wluwwnwlpwihl dwd

1.5. UULSEhuLhYUBh IbUNRLELGINE

Lufuwgdh vwihnwpw-nbuGhiulwi Jwup pGngpynd £ hGinlywg
pwdhGGtpp” gbirnignd, onwthnfunipinil, gpwdwwnwywpwpnid, Ynjninh:

Lwfuwgsh wju dwunwd pbpynd £ -hpdlwlwl Yugqdwlbpyswywd,
wnbjuGhyuwlwh b wy dhongwreniGliph hwaqupyp W hhdGwynpnudp jnipuw-
pwiynip pwdlh Gwhiwgdwihb ndnwiGbph wywhnddw6 hwdwp:

UwGubfuGhlwih  pwdhGGbphg  jnipwpwlynipp whwp £ plngplyh
hGwnlyw) Jwubpp'
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w. Swp U uwep opp Swhiuh hwpqwpyGlinp, ephG GEpYwiwgynn yw-
hwhg9Gbpp, Gepphl U wpwwphl gpwdwwnwwpwpdwh ufubdwtpp,
uwppwynpnwiGlpp U Ywrnygltinp: Swp gpwdwwnwywpwnpdw hhd-
OwywG vwppbipp W npwlg uubdwGbpp

p.  Unnunnt nbipG me Gulwynipynilp, hwdwlwpgh pwnywgnighs dw-
ubipp U hwaupyGbpp

g.  Onwihnfunejwl ntpp b GuGwynipniGp ublnh wpyniGwpbpmewa
dtnGupynipiniGbbpnud:  StnwihG  onwiinfunipjwl  hwyqwnpyGbpp,
onwthnfuhs uwpptiph pGuipnipintGp U wbnwnpnuip

n. RWengdwl hwadupyp, Gwlwynienilp, vwppwynpnuiGliph U ww-
pwglnn uwpptph pGwpnieniGp L nbnwnpnidp

1.5.1. "k TUUP IUTHUrYL

2nipp wlhpwdtn £ nlunbuwyws, vwihnwpulw, wpnwnpulwa,
wbfuGninghwlwa, pudbn, hwywhpnthwhG, nengdwl U wy Guwwwy-
Gbph hwdwp:

nuiwunwywpwpnudp U Yenunweptph hirwgndp whwp £ junwpdh
4tGupnGwgywd Ywpgny: Wn hwdwlwpgh dbg dwnlnd GG 9pwpwsluhy
YunnygGbpp, wndwwjhG Yuwjwlp, dwppdwl Yuenygllpp, wpwphl b
GtipphG unnnywlwawntipp:

2ph w0 pwlwyp, npp dwiuugnud k wbjulGninghwlwl gnpdpGpwg-
GGph, hwwnwyh, vwppwynpnudGiph, gnyph Ywgdwa, glgninbbph U uwG-
hwGgnygh hwdwp, |glnd GG Ynjngne dg: Rph dh dwup YplGwyh whqud
ogunwgnpdnd G0 wju Ywd w)l Gywunwybbph hwdwp (Wwpwéph neng-
Jwl, uvwnlwpwlwihG uwppwynpniGliph U wyl): JwlwhpnbhwihG
gwagh funnnywywpwpbpp |hGnw GG pwpdp U gwdp dGodwa:

Upnwnpw-ntifubninghwiwl GywwwylGtph hwdwp dwhiudws 9ph
pwlwyp npnonud G hwnlyw) pwlwésuny'

Gupunop = K2 K3 28, -M; @lop  (1.141)

nputin K, - edwlnwy Guwwwlyltph bwdwp gph dwfuuh gnpdwlhgp,
K,=18..2,3
- UnYlwyh equwgnpddw gph Swhuuh gnpdwlhgp, K, = 0,8
g -1 wn wwwpwuwnh debpph hwdwp dwiuudwd oph pwlGwyp
(hwybjws 1.5)

M; - opyuw pGpwgpnid wpwwnpynn dpbipph pwlwyp, tn
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Upuwnpw-tnbluGninghulw lqtuphpﬁbph hwdwp oph wawyblwgnyl
Swiuup npnnud G0 hnlywy pwGwaling
' G -K
G =~ — g (1.142)
Ton

nputin 7o, - opqw kg htippwthnjuliph munnnip|niGp, dwd

SGnbuwlwl U YeGgunuyhG GwuwwnwyGeph hwduwp dwiuudwd oph
pwGwyp npnanud &0 hbwnljw| pwGwauny
KN gy 1.143
- Gwnan =" 000 fou (1143)
) 2,0
nnpubin K, - oph wihwywuwpuizwid swiuudwG gnpowyhgt £, 1.,5..2,
P' ! g1-1 dwpr/htppwihnfuntd nGunbuwlus Gywnwytph hudwp
swiuuywd gnh pwlwyp, g =25 (]dwpn heppwthinfund
1 - hppwiinjup wbnnnipinilp, =8 dwd
N - hhiGwlwG wpnwnpnuewb htppwtnluh u\Jz[uwmnnﬁbph
rhyp, npp npnznd GG hwnbyuwy pwGuwauny

=M (1.144)
1900
npinbin By, - htppwihnjunid wpnwanynn dptinph pwlwyp, 1
n - htippwihniutinh pwGwyp twpdw dtg o
Uy, - gy dpbipph wofuwwnunwpnipiniGp, dwpr/dwd (hwybi-
b 1.4)
1900 - Ukl dwpnnt nwpbyjw wofuwwnwbpuhG $nlnb £, dwd

Jwlwhpabhujhl GuywwnwyGbph hwdwp swiuuwd gph pwhwyp npngrd
kG, GObny htwnlyjw wyjunGtiphg. dhwdwdwlwy wytuwinnn hpr}bhw]hq
thontph pwlwyp 5 hww, onh dwywp 1 thonh hwdup 2,5..5,0 /dpy:
UGhpwdtgw £ nibbGuy oph wwawp hwYwhprthwihl GywwnwlGeph hw-
dwp 10 pnwt wlngnipjwdp: Uhwdwdwlwy 1 JuipYwtnud  Yowhuudp
5x5 =25 |A{pYy. huly 10 pnwbh hwdwp' 25 x 3600 x 0,17= 15300 (/dwd
= 15,3 i/dw:

UwGhinwpwuinbuGhywyuwl Guywunwybliph  hwdwp dwiuujwd oph
pwGuiyp npngnud GG hiswnljwy pwlwauny

Guuwt = 2.4; 1 * & (dnYy (1.145)

npunbin g - Uk uwinph Ynndhg dwhuuynn onh pwbuilp, Ydny
" n - uwGhnwpwlwG uwpptiph pwowyp

62

a - Upwdwdwlwy wouwwnnn vwbGhnwpwlwb vwppbph oguw-
gnnpédwh gnpdwlyhgp

Unynwwly 1.8
nh dwluup (ophGwyh Ypw) vwihrnwpwlywt Gwuwnwylbph hwdwp
hh Uwpph wlqwGndp g a n Gain
1- | Onpwl YJugwpwlwlnbph dnin 0,2 05| 8 0,8
2 ) onpwl Jwgwpwbh dnin . 007 | 10| 6 0,42
3 | onpuy Jwgwwnbnh dnwn 025 | 05)] 3 ; 0,375
4 | hodpuyhG nbnwluywlpbbipnid ghgnin 02 |10 4 0.8
5 | Bwpnwnpyntp _ 0035110 ] 2 0,070
6 | 2niqupwlwlnlph nnnnnn dnpwy 13 (03] 4 1,56
Clnudtlp - - - 4,00

UwGhnwpwunbpGhyuywb vwpptph Ypw oph  dwdwihG  dwluup
Yuqunud £ »
G i, - 3600
G = uwili 3
uw.d 100_0— d%d (1.1486)
Odwlnwy YwphpGlipp hwdwp dwiuudnn opp pwlbwyp’

w. hwonwlyp Ywlwint hwdwp opp dwjuup npngnud GG hGwlywy
pwlwauny’

_£5
nputin g - 1 42 hwwnwp (YwGwin hwdwp oph dwiuuh GnpdwG E, |
S -~ wprnwnpwdwuh dwybpbup, @

p. UwGhvnwpwywl Owwuiwlbtph hwdwp (lt{wggwmmﬁ) onh dwluup
npnznid GG hbnbyw) pwGwésuny’

G

Gy =01-Gypn d%d (1.148)

1.5.1.1. Ur'SULPL 2rusuLsh IpArUYLPYUYUL UTYUrYC

hnpwyihyulwt hwzwplyltiph dwdwlwly npnymd GG funnndwyGipp
GbpphG m‘nwdwqhbn U 4020wl Ynpnwwp: funnnduyh  vpwdwghép
npnanwd GG 606Ny hnuph hwywuwpwswih JupddwG hwdwuwpnudpg'
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G=F-V &y (1.149)

nputin G - 9nh duwjuup, FdnYy
V - oph hnuph wpwgnigniGp, dAfpy (V=>5...14, bpb\qnpbwnwﬁu
uGynd £ pwnwpuwihG oph gdhg, V=1...2, ipt" wpubiqul

2nhg)
F - gpwhnuph YtGnwGh hwuindwsh dwybpbup funnnduwih dkig, U2
x-d* ' :

. 4

npnbnhg npnznud 66 funquywh inpwdwghdp

G
d=1129-,f—”\;’—" it (1.151)

Cuwn thénq Q0US-h plupnwd G junanywlwwnph wpwdwghdp:

F= (1.150)

1.5.1.2. SUR 8Fh JUTHULYC
Swp gnipp oquwgnpdnd 66 wbfulninghwywd, nlnbuwlywl b wy
Guuwwnwybtipny:
1. 8GgninGbph hwdwp
2. Ljwgpwinwp
3. dwywpwGh, funhwGngh hwdwp
4. pwpwfuhg Yhinbpnd wbulGninghw-

-1 glgnin 270 |
-1 4g snp hwgnwwnh hwdwp 25 |

- 1 dwd 250...300 |

ywG vwppwynpnuiGiph hwdwp - 1 dwd 280
5. CanhwGnip ogwgnpadwl |Jwgw-
pwGGtph snpwyGph hwdwp - 1dwd 55...65 | -

1.5.2. UN3Nk1Nk IUTUUrYC

2nGupyniniGGbph U plwywywpbiph Yenunwentiph hwywpdw(,
wbnwhnfudwG, JwppdwG, whnwhwidwl hwdwp YnduyGpu dhongw-
anuiGbing. hGswbu Gl npwig hbnwgw pwihniip hwunily Annuwnwpwop-
Gbph Ywd gpwdpwnGtiph dbg Yngdnwd £ Ynjninnt hwiwlwpg: Anlwp-
ynientiGtiph YEnuweptipp wlhpwdtawn Gwjulwlwh dowynwihg htwnn
niqupyynid £ pwnwpwihG Yngninnt dbg: Wnwhuh hGwpwynpnipjwl pw-
guiwnipjwl niypnd wknwnpnud GG dwppnn nbnuywjwGplbp Ynnw-
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ontiph \nhY JwppdwG hwdwp, nphg hwn npwip |gGnud &G opwipwnbbph
dbio:
Ytinuwentiph hwaqwpyp Ywwnwpbihu whnp £ 6106 pGnhwGnip gph
dwywihg: Unjninnt dbg (gynd GG nbGwnbuwlywb, YeGgunwihG opbipp:
Upunwnpwwb Yenunwepbiph pwlwyp npnanud GG hbunlyw) pwGwaling’

Gupn =& K- M $ldwd (1.152)

npuntin g - wpnwapwwh oph dwiuuG £ dhwynp dpbipph hwdwp (6,4 0°/n)
M - dwdwjhG wpwnwnpnquywOmpnilp, v
K- gnpdwyhg £, K;=1,4..2,0
SGnbuwywl YEGgwnwihl Yenunweptph pwlwyp npnonud &G
G =281+ a IpYy (1.153)
npwbin g - Uy uwGhwGgnyghg unwgws Yenunwenptiph pwlwya k, (AUpy
n - dhwGdwh vwGhwbgnygltph pwGwyp
a - dhwdwdwlwy gnpénn uwlhwGgnygbtph Ywd gnpdhpltph
gnnowyhgp ~
Gn[m = wLunm +Ghan (1.154)

Canhwlnip Yenuweptiph pwlwyp Yuwqdn £ 90...95 % plnhwGnip
onh pwluwlyhg:

1.5.2.1. YBSURN GNP unNduyuTurk 3pru4dlbyuyuL ucvurye

Ungninnt funnndwlwiwpny Yenuwenptpp hnund GG hGplGwhnu Ybp-
wny, wnwlg dadwh, dSwhpnpjwh nidh wqnbignipjwl wwy, nph hwdwp
£l junnnywluwpwnl nGh npnwih pbpnipniG:

Yenwwgntph funanyulwawph hhnpudihuywG hwqwplh dwdw-
OQwy npnnd GG funpndwwowph wpwdwghdp, hwayh wnrGbiny hnunn
gntiph wfuup:

Unjninnt wlgnuwihG nGwynipinilp daswgGbint Gywuwwlyny pannt-
Onud '60p junnnqulwywph wagnwwih hwquplwiht wybwgnd dnnw-
dnpwwbu wpwdwqgsh Ytuh swiinyg: Nppwh d&d £ wpwdwghdp, wjlpwh
ded GG funqnwlwawph (gdwl  dGsnenGp:  unqnwwwowph  dby
JOwgws wquun Jwup swrwnd £ onwihnfunipjwb hwdwp:

Uuwhuny, dwulwyh nbwph hwdwp planiGtind d wpwdwgény fun-
nnwyh YtGnwGh Ywpqwoph dwlbpbup hwywuwp  hnphgnbGwlwG
Yupwoph Jwybkpbuh YtuhG, npagnud Glp tnpwdwgsh desnipinlp hwnl-
jw) pwlwalny’
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F Gn[m z-d? Gy
b Y4 _oun
nputnfg w2 v

{ Gy
8 Zon _y600. 1’ —00% 5 (1.155)
V4 .

npuntin Gy, - uquanbnh pwlwyp, &ny
V - opph hnuph wpwgniniGp (0,7...4,0 dApy np dEnwnuywh
junnnywlwwph hwdwp, dhish 8,0 dApy - dEwnwnwywh
funnnywyuzwph hudwn)

Cuwn Y0US-h plnnilnud Glp funnnywlwowph wpwdwghdp:

1.5.3. OMUeNuNM3UL IUTHUrYC

Onwihnfunienth Ywwwpynd £ 26Gph onwjhlG wwpwoph uwlhunwpw-
hhghtGhYy wwjdwGGbpp pwpbjwybint hwdwp:

Ywpeh gnpéwpwbitpnd wbnunpywd 66 pwqdwehy etipdwihG uwp-
pwynpnuiGtip, npnGp pwpdpwgln G0 wpunwnpwdwubph hwpwpbpw-
YwG funGuynipiniGp, npp ywunwgbn £ pwGynplliph hGplwqqugnnnt-
pIntlp L heighnud £ wohuwwnwlph wpnwnpanuiwlnigymlp:

PwlynpGph wwwwlpwihG Gnpdw) wwpdwbGbpp wwwhnybjnt
hwdwp wlhpwdtpn £ wGplnhwwn wpnwnpwdwubphg htinwgll) Yhn-
nnunyuwd onp b wyh thnjuwphlly dwpnip U pwpd ognd, huy ddrwl wdhu-
GGphG* Ywinphdbipnd nwpwgyws onny: Ywpeh gnpdwpwGibph wpnwn-
pwdwubpnd wpnwqwnynd 66 yowuwlwp b pnilwynp quqbp, funGw-
ynipjnil, npnlp wlhpwdtipn b htrwglt;: Onh dwppdwl hwdwp Gwhw-
qéynd £ hnupwpwynn, wpwwssnn onwthnjunipiniG: Onwthnfunipjwl dw-
Juip (L) ywidwlhwynpdws b onwihniuniejwl hwdwlwpgh hgnpnipjwdp b
hwlnhuwlnw t GuytwwihG desnipimb, npG oguiwgnpdynid k' onwihin-
funipjwG uwppwynpnwGeph pGupnywh hwydwpyGlph hwdwp:

5|0b(ny onwipnfunipjwl gnpdwlghg (m) L wprwnpwdwuh GepphG
dwywihg (V), npngynud £ onwthnfunipjwi swqwip hGnlyw) pwlwduny’

L=m-V @dwd (1.156)

npubin m - YpYyGnnnipjwl gnpowlhg (0,3...5)
V - wpnwnpwdwuh swywp, ¢3

Chlwpwpnpjwh swywip npnzmd 56 htnbyjw) pwﬁwbhnq
V=S-H¢ (1.157)

66

npuntin S - JwlbpbuG k, 0
- pwp&pniejnilp, 4

OnwtpnfunpjwG hwpqwpyh Yuwwnwpdwh hwdwp YpyGnnnigjwl gnp-
dwyhgp plnnilnud Gip'

wpuiquwdwuhph hwdwp

yEGgwnwihG dwubiph hwdwp

GyninGtph hwdwp

|wpnpwwnnphwGbph hwdwp

JupswwnGunbuwlywh Jwulwblph hwdwp
Juynin-wwywpwuwihG b gnpugdwl wpnwnpwdw-
ubph hwdwp

3 33 33 3
noonon
O W oo oW
N
e
w

LnqupwGGtpnud U uwGhwlgnyglpnd, npuntin wbnunpydnd GG 3-hg
ny wyt] uwGhwwpwywl uwpptp, paylwnpydnd £ pGwlwG onwthn-
funipiniG:

OnwithnjuhsGiph pGwpniegnilp Yuwwpynd £ pun 2hGnipyniGGEph
onwiinfunipjwl hwadwpyh:

Onp wwpwgltint hwdwp dwhiudws gpdnpywl pwlwlp npnznud GG
htwljw| pwlwauny

0=0278-3L-p-C-ltggn ~tupn) dn (1.158)

npwntin 0,278 - /dwd dhwynphg Yyu-h wigdwh qnnbwuhg
p - onh funnyejniGp (1,37...1,41 4g/d?)
C - onh nbuwlwpuwp gbndmplmﬁu 4RANq
L - onh dwywyp, ¥*
tenr tupe - 06NRNG U wpunwphG onh gipdwuwhdwlp, °C

UGhptudtwn gninpant pwﬁwlm npnanid GG hGwlyw| pwGwauny
3,6
r-x-1q
nputin x - gnpnpant gnpwigdwl wunhgdwp (0,95...0,98)

n - oquwlup gnpdnnnipjwl gnpdwlhg, 0,96...0,98
r - gninpawgnjwgidwG pwplywd gtipdnipinlp, YR/4g (2171)

D_

uq/dwu (1.159)

67



1.5.3.1. OWUSUrLGrk 3ucdUurye

- Onwwwp funnaqulh Yupwoph dwybptup npngnid 66 GiGGinyg onh
dwfuuhg (L d%dwd) U onh pnyjuwnpbih wpwgnienibhg (V dAdply): 3ws-
Juwplltiph dwdwlwy onh hnuph wpwgnienilp wpdnd £ 4...14 didpy
vwhdwGGtpnud: Nppwl whnwdwup dnwn b onwthinfuhshG, wlpw dts
Opw wpwgnienilp:

Onwwwp funnnywlh Yupdwoph dwlbpbup npngdmd £ hbnlyw

pwlwalny
L (1.160)
3600-V
Onwuwp funnnywlh wpwdwghdp npngynid £ hinbywy Yepy'
2 o d?
L=F‘V F:ﬂd X L:ﬂd -V d2=4‘_L
4 4 -V
_‘/_, |4 L
" V7 3600-7 {314 3600-¥
L

L
d d=1130- 1.1
Ywd 0 Viees W (116

3600-V

/. *1.5.4. 26NNRSUUL IUTYUrYL

Swpyw gnipn dwdwlwy, dwlwdwln ddbndw wdhuGbphG, wpunw-
ph0 U GtipphG gbpuwuwnhdwGGbph nwppbpnigjwb 2Gnphhy wlinh £ niGt-
Gnud gbpdwunhdwlh Yrpnwwn: Thlptipnd wwhwbgynn ebipdwuwnhdwGh
wwhwwbdwh hwdwp 9tipdmipjwl Ynprwwnp pugynud b gbinnigiwG hw-
dwlywpgh nwpwglnn uwnpptiphg:

Rpdnipjwl Ynpnwwnp Ywinwpyn £ ohGwpwpwlwG YnGunpniyghw-
Gbphg, wpwwphl wwinbiphg, nrlbiphg, wwwnthwGGbphg, npup U Gkpup
otipdwuwmhdwlGbph wwppbipnienGhg:

Rbnnigdwl hwdwywpgh 9bpdwhG hgnpmpjnilGp wbmp E hwdwww-
tnwufuwGh 9bipdwihG YnpnunGlph gnidwppG:

Qghn ""ZQQ.H. (1.162)

Chlph gtipdwhl YnpnwwnGbph hwyjwplyp hGwpwynp & Ywwwpb
dhw)G w0 nbwpmd, tpp hwjnGh 56 7 hGrgimGGph U YnGunpniyghw-
GGph dwybpbultpp:
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Ywplwpmynibwpbpmnipjwb  dGnGwpynyeinlbbtph  2hGniniGGEpnwd
gwllwih obpdwuwnhdwlp wwwhnyynd b 9tinngdwl hwdwywpgh 2Gnp-
hpy: Npny twpwdpltpnid (funwgdwl U sppwgdwl wpnwnpwdwubprd)
GtpphlG  9bpdwuwnhdwlp wwwhnyynd £ gnpdnn  uwppwynpnidGbph
olipdnipjwl wogwwdwb 2Gnphhy:

Rbpdnipjwi hwaywpYyp Ywwwpynd £ Gi0GnY etipdwihG hnupbiphg U
wnwpwglnn uwppwynpnuiGiph pGupnieimbhg:

beb hwjnGh £ 26Gph dwywp U Gpw wbuwlwpwp 9tipdwihh
pGmpwghpp, Ywpbih £ hwodt) pnbwnp gtipdwihb YnpnwnGlpp’

Qth =gV '(tﬁhn u.lnm) Jun (1.163)

npwnbin g - 260ph whuwYwpwp ebipdw)hG pGmpwghpG £, (0,35 n/d®)
V - okGph swywyp, ¢
tospr twpw — 260ph Gtipuh U wpuiwphG gbpdwuwnhdwap, °C

Snipwpwlynip 2hGnipjwl hwdwp npnond GGp  9bpdwhl Yn-
pnwinGtpp: REpdwjhG Ynpnwwnlbph pbnhwlnip pwlwlyp hwywuwp
pninp YnpnwinGbph gnidwph:

Uwpwnyngh otipdwihnfuwbwydwl dwytptup npnaynid & htinljw)

pwOwauny’
Q .
F= g (1.164)
K-\ty —tgun
tin =1y, ‘
by = 1.165
u 2 ( )

npwntin t, - wwpwgbng uwppwynpdwh dwybipbuh gtipdwuwnhdwaa k, °C
to, - 260ph 9bpdwunhdwG £, °C
t, -~ tiwp oph ebpdwuwnhdwa k, 95...98 °C
t, - Wwnbgws oph gipdwuwnhdwaG t, 80...85 °C
K - wwpwglng uwpph stipdwhwnnprwywbnigjwl gnpdwlyhgl £
(K = 9,76 dn/d2)

Uwpwynglbph ubyghwbph pwlwyp npnpymd *

N=§ huw (1.166)
npwbn f - d&Y ubYghwih mwpwgdwﬁ duytpunypa £, * (M-140 dwy-
Ghoh prigh dwpwynglbiph hwdwp f = 0, 254 ?)

69



QbinnigdwG hwdwp wlhpwdtn gninpnt pwGwyp npnynid £ hbinb-
jwy putGwauny’

3,6
p=28Zen Yg/dwy (1.167)
r-n-x

1.5.5. Q6LUUSERILPUULUL IUTUUCY

Swpptp YwpGwdpbppGtph wptnwnpripjwl whluGninghwywl qnpo-
pGpwgltph hpwywiwgdwa, wbhuGnnghwlw vwppwynpriGhiph U wp-
nwnpwywl dwytptullph wgdwd, wpnputann wohiwwnwlpltph wig-
Ywguw0, hOswytu Gwu (wgpwwnw@, glgninltiph, otlptiph bnmgiwb L
onwthnfunipywl hwdwp oquwgnpdymd £ dtd pwGwynipjwdp gupdwyhl
tGbpghw' hwgbigwd opwyhG gninpznt L wwp oph wkupny: Hhwlg wp-
wnwnpnpqwl hwdwp Gwhiwgdynn GueGwpynbwpbpnipjwl dbrlwpyni-
pIMGGGRNW Guiiwwnbuynud £ YupuwwnnG:

1.5.5.1 SERULNLNGhULUL LUrhRLL,h 3UVUL
qanLnrenk cUUb NPATNKUE

LOwnpyws uwppwynpnwilbinh tnwpwgiwl bnwlwyhg Yuhwd™ gninp-
ont dwluup npngnud GGp htienlyw| hwywuwpndGephg’
hunnndwluignp wwunbphquinnnGlin, YwinphdtinGtph, gnpwlnglbph
U pnytipGtph hwdwp’
D, _mCs(o=t) | g (1.168)
) r-x-n .
wwpwwywwunpwunhybph, Yupluyneh U utph hwuntGwgiwt JuG-
GwGbph, nwowobph hwiwp’
m-Cy-(t,—=t;)
D, = 1.169
_ 2 (_—)__‘i’—Ctu o Ug ( )
phrinwynp wwuwntphquunpltiph hwdwp, hwadh wrGbny gtipdnt-
piwl nbqhGbpughwl
_m-Cy{t,=1)-0,15
(i'—Ctu)'X'T]
apwbin t,, t, - Yuph uyqpiwlul U JtipgGuwlywh phpdwuwnhdwlbtipp, °C
m - uwppwynpdwd wpnwnpnwlwbnigyndp, Yg/dwd

D, Yyg/dwd (1.170)

10

Cy- (t,+£:)/2 obplwuwhdwlomd Ywph dheohG «otipdnbulynt-
R(ntlp, 2/4yq

C - YnbnbGuwnh gtipdnibwynipniGp, 2yq

i - wwpwglnn gninpont Eopwwhwa, RNYyq

r- m;]/;i‘wgﬁnq gnpznt YnOnbGuwgdwl pwplywd etipdnipjmlp,

g
x - mwpwglnn gninpznt snpwgdwl wunhdwbp (0,95-0,98)
n - eapdwynpnwwnlbiph gnpdwyhg (0,95-0,98)

Jwynind fuwnwglnn uwppliph hwdwp gninpone dwluup h

0 hwaqwpynud
tOp w0 hwyyny, np 1 Yg gninprhwgqud unGwynipiwh pw dwheudnid §
0,35 lyq gn(np2h: ‘

Unynuwly 1.9
Jwgbigwd opuyghb gninpont gnigwlhyGbpp
Qindwu- 9 -
A6 n npnpont Ynlnka
Inndplpwglbip U%,"“" nhduwGp, | SUPWIMDW, uwghuuhugbpqdm-
w OC | ' &,l‘q
_ RimGp, 2/yq
Qninpohwgnjugnid 09 174,5 2780 - 10° 2040 - 10°
gninpont jupuuwgnid 11 183,2 2787 - 10° 2009 - 10°
Ywpeh nwpwgnid, N
wwuwnbphqughw, 02 - 120 2710 - 10° 2208 - 10°
, . .10
uwbiphihquighw
Ywpeh gninpzhwgnid,
Qphdh onh nwpw- 0,3 133 2730 - 10° 2171-.10°
n

Swp oph dwhiuh hwpdwpyp Ywwwpmd Gop putn phnpwé widkh d
otipdwihnfuwbwyhy wwwpuwnh: pdnipjwo oqqunp%dw%qummﬁwqbr:
unigjwl pwpdpwgiwl hwiwp, hwydh welbing wolunwwhbih Ynpnuwn-
Gbpp (20 %), Owhiwwnbund GOp 95-98°C gbpdwuwhdwlh YnlntiGuwnh
Jpwnwpd Ywpuwjwwnl dhwil YEpwoquwugnpdhy obipdwhniuwGwyhs-
Gbphg: YwplwdptppGliph wpnwnpnipjwl nkuGninghwlwh ufubduyh hp-
Jwl Jpw, hwydh welbiny jnipwpwlygnp weywpwnh wluwnwph dwiw-
Quyp, Yuqdnd Gap gninpgnt dwiuup U yspwnwpaynn YnGntGuwnp pw-
Gwyh wrynuwy pun hippwihnfuh wyliwnwGph dwdtiph:

Gpb uwppwdnpmiltiph wytuwwwbph gpwdhyp pwgwlywnd &, gn-
inp2nt Swiuup putn wrwOah wnklibninghwlwl vwppwynpiwG gnidwpnud
Glp ppwp U pwqdwywnynd ShwdwidwbwYympjwh gnpdwlgny (0.8):
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1.5.5.2. UULPSULU-UELSUIUSPL wUrkeLsrk 3uuur
anLNrcnk gUlUk NPATNRUC

Swp onipp wlhpwdbion £ wbfuGnnghwywl uwppwynpndGliph, wp-
wnwnpwdwubph hwwnwybbph \JwguwG, jwpnpwunnphwlbph, glgninGkpp
b Ywgpwwnwl Yuphpltph, shGnipyniGGtph gtipnigdwl b onwthnjunipjwh
hwdwp: pp nwpwgnudp Yuwnwpnd kOp tipynt pnypGipnud: Swp oph
pwlwlp npnnud GOp ophGwswihwihG Gnpdwbiph dwjuuny:

1. UwppwynpnwiGtiph ({wgdwl hudwp wwp onh dwuup Ywqund £
03-M

T,
npwtin M - gnpowpw0h htippwthnfuwihG hgnpnieimlp, Yq
2. Swp oph dwfuup hwunwyh Jwgiwl hudwp Yuunwpnd 60wl wwy-
dwGny, np 1 62 hwnwih (Ywgdwl hwdwp dwiuuynud £ 5 Yg ontp:

Guy. = yo/d (1.171)

5-S
Ghunny. =T Ug/d . _ (1.172)
h
3. LwpnpwwnppwGbph Guwunwyltph hwdwp twp oph dwluup Ywg-
dnd |
Giup, = 0,02+ Gyyy 1 Ya/d (1.173)

npwnkin n - [uipnnwmnnhwﬁbnh pwlwyp
4. YtGgwnuwihG Guwwnwylbph hwdwp wwp onph dwluup Yuaqunui £

Gpug. = 0,25 (Guul- + lep-) Ya/d (1.174)

Npnynud GGp wiwp 9ph plnhwlnip wwhwaep'
Gnﬁn = Gu.m. + Ghmm.[q. + Gubﬁg. + G[Lup. Yg/d (1.175)

Npnznud Gp gninpnt dwluup uwep onh tnwpwgdwl hwdwp®
D m-C-(t,—1))

rex-n

Yyo/d (1.176)
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1.5.5.3. LUlUqodnN1 AcNLurunkE3UL snLnrenk UNUYGLUSNR3L
TUlUb NPNTNRUC L YURUULGNk CLSMNRR3NALE
Cuwn pninp hnwolbph gnpnpont dwiuup hwodwpyGph hhdwl Jpw
Ywqunw Glp npw dwfuubiph U ybpwhwpdynn YnGnbluwnmh pwiwyh wd-
thnthhg wynuwl wluwnwlpwihl heppwihnfuh pninp swdtph hwdwp:
-Unynwwy 1.10

| UwGhunwpwlbGgwnwhl _

Snnpont dwiuuh hbppwinjuh dwdbpp
hnnwsGkpp 819 10| 11 |12 [ 13 ]| 14 | 15
Skfubninghwlwa

GwwwwlGbph hwdwp

GuwuinwlGbph hwdwp

Onwthnjunipjwl hwdwp

Qbnmgdwl hwdwp

cvHuELL

Cun Gwhwgdynn Sbrbwpynipjult hwdwp wlhpwdbizin  gninpont
wowybjwgnyt dwiuuh (D) hhdwh Jpw hbwnlyw] whniuwyhg pGunpnd
tOp otipdwjhG YwpuwlGtp U nnipu GOp gpnd npwlg wnbluGhywywh
gnigw@hyGtipp: ' :

Unymuwly 1.11

SQn|np2hwwpunwn-
powlwlnipiniGp, | Twyw|Gbpp, ¢ Quthubpp, dd
w/d
Ywpuwih s 5
wbuwlp | 5 |3 5| 2 2 E | 2
ES|g53| £ | = | 32| & | 2%
32 | 52| § S | 5| 3| 2%
| dhuRr-2,5-13 25 | 35 15 |392 |3645 |2430 |4343
dhuer-4-13 4,0 6,0 1,98 (5,28 5020 2430 (4343
dhufe-6,5-13 6,5 9,0 243 7,38 6370 3100 |4343
U‘U‘h -0,4/9 0,4 - 0,41 |0,85 - 1118 |3490
U‘U‘[h IV-0,8/9 0,8 - 0,81 11,78 - 1416 {3860
d-1/9 1,0 1,05 1,0 1,65 4000 1550 14035

73



1.6. UUﬂLUPUL.U.ShL hSLrh LWULNCRUYUL FUTHUrY

YwpGwdpbpph U duwdptpph  wwhwywldwl wibOwpwnpblywun
ntdhdGtn0 wwwhnydbpnt hwdwp wGhpwdbown £ dhan plupby yndypbiun-
nwjhG nbnwywjwipp U ugnh Yuhwdnpwlpp:

UwnGwpwGwhG uwppwynpnwiGend pGupnud GG 9bpdwihl huyqwpny-
Gtph hpdwG Ypw, npnlgnud hwyyh 66 wrGqwe fugbph otipdwyhG nkidhd-
Gbpfi ypw wgnnn pninp gpdwhnuptipp:

1.6.1. UG4NRUUSUUL UTHUNUL

UwnlwpwGh Swowjnpiw dwdybwnp U nGunbuwlywl gnigwlhaGtpp
hndGwywGnud npngynud &0 dbyniuwgiwl npwyny:

UwnGwpwGGbph gwiywwwunbph obipdwjhG ubynwwgdwl hwduwp
whwp £ plwpky pwpdpwpryniGwytin Gyniptip, npnGp nGbG gbpdwhuw-
anprwywinejwi qnpowyhgllph dinpp wpdbipltin, $56 Ylwlnd junGwyni-
pintG U odwywd GG Uh 2wpp wpdpwynp hwnlubhGtpny:

QtpdwhG  dbynuwgdwl bpLwpwytgnieymGp npngynud £ wdnwa
pGpwgpnu wpwnwphl onhg pwthwlgnn funGuyntp)nilpg wuunwywhybnt
plnniGwynieywdp, npl hpwywbwgynu £ Ywemgywoph dbg puwywl
hgnp gninpwdtynuwgdwl 2bpwh aGnphhy: Jwwybbph U wnwlhpuw-
dudyh hwdwp wlhpwdbywn £ uwnbindt] wytih hgnp obpdwdbynuwgiw
stipwbp, npnlp YlunspGrnntl  unnpgbnljw opbiph L upGninpuwihl
Guunywodpltiph Gbppwhwlgnuip:

Npybu gninpaw- U oipdwdtynwhyg Gynue oquwgnpénud &G phinudGp
b phinwwihl Jwanylbp, wwywyt rnptpnpn, hang b w) Gynipbip, npnlp
nObG pwpdp qnlnpzwpwlhwﬁgb[hmmwﬁ nhdwnpanuywlnieni: Rbpdw-
jhG dtynwwgiwG hwdwp gullwih £ oguwgnndtby shpyhqynn Gjpbp:

Qbpuwdbynwhy Gruebiph hhuGwywl pGnipwghpp wpYwes b hwybi-
Jua 1.7-nud: : ‘

UwnGupwGh wwwnwoplbph L hwwnwyGtiph JEYnwwgdwl hwdun -
oquiwgnpénud 60 (gndh Gimpbip’ YepwdghunwhG Ynwhd, thpwd wtinhw,
Jspdhynyhw, fuwpwdlbp:

1.6.1.1. UsunruusLNI THRSh 3uusnkR3UL NentnkuL

UwnGwpwGh wwwbph U wnwlg abnGwhwpyh wwwinuwopllph oG-
JwihnfuwlgdwG  gmgwlhltiph wwhwlgynn wndtipGtnp popJue G0
wrynwwy 1.12-nud:
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SUnymuwly 1.12
UwnGwpwGh wwunbph b wnwlg deeGwhwnlh u;wmtlwbpﬁhq[{h ’
sipdwthnjuwgdwh gnigwbhyGhpp

thOwpwpnipjwa tpph0 obpuwuinhdwlnid gbipdw wigdw w C
L sbpdwthnjuwbguwh 0
onowlnud onh dheht : " ? amguhan

nwnbywl gbp-

Sosvmpute, °C | 40--30 | 25,20 [-15.10] 4 [ o | 4 |12
116 019 | o021 023 |0.28 [0300:35 0,52

(bplwlh hwowp) | 047 | 020 | 023 |026|0,29(0,33|047

Twhnpmpyndd. Jwdwphsmd gpywé &6 sbpdwpnfuwbglwl gmgwlhsh wpdbp-
Gapp wpunwphG wwwnbph, huly hwpnmwpwpnd” wnwlg dbnlw-
hwpyp wwnduwéplbinp hwdwp:

QtinGwhwpyh ywwnywdplbtiph hwdwp gbpdwithnuwbgdwb gnigwlhs-
O6pp wGhpwdtown £ plnnill) 10 %-ny pwpdp, pwlé1 Lﬁuﬁbbgﬁwhu?pugu{wlz-
Juwoplbphlp: Quunbigynn dhowlgpltiphg, pupnybtiphg, Gwjuwupwht-
nhg U wjl 2hGnpinblbphg fugbipG wrwGs0wglnn GepphG wwwbph 9bip-
gﬁg}?tuwﬁgdwﬁ gnigwlhgGbpb plnnlnud G0 puwn fugnud onh gbpdwuwnp-

Uwnbigynn viwpwdpnud onh
otipdwuinpdwap, °C
Rbpuiwihnjuwiguwl
gnigwlhyp, dwn/d? °C

30 20 -0 4 4 12

027 028 033 035 052 064

tugtiph dhelt UhgGwuywwnbiph gbipdwihnfuwG
guwG gnigwlhyp (dwn/g2®
00nniGmd 66 puwn wnwGaGwgynn nwpuwépliph Pﬁnlpwgqp?\‘ bap (/)

UwnbgdwG b wwnbgdw . 0,23
Uwrbguw0 b wwnbgywd pbrlph wwhywbdw 10,26
Uwrbgiw b uwntigyud ptinGph wwhwwGdw | 0,47
Nunbgywd U uwebgws pbnGbph wwhwwhdws - 028
Uwnbigwd ptinGlph b wwnbgdwG 0,33
Mwnbgwd ptinGbph wwhwwidws U wwnbgdw 0,52
UnyG 9bpdwunhdwlbbpny 0,58
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Swlywuwwbph deynwwglnn 2epnh hwuwnemGp (d-ny) npnanud
GG hwnlyw pwlwdlny ‘ :

Y LI B L 1177
5= 4 '{‘E'[al gL H )
npwkin Ay, A ~ gwljwywwnh Yunnigywsph Yuqup dbe dnlGnn dhyni-

uwglnn b 2hbwpwpwlw Griptph etpdwhwnnpywlwine-
piwl gnigwlhaGtpl 66, Y/l °C,
K - gbpdwihnuwbgdwb gnigwlhyp, Yw/id? °C, a, - qullwywwn-
Jwl wpwnwph epdwwnynigwb gmgwGhyp, Yn/d? °C,
o - qullwwwwndw 0bpphl gbpdwwnyniejwb gnigwGhop,
dun/d? °C,
3, - qulwwwwnh Ywrnigywoph wrwbshG sbpntph hwuwnip-
jntlp, U

Unynww 1.13
Rbpdwunynipiwb gnigwbhobbph wpdtpGbpp

bipdwinynipywb gnigwbhyp,
Ju/i? °C ]

UpuwphG wwwbph U : , 233
wwundwdplbiph dwybpbulbp

Unwlg onh hwplwnhp 2powlw-
nnipjwdp shGnyeimGotph 06pphG 8
duybipbultp’

wwwnbip
hwunwlltp b wrwuwnwnbp 6.7

Onp swithwyynp 2pgwlwnnipjwip
2hGnygimbGEph GEpphG
dwlbipbulbp (Wwnbgyws
trObph wwhuwwbnu)
Onh nidbinugywd ppwbunnt-
pjwdp ohGniyeyniGGtiph Gpphl
dwltipbuGbp (Wwnbgdwi L
uwnbigdw( Jugbp)

Utnwwglnn spnp hwuwnipwl hwyjupyhg hbwn, Spp oqmulﬁ-
npoynud &G uwihluignp Ginyetin, Ywpnn & wwnqty, ap hwajwpluih
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-bhﬁmmmﬁﬁbph dwltiptubtip

10,5

.

Smgwlhah hpwywG wpdbpn (dun/y2 °C Oy -
O ndtipp ( ) npnan B0 hbwnlyw pw
1
Ko = [ : (1.178)

1 :
Ligd, 1,4
a] i=] ll‘ az J

npuntin &, - dtynuwgtnn 2bpwinh pGnnlGywy hwuwnnipnGG E (4)

1.6.1.2. UbUNhUUSLNA G Sh FUUSNrR3UL
UTWrYLErh orrLuuLer

1. Npngky Wwnwwnwyh vwebgiw U WwhwywldwG wpwwphl
u;wmq]h Ubyniuwglnn 2bpuinp huunniginiGp: ol wpoweh
wwh Ywemgduépp (nky ay.1.1) hbulyw t wnd
puinhg pwp-
ubp (500 dd), ghikGnb ujuwn (20 dd): Qn[nnzwthnmwgmdp uwQUZwa
[t];ophu:lrgméjéhﬁ d!ﬁbmﬁh bnqhngI 2bnunhg (3 dy): Muybu gbpdwdblmluwﬁ]mp
VpYG G0 wnihuwnhpnguy uwibipp: dbpeGwlws dowlnug
b0 gbubGwnt udunny (20 dd): el 2ulnidn uinupnd
Nwnuunwyh vwebgdwa u wwhywGiwG fu o
gh (-20...-25 °¢) obipdw-
thnruwﬁgdwﬁ gngwlhzp, hwdwswG phy 1.12 wninwwlh, hwdwuwp £

gh12§) hll,u qwgwhn E 23,3 il °C, huly GhpphGp' 8 un/g oC (wryntuwly
* 2k VIMRGRN obipdwhwnnpnwlwGnigmGp (/s °C GnnGnud 1
GuidwG hugbygus 1.7-h: ntp ( ) plnniGinud kg hy

Snid pwiphg 2wpyuwdp 0,52

86d6GinG ujwn 0,88

innnzwdbqnluwgmd 0,18

Mnthunhpnt thpthpwuwun 0,047
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Lywp 1.1. Upinwph wwwh Yuemgdwopp

1. Smd pwnhg Yunngywdpp, 2. 8tuklwb ujwn, 3. Qnjnpawitynwwgnid,
4. Qpdwdbynwgnd, 5. JbingQulwh Jawynud

Utynwwglnn sbipnh wwhwGgynn hwuwinpimlp npegnw GGp 1.477

pwlwauh ogqGnipjwip’

—

& =0,047- LI —1—+29£2—+ 0,5 +0—ﬁ23—+l =017 U
0,21 (233 088 052 018 8
0 Jd (4 2tipwn 50

Utynwwglnn gtpwh hwutniiniGp pGnawnud tGp 20
nwywl wpdtipp

dd Y 2 gtpwn 100 du): upiwhniuwtgiwl gnigwlhah h
qunGnu GGp 1.178 pwlwalhg

, L =0,13 dwn/i2°C
3,57 +— ‘

Kpn =

0,047

2. Npngky uby hwpluwGh uwnGwpwGh wwinqwdph dynuwglng

atipwh hwutnmpejnilp:
Aunudph Ywnnigywdpp plipdwd £ GYwp 1.2-nud:
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Liwp 1.2. Mwwnydwoph Ywnnt
gywdpp
1.25Lput30£5l6]§L;bUh g lwhwebpwynp Gapplwy (gnippowdbiynwwgnud)
. : pGuwuydwn, 3. Lgnyh ebpdwidtnwwgnud, 4, Uwhwynp '
obipdwdbynwwgnud, 5. Mwnywdph Eplwppbnnbl vw)

Ywnnigwdph 2tpubiph h
mGip phipduwd £ umnpu‘z n P‘h wutnnieynilp b ebpdwhwnnpnwlwbnige-

. 2$&Eﬁuazl::é{£l:}lwﬁwlhwph- tnwp phninwihl dwanlgh Jpw hhnpn-
595tpwn” §,= -
- wdpwlGwynpywd pnnGh anih 5 i 8:=12 dd, 2,=0,3 n/d °C
62=40 dd' }'2=1'4 Jun/d °C

bpbuwuywn
- 1gnyh ebipdwdbynuwgnud Yapwdghwt Ynuwhd, hwdwdw;l
hwqw A =
- uwhywynp obpdwdtlnt- Bunh 2o (n=02 dn/dC
uwgnuf’
wWwhwwidwa fugbiph hwdwp — wn
(huwhpni thpthpw
uwntigpwd pbnGtiph hwdwp  6,=100 44, 7\4=0r?;h7nt{;llltllu:(;nhg e
— wwnbgpwd pbnGbph hwdwp  §,=50 Uy, A,=0,047 Jwn/j °C
:{uﬁm}l_wbgh GBpywppbwnll  §5=220 U4, 2,=1,5 Yw/i °C

Sbpduhnfuglut gniguthyp
qulhyp' K-G (dw/§? °C) uwnbigpwbd
WwhwwOdwh jugbiph hwdwp 0,20 L, gpwd plinGliph
fugbph hwdwp’ 0.2?;;‘ no20E unbgnud ptntnh wuwhuywdus
bpdwindnipjwl gnigulhGepp’
wpwph( dwybpbuh hwdwp o,,=23,3 4un/d? °C, anhgpwb -
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wwhwwGdwG fugtiph Gpphl dwytpbuGtph hwdwp 0g=7 Jin/d? °C,
wwnbgnws ptinGtiph wwhwwGuwG fugbph hwdwp® =9 Jwn/d? °C:

Ublynwwglnn 2tpwh wwhwlgynn hwuwnnieqnlp vwnbgpwd plinGbph
wwhwwGdwa fugbph hwdwp’

5 —on.| L (1, 0012, 004, 0,1 +°’22+i1 04944
RS 02 \233 03 14 0047 15 7)

wwnbgpwd pinGtiph wwhwwidwa fugph hwdwp
5,=0,2-[3,448—-(0,043+0,04+0,029+1,064+0,147+0,11 1)]=0,4034

Uwnbgpws phrGph fugbpnd dbynwwgynn 2Gpwnh pwpépnipinilp
hwuGmd £ 0,494+0,100=0,594 4§, hul wwnbigpwd ptinGph fugbipnud®
0,403+0,050=0,453 d: 3wppe nwihpwowdly unwGwn hwiwp wwnbg-
pwd ptinGbph WwhywGdwG fugbpnd wihpwdtian £ Juwwpby pugnighy

nud:

© 3. Nipngby duh uwrbguwG lugh hwinwlh dbynwwglnng obpinh hwu-
wnRinilp:

fugnd onh gbpdwuwnhdwlp -30 °C £, onh angwlwnnipjnilp” nidb-
nwgyws:

Jwwnwlh Yuenigqwspp wpdws £ Ghwp 1.3-md:

1
2
INAENaEANERNNEEEREEE N //

5 -
RG] - v
- ¢ o R
. i '
( s o N
ry oo oo
<

Liwp 1.3. Swnwlh junmgwbpp
1. Uwpnip hwwnwy, 2. Pannlb (wfuwywnpwunnd,
3. Wpdwdbynwwgnid, 4. Pinnlt lwuwywnpwennd EEGnpunwpw-
gnighsh htin, 5. Qpdwdbynwwgnid, 6. PnnGl Gwhwywwnpwunnd juhdny
funwgywd gpnilinh Ypw
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Ywnrnigdwdph 2tpnbph hwuwngejnilp b gEpdwhwnnprwlwnueimbp
pbpqwd GG unnpl’

dwlywpw)hl pbnnlt

uwiphg’ _
Uwpnip hwinwl §,=40 UdJ, A,=1,4 dn/d °C

PLnGh Gwhiwwwwnpuunnd §,=100 dd, 2,=1,4 dn/i °C
Rupdwdbynuwgnd Yipwdghwt  hwuwneinGl pun hwyduplh
Unwhd ' A;=0,2 dwn/d °C

FEnnGh Gwhwwwwpwunnd 3,=100 ddJ

iy pwinwpwgnighsh hbin

Rbpdwdbyniwgmd -

PLwnGE (whwwwnpwunmd -

fuhdny funnwgyws gpmbunh
hwdwp

Jwadwpyh hwiwp hwydh 66 welmd dhwyG wib 2bpwntpp, npnGp
qunlynd b0 Elaywpwnwpwgnighsh hiwn pinnlh (whiwwwunpwuwndhg
pwpén: :

Jwuwnwyh gipdwihnjuwigdwh gniguwlhyp' K=0,21 Ywn/d? °C, huy olip-
Jwunynipjwa gnigwlhzp a=10,5 duw/d? °C:

Utlntuwgynn 2tpnh wwhwbeynn hwuwtnynilp’

5, =02 1 _(o04+01 1 09134
0,21 1,4 10,5

1.6.2. UUNLULrULLLErNhU RECPUULELINUNKILENP JUTYUrYe

UGOnwdptppltiph wwhywldwl pwpdp npwy Ywpnn £ wwywhnygyby
dhwjt ywnlwpwh fjugbiph oywhdw b YuwnG gbpdwihG rtidhdh nbwpnid:
Uptippltph Jowlydwl b wwhywGdwl wewyb) pwpblywun ntidhdGtp
unwlwint hwdwp wGhpwdtian § dhan pGupty fugbph b YndupbunpwihG
wpunwnpwidwuh vwppwynprdGbpp:

Vwrlwpwlwhl vwppwynpmdGlipp plupnd GG, hhdGyGiny obpdw-
1hG hwpdwpyh dpw, npp hwadh £ welnd fugtipnud gbpdwihG rtidhdh ¢hn-
tnfunipywl Ypw wannn sipdwGtiphnumdGpp: Pwlh np uwppwynpnud-
GEpG pGwpnud 66 jnpwpwlynip fugh hwdwp wrwGshG, ebpdwihG huw)-
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Juipyp Ywwnwpnud GG jnpwpwlbynip wwntigynn 2hGnipjwl hwdwp:
Swyyh GG wnGnui htwnlyw) sbpdwlbphnundGpp’
1. ohGripniGGbph gwGywuwwuntiph YuwenigwapGiphg * Q,
2. UptippGtphg npwGg obipdwjhG Jawllwl dwiwlwy” Q,
3. wpunwphG onhg, 2hGnipinGGtph onwthnjunipjwl dwdwlwy Q,
. 4. wwppbip wnpjnipGphg, whwgnpddwl dwiwlwy' Q,

1.6.2.1. Q6rUULLr3INUNRULGNE SULLUNUSHS

Swlywwwuwntiphg gtipdwhnundGtipp npnaynd G0 wwwnbiphg, dholw-
wwwnbiphg, hwnwlGbphg b wwudwopltiphg gtipdwbtphnunwiGlph gni-
dwpny, hOawybu Gwl h hwohy wpuwphG wwwnbphg b wwwnywdpltinhg
gnjugnn gbpdwGtphnunwlbiph, npnlp wrwwln 66 wplh dwrwqw)p-
Gbph wantignie)niGhg:

Swlywwywwtiphg etipdwGtphnunwiGtipp npngynd GG hbwnlyw| pw-
Gwalny’

Q' = KF(t, - t;) (1.179)
npnbn’ K-0' gulywywwndwl gbipdwihniuwlgdwl gnigwbhoh hpwlwa
wpdbph k, /g2 °C
F-p' guwlywwwwndwl dwybpbup, b2
t,-0" gwliwuywwndwl wpnwphl sbpdwunhdwp, °C
t;-0" wwntgynn ohGnipjw onh Gepphl gbipdwuwnhdwp, °C

JwyjwplyGbph hwdwp Ybpglnw 66 uwrlwpwlh hwnwlwghdp U
Yupdwopltnp, npnGg Ypw whwnp £ nipdwd |hGG fugiph 2hGwpwpwiuw
gwihubinp:

Uhglwwwwnbiph b wwwnbiph dwytipbultph npnadwl hwdwp pGrniGnu
&0 :

- wpunwphG wwwbph Gpupmpenlp’ wpnwphl wwnbph wpnwphG
dwybpunyphg dhbsk GtipphG wrwhgpp,

- ObpphG wwwbiph Gplwpneynlp’ wpnwphl wwnbph GepphG dw-
Ytpunyph U GepphG wrwlgph dhel,

- wwwbph pwpépnembp’ dwpnp hwwnwyp Jwlwpnwyhg dhosh
wwwnjwdph |giwh tipbup:

Nwnbigynn 2hGnipniGGhph Gepunw onh gipdwuwhdwGl pGnniGnud G0

b0ty hwybws 1.8-h wyjwGbphg:

Gpnilwnh Ypw Ywenigdud b nwpwgmghsltp niGignn hwuwlh dheny
wlglnn Q" obipdwGbphnunwiGlipp npngnw GG hEnlyw) pwlwéaund
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= Kip F(t - &) (1.180)
npunbin td p qnmﬁmh dhohG gbpdwuwnhdwG k (1...3 °C)
UG nbiwypnud, tpp hwuwlp sh wwpwgynd, ebipdwGtphnunwiGpp n-
pnanud GG (25) pwGwabing

Q" =X Ky F(t - tg) (1.181)
nputin K, - hwunwyh gbpdwihniuwlgdwl wwjdwbwlwl gnigwlhyG t,
Jwn/d? °C

F - hwwnwyh dwybpbup, |2
t; - gpnibunp gbipdwuwnhdw(p, 17...26 °C
t;-fugh Gtpunwd onh stipdwuwnhdwlp, °C

UwnGwpwOh wwunjwoplph U wpuwphG wwwbph dwybplunypp
dwnwqujpynd £ wptiquyhg:

Uptiquyh dwrwquprltphg ghndwﬁhnhnumdﬁhnn Q"4 (Yw) npnynud
&0 htwnlyw) pwlwstnyd

= Kop ‘F-Atyy (1.182)
npunbin K, - gwilwwywuindwh gbpdwihnfuwbgiwl ppwlw6 gnigulbhyG
£, dwn/d? °C

F - hwwnwyh dwytiptup, |2
At,, - gipdwuunhdwGGbph wybigniywihG nwpptipnipnitp, °C

Uptiquyh dwnwquwjpeltph stipdnipjwl pwlwyp Ywhujwd b uwnlw-
nwlh nhpphg (wluwphwgpuwlwG jw)GnyeniGhg), dwltipunyph pGnyphg b
YnnulGnpnonwihg’ puwn wotuwphh Ynndtiph: -

Swpp  wwlhpwowsyh hwdwp gpdwunpdwGbph  wybigniyw)hG
mwnphpmpjmﬁn Yuiudws £ dhwyl Gipydwoph tpwlghg U Ywiudws st
YnndGnpngnuihg  nt qwjGnieiniGhg: 3wpp  wwGhpwowsytiph  hwdwp,
wnwlg (Unig) GEpyqwoph, stipdwunhdwGlbph wybtigniywihG wwppbpni-
pinGp plnniGnw &G 17,7 °C, pwg gnyGh Gpyqwopny” 14,9 °C:

dpwOwjhG wwlhpwowsytph hwdwp gipdwunpdwlGaph wybigni-
YuwjhG thwppbpniginGp (°C-ny) nﬁr}mﬁmd 60" Yuiuwd wytuwphwgpw-
YuwG (wjbniRymlhg.

hwpwywjhl gnuint hwdwp 15

dhohl gnuint hwdwp 10

hjnwhuw)hl gnunnt hwdwp 5
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UpwinwphG  wwunbph  hwdwp  ebpdwunhdwGGph  wybigniywjhb
nwppbipnnilp Yupbh b plnnilt) pun wynowy 1.14-h:
Unmwwly 1.14
WpdwuwnhdwlbGbph wybignijwihG wwppbipnenGp wpunwphl wwwnbph hwdwp

Wipdwunhdwbabph wybigniywihG wwppbpnieniap (°C-nd) pun
wyfuwphh Ynndtph YnndGnpngduw

Nwnp 3w U6 [ 3ud [ U6 [ U [3ukf3us]3
Uphuwphwgpwlwi jw)Gnientl
40° | 50° | 60° 40°%hg dhG;l 60° l
Pbwnnlb 5980|9888 (10098 | 11,7 |51 |56 |0
Lnwwynp

wywqny 3614960/ 54 | 6160 72 (32 (350
wwwyw dp

Unig B
wywgny 51(71(85| 77 |88 (85102 | 45| 49 |0
Lywndwdp | | | B

Jwyqwplh dwdwlwy hwygh 66 welnd wpbquyh dwrwqw)rlbph
olipdnipinilp, npp Ghppwihwlgnd b nwlhpwéwslh ni wuwwf dheny U
n0h wibOwdtd Jwybpbup:

UwnlwpwGGbph Gujuwgstipnd pninp fugbiph hwdwp, wGywfu Gepuh
obipdwuwnhdwlhg, gquwlywwwwdwh dheny Q; ebpdwlL phnunwillipp
pGnniinu 60 wewytjwgnyl wpdtph 85...95 %-h swihny:

1.6.2.2. REMUULEMINUARULENE PENLENH S
uunuuruLushl Utusuul suuuuuy

Nuntigdwl b vwrbgdwl dwdwlwy dpbippltiphg htnwgnn etipdni-
piwh Q, pwlwyp Ywnbih t npngt htinbyw) pwlwatny’
. 1000
Q, =R-Ai-—= Jdun (1.183)
npunkin 8 - delipph opwlwh dnunpl t funig, w/op

Ai - dptipph uygplwlwG U yYbpebwlwl ebpdwuwhdwGGbphG
hwdwwwwnwuppwbnn nbuwwpwp tGpw)whwbbph wnwp-
pbpnieinilp, RAYyg ’

1 - Upbipph vwnlwpwGwihG Gwldwh wunnnendp ., ¢

1000 - wnGGwatphg Yhingpwdh YipwsdwG gnigulhyp,

3600 - dwdtphg ywipyjwbh Yepwodwh gnigwbhyp
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200 w-hg pwpdép twpnnnipjudp fugtiph hwdwp dpbipph opwiyw
dnunpp pGnnlnud &G fugh wwpnnnipniGhg 6 % U 8 % wytih thnpp nw-
nnnramwdp fugbinh hwdwnp:

RrEnRGERN tEuwwpwp tGpwwhwlbpG puwn sbpdwunhdwGh phn-
Jwd 60 hwybwé 1.9-nud: : S Piwsh e

UrbinpQtph dbswdwuGnienip pGnniGymd b wwhwwGymd & tnwpw-
ind, wjn wwndweny wlhpwdtpn t hwdh wnlb| wwpwny jugtp Gepu
pbpYnn gbipdnieiniGn: '

Swpwihg ebpdwlbphnuniGpp npnanud 60 htinbyw) pwGwabng

1000

7-3600
npunbin Qm-G: wnupwih opwlywh dnunpG £, w/op
Cm-\ﬁ wnupwih nbuwhwpwp spdniGwynipniGp, Yq °C
tn Ununph dwdwlwy nwpuwih otipdwuwnhdwap, °C
- biph dwdwbwy nwpwih etipdwuwnpdwap, °C

Q=8 Cp(ti-t,) (1.184)

Swpwih pwyp pbnGbph push hwibdwen Ywaqdn £ 10..30 %, huly
wuuglqb nwpwih hwdwp® 100 %:
wpwih wbuwwpwp stpdnlwynipinilp (A4g °C) plnniGnid &G
Yuhjwd wiG Gniphg, nphg wyG wwwnpwungws £ i

thujunt - 2500
unyupwpenpb 1460
dbwnwnb ‘ 460.
Ly 850

UwnlwpwG pspynn dpbppGtph oipdwunhdwlp Yupk GnniGk)
wunbigyws dpbipgGlinhGp* 5 °C, uwnbgyws dpl:ippﬁl?nl[.l]ﬁnn -lg °tCFLn£|uEJl—
ubu swwnbigws dpbippltiph gtipdwunhdwlp pGaninid GG wnuwph(
onh gtipdwuwnhduihg 5...8 °C guop:

s/..

d - 1.6.23.26PUULEPINUNKULGPR thLNkR3NRLLE

0TUPNUUL JUUULUY

Onwinfunwp Yhpwen b6 gpajwlwG Yud

I npwlwh gbpdwunhdw-
Gpny ohGnipiniilspnid® hnunbih U funGuimpjwl htinwguwl Guyunwyny:
Undnnwipwp uwnbgyws plinGbph fugbipp 366 onwiinfuynu:
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Q&pdwabphnundGepp npn2nud 5G hbwlywy pwlwatny

Q, = By, (in - ie) (1.185)
nputin 8, - onuthnfugnn onh puGwlG £, Ya/dny,
i,~0 - wpuwphG onh wbuwyuwnwp EGpwwyhwa, /Yq,
i;-G - Gtipph( onh nbuwlupwn Lipwiwhwo, Yyg:
Onh topwiwhwlbpp quGymud G0 i-d nhwgpwdhg hwiwdwG hwOalw-
pwpywd otpdwunhdwllbph U onh hwpwpbpulw hunGwynipjw:
Onwtihnjudnn onh L4, (Yg/lny) dwhuup npngnid GG wyG hwyny, np wwyw-
hnyyh opwlwb onwihnfunipjw pwqdwwunhynenilp dhGsl 3 dwifwy
V-n-poqy o
R = —: . 1.186
 24-3600 ( ) '
apwbn V - onwdinfudnn ohGnipjwl dwdwiG £, 0,
n - onwihnjuwGwyniwl pwqiwywwhympimip,
P - O futNMR(NIGD, Ug/d®:

1.6.2.4. WAUULELINUNKULENE tuiluanroUul duvuLUy

L jwd otipdwGphnunuiGtinp wnwpwGmd &6 Jugbpp inuwynpdw,
ugtipnd dwpnyuig quaytint, Eaynpuywndhsh woluwwwbgh, nedtpp
pughint hnlwGpny: bpdwltphnundbiph hwpywplyp Yuunwpnid &G pot-

nuipwhgp ntwpnud wnwhapG:
Qbpwhtphnunuiltipp nuwnpdwh dundwlwly

bpdwhtphnunwdGiph hwyqupyp' -G (dw) Guwwpgdmd £ hwnljwy
pwlwauny
q. =AF ‘ (1.187)

apnbn A-G ghpdnipiul pwlwyl k, npp qnjwlnu & (uwynpmipjwl
hbwnbwGpny, dwdwbwyh dhwynpnd, 1 & hwwowlh Ypw, 1,2

dun/d? _ :

F-p fugh dwibpbup, U%:
QbpdwGkphnundbbpp fugtipnud qunldnn dwpnywlghg

bpiwibphnudwa hwguiplp” gz-0 fuwuwpynd b hbitnlyw pwGwalny
q, = 350 x n dn (1.188)

npuntin 350 - hapwlw dwbn uphuwnulen dwdwlwy UGy dwpnat
otipdwlguwwnnidp, Hwn
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n - ndyw; 2hanmpywi dbe woluwwnn dwpnywbg phyp:-

Chlnpjw Jbg wluwnnn dwpnlw )
g phup pOnniGmd 60" Yuuywd
tugh Jwybpbuhg, ugh dwybpbup dhGsu 200 ¥* 2 2
P e, p dhGy ..3 dwpn, 200 d*-hg

thdwﬁhnhnunmﬁbnp tiGYwpwawpdhsh waluwinwbph dwdwbwly
QbipdwlbphnunwiGbpp® g, npnonud GG htwnlywy pwGwatnyg’
q; = 1000 N 'n (1.189)
npwntin N-p* blaywpwowndhsh hgnpnigmGa &, o

Luwplwywh hwydwpllbph hwdwp nb
nwnpynn bikywpwowpd
hqnpnyzimiGp (Ydwn) ugbipnd upbih £ dnnwynpuwbu nﬁl}[:llﬁ%il.p hat

wwntgyws ptirGuph wwhwwldwh hwdwp 1..4
wwnbgdwh _ 3.8
uwntigdwG 8 16

QupdwatphnunuiGipp neGbpp pwgbiine hinbwbpnyg

U hwzwplyp Yuwwnwpnwd 66 pun hbnlyw) pwlwdalip

ki B-6 bq,:]= BF Yn (1.190)
wnbin B-G" gbpdnipjwl dnunpl £ nrGepp pwgtijnt htnbwG 2
F-p" Jugh twlpbup, & o B, Hald

bpdnp)w dm(ngp pOwpnd GG wnynuwy 1.15-hg:
Unynwwwily 1.15

RWipdwhtphnundGhpp 6 b pwpdpnye)nd
ShGnipyniGGbp nifiignn ugkiph hwpﬂu?np o
dhlglt 50 02 | 50...150 0% | 150 d*-hg wit) |
Muwnbigdwb jughip 23 12 1%9 e
Nwnbgws debipplbph
wwhwwidwl jugbp 2 15 12
&hgdm& jugbp 32 15 12
Uwnbgqwd dpbpplbph . '
|Wwhwwidw jugbp 22 12 8

bugbinh wy pwpdpnipjwi nb
1G niypmd ghpdwlbphnudwG wpdtipp wGhpw-
dtign & hnub) pun hwdwwwunwuluwG pwpénpnipwG: ndtipp wlhpw
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Swhwgnpoiwl dwiwlwy otipdwhGtphnuntdGipp npnond 60 npwtiu
wnwGsh6 spdwGhphnundGliph gnudwp

Q, = Qq * Qo+ Qs+ G D (1.191)
fipng nbwpbpnwd ouhwgnpdiwl dwiwlwy obipdwlbphaundtnp pl-

opGtiphg U 2hGni-
nGnwd GG ohGnyeyniGGtiph gwlywwywwntiph Yuwrnigwop
g]mﬁﬁbph onwthnfunipjwl dwdwlwy wpuiwphb onhg gtipdwGtiphnund-

Gbph 10...40 % gwihny:
Q, = (0,1..0,4) (Q, + Q) (1.192)
bugbpnud uwppwynpnuiGeiph SwipwptinGywsnipinilp npngnud &0 -
(jw fugh utig wdpnng obpuwaGtphnunwiGtiph gnuwpny 2 Q

3Q=0,+Q,+Q,+Q, (1.193)

YndwpbunpwihG nbnwlw|wlph hwzd:wpuwjhﬁ gnuwpuwnpniinp
npnanud GG hbunbjuwy pwlwalh oglniejwdp

Q, =§%ﬁ dwn/d (1.194)

npintn Z-p° uwnGwpwluihl Jbptilwih wafuwinwlph inbnnnipniGl £
opyw plpwgpnd, ¢ (17...22)
8-G' YnpnuwnGbpp hwadh wnlnn qnpbwyhg (1,12)

bluGninghulwG
UwnGripjwG  Swluup, npo oginwgnpdynd £
uwppwynpnudGiph Ynndhg Jpbippltph [abpdhu JpwdwG hwdwp, Yupblh
£ npngby htnljw) pwlwalh oglnipjwdp

Q. = Mooty —p) 41 dunid (1.195)
" 36

npuntn M-p’ ﬁwnpwl{nndwﬁ wpqupnqwhwﬁmplmﬁﬁ t, Ya/d,
c-G" dpbinph gbpUniGwynipiniGp, Ayg,
t,-p W tp' dphinph hwiwwwunwutuwbwpwp ulyqplwlywb b ybpg-
GwlwG ghpdwunhdwGGtpp, °C

Gty wkjuGninghwywh uwppwynpnudGeph woluwinwlpwihG gpu-
.‘]Jhuhgl;‘ luiqdnf':i blﬁ nbjuGninghwlyw0 Owwwwylbpp U qulgf:ju;udmwh
dplppltph wwhwwOdwo fugbph wwnbgdéwl hwdwp uumﬁraxra}ujb h
thG dwiuuh wdthnthhg wrynwwl: Cutn wynwlh npnontd & qnup wpl:jj ot
vwnlinpjwl dwiw)hl wrwbjwgnyl dwfuup, nph hhdw( ypw plwnpnt
yndwptunpwjhl inbnwywjwbp:
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1.6.2.5. Q6LUULEMANUNRULEN R 3UTYUNYLErh Of,PLUNLEE

1. Npnoty etindwlbphnunwilbpp pwafuhy uwnlwpwbh vwnbgjwd
Jebppatph wwhwwldwh fugtipnd: Canpdwd t wayymbw)hi fumg 470 i
nwpnnnpjwdp, nph dh wwwp gopu b qughu wynndbpbGwih hwpewl:
fugh dwltipbup 302 U2 L (24,4x12,4), dwdlh hbdwlh pwpdpnyzmbp” 6 U:
Nwwnbph pwpdpnipnilp, hwydh welbng dGynwwgnidp, 7,7 d £, wpunw-
phG wwwnbph Gphwpmpymip 24,88 0 L 12,88 4:

tugnud onh gbpdwunpdwp t,= <20 °C k: Onp opewbwnnipinilp plw-
YuwG £, wwnbgnuip wowunwnwhG b dhewwwwihG dwpwyngltiph dhen-
gny: '

UwnGwpwp qunbdad £ Swohpnd: Iwdupyh hwdwp paniltnd Bop
hbwnlyw) wyjw)bbpp. dhohl wwpbywh gbpdwunpdwhp 11,6 °C, hwyjwp-
GujhG wpwwphG ebpdwunhdwlp wirw opewlmd 35 °C:

Ywhnjwd wjG pwlhg, np wywy ophlwynd deynwwgiwd hwodwpy
h ywunwpyby, gbpdwihnuwGgdwh gnpswyhglbpp plnniGnud GGp hwdw-
dwyh wymuwl 1.12-h, wprnwphlt guwiywwywwbph hwiwp hwiwwyw-
nwuliwbbglbiny wyjw|Gbiph htwn® GepphG wwwnbph U dheGwwwinkph
hwdwp (4nni? °C).

UpwnwphG wwntin 0.21
Twalbn 0.20
Lbippht wwintip 0,28
Uhglwiwjwintip 0,58
Fwinwl nwpwgnuing 0,21

WpdwltphnunuiGbpp vwelwpwh lugbph gwijwwwwwihb Yweng-
JwdpGhph dhond npnpnd Glp hwlwwwwwufuwl pwGwdlbph oglnip-
Jjwip: Upiquyh dwewquwpGtiphg wwuwnbph dheny etipdwlbphnudwl hw)-
Jupyh hwdwp pGamGnid tlp vweGwpwGh Ynndbnpnonudp wywnndbipblw-
ih hwppwyny nbiwyh himuhu: Yu ghiypnd hwydh 66 welnid sEpdwGbphn-
unuiGpp wpbqulh dwrwquipllanhg, dwolh & wwwnbkph dhengny, npp
Yrndbnpngdwsd b nbiwh wplbp: Cannilnud G0p, np nwGhpwswdlp dnig t
{8t,,=17,7 °C), huy wwwnh udwnp pwg gnyGh & (At,,=6 °C):
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Uymuwly 1.16

K, dun/u? FF "

Swllwwwwn - oc At, °C Qy, Y
Untnwpht hynuhuwghl ) 5 4 192 55 2218
W

Upwuipht wplbyu 0,21 100 | 55/6* | 1155/126*
wuwn |
Uhglwwww' fugny

oo G 0,58 188 0 0
vlinph( yuin, nbujh 0,28 98 34 914
Jdhowlgp

Twdy 020 | 302 | 55117.7" | 3322/1070°
Jwnwy 0.21 302 21 1332
Canhwlniyp fugbipnyd - - - 10137 |

* hwpnwpwpnyd phpYws 66 hwiwywnwuuwiwpwp sEpdwunpdwGieph wnwp-
pbpnyeynuiGtipp L 9bpdw GEphnunwiGtpp wpbiqwlh dwnwqu)pGtnhg

RbpdwlbphnunwiGlipp plinGtiphg bwywpynud GGp hwdwwwnwu-
fuwl pwlwdlny:

Pnltph opwywl Gepdnwdnwip wwhwwldwG fugbp Yugqdnd £ 6 %,
fugtinh twpnnniGwynieyniGp’ M = 0,06x470 = 28,2 wn:

CanmGynn dptipph otipdwuwnhdwip’ -8 °C, nnipu ptipynn dpbipphlp’
-20 °C: Uptipph nbuwlwpwp tGpwwhwltpp, npnlp hwiwwwnwuluw-
O GG ndjw) 9bpdwunhdwGGbphG, wwywph dup hwdwp pGralnd Gap
i, = 39,4, i, = 0 4yq:

UwnlwpwGwihG dowldwh wbnnapinlp’ == 24 dwd:

Uptipph stpdwGtphnunwip uwnGwpwlwihG Jowydwh pGpwgpnid.

_ 28,2x39,4x1000x1000
- 24x3600
Fwywpyh dwdwlwl wlhpwdban & npwnpngniG nupdGl| pw-
Gwalnud bnwe dednpynlGGhiph dpw:
RbpdwbbphnunwiGlipp onwdnfuynn onhg Q,=0, pwlh np uwnbgwd
plnGbph wwhwwGdwG fugbipp s&6 onwihnfuynid:

Cwhwgnpddwl etipdwlliphnunGlipp hwpqupynd b0 hwdwww-
nwuliwh pwlwdbh oglnyejwdp:

4, =1,2x302 = 360 4w, q, = 350x4 = 14004wn, g3 = 0 Y,
| 90

Q, =12860 dun

Q4= 8x302=2416_‘{m, Q, =4176 din .

Fwwnyh dwiwlwy Yepgin bGp ebpdnipjwl pwlw , n
Luﬁgwmqratdul; \[muwinpnép]mﬁhg‘ A=172 le/d%, r|]ugnr:g wzh?wmnrlimdwnr:ﬁ
wlug pwlwyn n = 4, nbuwlwpw X
tu g 3m/dz: n Ywpwp gbpdwGtiphnunwdp nnGtiph pwgnudhg

bunigp wuwnbigynd £ wnwuwnwnwht b GEpwwinwihG dwpunyngGh
dhengny, EjlYwpwywndhyGlp fugbpnuw wnbinunpud lgbﬁ, hnlitnliltluszrzuppl3
g3 = 0: pdwlbiphnutiph unwgyws wpnyniGpGtipp qpwlgynd GG wnni-

uwymd, npubu dwhpwpbinGwsnipinit nyjwy fugh vwppwynpdwG Ypu:
Undujpbunph SwhpiwpbnGywénipinitp Yuaqdnid E. qwlywwwunbphg'
100 %, Upbpphg stipdwdwluws duwdwlwy' 60 %, jwhwgnnpduwG obip-
JwGbnphnuniiGliphg® 75 %: bGbny danpnhhgwihg U hwydh wnGking 4n-
pnwinGipp, pGunpnd 56 Yndwpbunp wnwybiwgnyl SwlpwpbnlGywsni-

Pjwl bwdwp' XMA Ywd AY dwylhpGlph:
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Ywph U hwpGwdetppltph Yuaqdp

Jurfbpjwo 1.1

NupniGwynipinip, %
LYwpeliwdptpp
: jninp 32uU-p
1 2 3
u.lb 312 811
Unyp Ywp ymumhnhqmgd_ 22 >
1.5 8,2
jnnwgauly - 3,;
Jupdwlnwbth hwwd/ | 4,0 ,
uwhwnwyniguip@ | 2,5 10,5 87,0
snp wlwpww | 250 71,0 4,0
snp Jninwgnipy - 96,0 4.0
Qnp ubip 42,0 52,0 €73(())
2np Ywplwppywiht Jdptipplbp 235,20 6;,10 38',7
Jutn® 3:0 10,8 86,2
- 8,1 91,9
76,0
UwdniGh Jwonty 1;),20 184,;) 189
¥ 1] 1
el | 25 8,1 894 |
1,0 8,1 90,9 B
i 6,0 10,0 84,0
n ,
?}?Sggﬁuw 6,0 14,0 | gg,g
oo 5T 940 o0
Ughnndhywht dwéndy \ . 182
@pquutip 30,0 64 | 636 |
- 25,0 6,5 68,5
20,0 73 | 72.7
f nhtwpy | 15.0 7,6 ;Z.‘;
8,3 ;
upuwymguih | 10,0 .
5 e =
8 20,0 7.5 )
Ubp wwuwbppaugdw 208 o5 =
8,0 78 84,2
65,0
Gwplwone jmnwih 198,(;) 1;,8 2
ldjhol;nwll:mwm : 20,0 80,0
qnuuwywl 5,0 20,5 74,5

92

2 3 4
ubnwah 2,0 22,0 76,0
hunhniy-phbwnply 4,0 19,0 77,0
- 21,0 79,0
nlwlywh wwlhp 4 177 78,3
- 21,0 79,0
«UGkidnly» pdwbihp 34 8,8 80,8
Ywpwg ubpwhwpwg 82,5 1.5 16,0
uhpnqulwi 78,0 2,0 20,0

1 2 3 4
gninwlwl 725 2,5 25,0
pnunbpppnnuwihG 62,0 3.0 35,0
Jningnnjwl 82,5 1,5 16,0
nlnjwnuihG 62,0 1.5 16,0
shdlwhwpwg 82,5 1,5 16,0
hwjwd jnip 99,0 0,3 0,7
Pl «hnbwpy 1,0 8,5 90,5
Nwbpp’ Cybjgwpulwl 29,0* 29,0 42,0
UnJbunwluwl 29,0 29,0 42,0
Anqwlnwlwd 257 31,3 43,0
28,0 28,0 44,0

nnlp 30,0 30,0 40,0
Muwywl 30,0 30,0 40,0
Qnnbip 15,6 36,4 48,0
Qulbw 25.0 25,0 50,0
20,0 30,0 50,0

Lnnh 28,0 28,0 44,0
Fwypwlwl 27,0 27,0 46,0
Noydnp 27,5 27,5 45,0
Pphlqu 25,0 25,0 50,0
20,0 30,0 50,0

Unynignilih 22,5 27,5 50,0
Qshp 4,0 36,0 60,0
Guip Gwluyhl 8,0 32,0 60,0
Qupnid 248 30,2 45,0
UlGwih 16,0 24,0 60,0
3,5 31,56 65,0

bntiqhwanp 25,2 30,8 44,0
Upwgws 26,1 31,9 42,0
Rup 225 22,5 55,0




1 2 3 4
3niqwqniply - 40,0 60,0
Swpud wwbbp” Swlnwp 28,8 19,2 52,0
JnyGug 26,4 21,6 52,0
Tpnidpw 26,4 21,6 52,0
Chpwl 25,0 25,0 50,0
Spuwgqnwb 22,5 27,5 50,0
Upwpu 21,6 36,4 42,0
Cnlnpunwihl 19,5 45,5 35,0
Nwqwwnwy'  Swpebwih 35 10,0 71,5
Ubpw;hG 10,0 10,0 66,0
Mndphp 15,0 10,0 60,0
tonwgpwd wlwpwn Ywp swpwpny 8,5 20,0 26,5
hwnwgpw winin fwe swpwpny - 26,0 30,0
hnwgpws wlwpwn Ywp zwpupn L | 7,5 21,0 27,5
wlwnind
hunuigpuad ubp swpwpny 20,0 17,0 26,0
Uwnbiphihquigywd rnwgpuws fupe 7.8 17,7 74,5
Uwnbphthqugywd pwnbnipnltip® ,
Jhnnjwlw - W 3,6 8,8 84,9
1 2 3 4
Uwynunfjw 3,5 8,1 87,0
Uuiho 3,5 8,1 87,0
Ehojwlun 3,2 8,8 84,0
UwlwlwG Yadhp 3,2 8,5 88,3
Uwhywiywl Yuplwonn 15,0 10,0 75,0
Yuwplwihl snp juwnbnipnbbp
Uwihg hlinluwgnpblny 250 57.8 25
Uuwyinunlw 25,0 47,8 25
Jhunnjwln 23,0 49,7 3,0
Hawnnpuwlwn 27,0 28,8 2,0
- Ughnndhiunhl pphiany 25,0 48,3 4,0
EGwhw hwywwlbshuyhl 6,5 23,0 7,5

* wwliph pwguwpduwy jninw)GnyymiG £, %
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1 0% ugh dwlbnbup Ypu

-

Upbinph wGywGnisp

Swybpjwy 1.2
| prﬁmdpbnpﬁbnh nbuwlhwpwp bwﬁnwpbnﬁt{wbnlpjmﬁn 4q-ny)

SEuwlwpuwp

dwlpwpbinGywon-

pIMGp, Lg/d?

1

nnynwyGlipny

Ywe U nhbwhy Guplwdptng 2

0.5 | wwpnnaipwG 22tpng 200 —[
0,25 | wpnnmpjwi 226pny 120 W
0.5 | vwnnnnpjwl punuGpb 280 7

1,0 [ rnwnnnnipwl pwnw(pb
nnynwyGhinng

1.0 | vwpngnipjwi ppb thwpebipGtipny

B Huwpluwgnn pudGhdnunyws, wplntpny |

475

(f:r;qmubn wnuhbipny Guais pwdwlGlipny
2 | nwpnnnipjwip :

110

Ughnn $hiw G dwénil, wyuls
pwllwitpny 0,2 [ wnpnnmpjwdp

110

YwRlwgnpw)hG wwlphyGtip

Ywnwq wplynbpnyg'
2 jwpniy

3 jwpniy
-

4 jwpnw

Jwjws join wwhwnltpny'

2 Jwpnu

3 jwpnw
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Jwybijws 1.3

Jwywplw)hG SwhpwpbnGwdmpntip wnwnpdwl wywqGh U
hwuniGwgdwh GYninGtph hwdwp

—~ 2
MuwGhp wpyabpny 600
Jwiwd wwbhplbp 180
Nunwwnwy 290
nwgpws Ywp owpwnny 750
np Ywp wwnytpny 600
Ywplwiwpwn wwplytipny 1200
Cwpwpwywq 1500
Ubpuwyph wn 575
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o | 6pynujwpniny | Gpbp jwpniny
| ptnGupynbph | ptoGwpyntph
s | wbnunpdwl nbnunpdwG
Mwlph Ub qiuh | S & | dwdwluwy 1 02 | dwdwGuwy 1 ¢2
wGywhndp Yohep, 4g | S = | wywqulh Ypw wywquGh
: & | bwlpwpbnl- Jpw dwlpw-
g Jwompynilp, pbnGuwoni-
Y/ pINGp, Yg/u?
tybigupwlwh 50...100 | 400 780 1180
UnybunwywG 12..16 | 420 840 1260
Injwlnwlwd ' '
wnynuwdl Jbo 5..6 410 820 1230
wrnynwwdl tinpp 2.23 250 500 750
Yinp 2.23 337 674 1011
MnotfunGywh 3,5..7,5 | 220 440 660
YUnunpnidjwl 9..12 262 524 786
Uwnbwylny 5..6 247 494 741
NnwwunwGjwb :
dtd 11..13 | 320 640 960
¢inpp 7.9 | 360 720 1080
Mnydnp 2,0..35 | 275 550 825
Ywdwdpbip 0,12.0,1 | 41 92 123
4
Qulwju Yinp 4.7 400 800 -
ulwu 4.6 375 750 -
wnynuwdb
Lnrh 4..6 380 760 1140
Fupjulwb 4.6 375 750 1125
UnymgniGh 0,5..1,1 | 364 728 -
Pphlqu 1,0..1,5 | 275 550 -
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JuwybjJwd 1.4

dwdwlwyh funznpwgywsd Gnpdbpp YwelwdptppGbph wpunwnpniewa
hwdwp-

dwidwlwyh unanpwgywé Gnpdtipp

£ | (Jwpn-dwd) dhwynp wpinwnpwGph
= hwdwp htwnlywy hgnpnigjudp
2 (w Yup htppwhnjunid)
UptippGtin = gnpownwGGhpnu
3
;g,- 50 100 200
1 2 3 4 5
Ywp n
pywqubtpnid 44 2,95 227
2tpnud 7,24 4,83 3,72
thwpbpltpnd 5,84 3,89 2,99
Thenhly wpnwnpwip n
ptpdnuunwnwihl bqwbwly 9,9 66 5,08
nbqbpynwnpughl inwiwly 9,6 6.4 4,92
Ywplwznn  (wdwlnuwlwb [ wn -
bwGwly)
pwwh( 28 18,8 14,4
thwplipwynpud 425 28,4 21,8
Uwplwznn hudind n 16,4 11 8.4
NwOphluihl quiqud 0 46,8 31,2 24
Ywpbwnnwih( wwbGppyGlip n 68,8 344 26,4
Prywubp n
pwwjh@ 18,7 12,4 9,6
thwpbpwynplwd 28,1 18,8 144
Nunuunwy (pwdwyGbpnd) o 125,6 86,6 59,8
TMwkhplbp 0
junnp 186 134 108
fingn 165,5 119,3 96,1
wnwonwih 59 575 . 49,2
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1 2 3 4 5

Ubpwlwpwq n

wwppbpwpwp nwbwy 33,9 29 23,6

wlplOnhwwn binwGwy 20 15 11

hnupwjh0 bnwGwl 25 18 14,5
hunuigpws Yup n

Jwpwpny 6,8 3,04 2,31

uwnbphihqugywd ‘ 7.2 3,2 2,42
Ywp snp wlwpwwn \n

Upwhwn-wnnwpwllbpmd 20,7 15,32 10,48

pw(lwlbpnud 24,5 41,42 31,37
Ywplw)ywpwp | wn 110,9 94 70

Yphunwihquin 442 35,5 29,6
UY® (whwpww Jupeh n
thnfuwph(hy)

htinniy 3 2,7 -

nn 44 1 26,1 20,9
LwqbhG n 108,2 83 -
2np jniqwgneply fup n 51,5 30,5 - 24,4
Lwunppndh fwqbhGwun n 1477 87,5 70
Chdniy \n

junwgpwd 16,5 10 5.8

s ] 455 39,7 318
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Juwybpws 1.5

1w wnm(urmwﬁph Swluuh GnpdwGlpp 50 w/htipp hgnpnipjwdp

gnpdwpwbned

. 1 2 3 4. 5
Yuwplwywpwp 1130 240 44,5 529,1
Chdniy

snp 1300 90 19 597.3
junwgpwd 879 45 7,6 307,2
Yuwgbh(-hnwip 80 45 3,0 853,2
onp 450 110 15 682,6
Lwuwphndp  YuqbhGwwn  gnp | 1690 30 25 170,6
Yuqthlpg
UpnidhGuijhG 9nn 182 7 3,2 853,2

Upbipplbip . =
235 - < &
s T® = = S e
5SS = < c =
T2 & Fs | 3a
1 2 3 4 5
Ywp judbnt
22tipnd 47 55 0,4 166,8
thwpbpltipny 32 5,5 0,28 166,8
Rrnt jwprlwdpbpplbp
phpdnunwnwhG bnwlwy 52. 55 0,84 368,6
nbgtipdnuwpwih0 bnwlwy 35 5,5 0,67 2321
Ywplwsann
pwowih( 120 37 1,20 3754
thwpbpwynpdwd 128 37 1,28 375,4
thwihnhy ghbiwhy 190 23 1,55 716,7
Nwlphywhl quibqiwd 121 37 1,15 365,2
NulphlGbp YupbwonnwihG 131 37 1,22 365,2
Ppywubp
| pwowih( 60 39 1,94 358,4
thuwpbpwynpywd 170 39 1,64 358,4
Nuwnuunwly 9 37 0,3 887.4
NuwbGhplbp
funonp 250 60 12,8 1467,6
tnpp 180 60 9 989,8
wnwenwihG 125 60 6,3 648,5
Ywpwg ubpmgpwih( 330 65 4,8 716,7
Ywpe unwgpwd
2wpwpny. 120 6 2,7 325,3
umnbiphthqugywes 140 5,5 31 176,4
Yuwipe snp wlwpwn 830 55 15 392,5
UGwpunwn Ywph thinfuwphGhy
hbnniy 20 3 0,41 85,3
snp : 871 60 15,9 443,7
Qnp jninuignipyy Yup 950 65 17,5 498,3
100
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| 4 | 3hnpnhgny 0,29..0,35 ]
5 | Mpqudhi 0,14...0,18
6 | Mnipbipnhn ‘ 0,14..0,18 | —,
ChlOwhjny
1| Wpdwdbnwhy Luuphutmu-h ‘] . —
| qbUbGuugh ety 0,093...0,130
2 | UupbunwgbdbGuughG phpbn- 1
uuﬁuuwlgp IhG phptin 0.35
3 | Ptiuing 1,0...1,4
4_| bplwppbinng 1,4..1,6
o | Unjnuwpwpdwép 0,32
6 | wdpwpk 2wpywdp 0,93...1,30
7_| hbigbpwn 0,46...0,70
L 8 | Smd 0.46...0,58
9 | hwpwdwpbinng 046...0,70
10 | 86dbGunwghG uduwn 0,88..0,93
11 | Ujug |  046..058

Jwybijws 1.7
pdwdtynwhs Gynebph hhdOwlwG pGrewghpp
Rbpdwhwnnp-
' nwlwlnip|wb
33 Lnip hwojwpywihG Lwwuwwyp
gnigwlhzp, 4wn/d
°C
Rbpdwdbynuwbjnpbp
1| MnhunhpniwihG dhpthpuw- 0.047 B
wjwuwhg uw)bp Yhp-h |
2| Yngun wnihnipbnnwbhg 0,041
thpthpwuywun Ys-101
3 | Lnylp 1gnyp Lun-3p 0,047 Pninp gullww-
4 | MnihyhGhipinphnwihG wnbiph, wwin-
thnthpwiyjwuwn ~Ywoplbiph gtip-
Ynfe-1 0,035 Jwdbynuwgd-
ynfe-2 0,047 w0 hwdwp
5 | NgniwihG dtGn $npdwinbhh-
nhg thpthpwugpwuwn 13y-1 0,058
1342 0,058
6 (| Jwlpwiiwgywsé Ynown uwibip 0,080...0,093 O
7 | Snpdwuwgbip 0,080...0,093 Lbipphl wywwnb-
8 | dpppnihviwuwitp 0,15...0,19 nh, dpoliw-
9 | Poowynp phinlhg uwitp 0,15 wwuwnbph Ju-
10 nnigJwépGbph U
hwwwlGbph
Mtphvwnnbnnnhg uwbp 0,078...0,087 dblym-uwgdws
hwdwp
11 | YbpwdqhuwihG Ynughd 0,17...0,23 Mwinduwbplbnh,
12 | Ppwd whinthin 0,058...0,080 hwnwlGbph
13 | ¢pwd Ytipdhlnyhn 0,087...0,100 JbynuwgiG
14 | Jwunhywynp pwpwd 0,19 hwdwp
15 | dwnbihpwihl wpwd 0,29
Sninpawdbyniuswlnyetp
1 | Swwnpluwih0 wudwn 0,75...0,85
2 | LwypwihG phuninu 0,18 -
3 | PnnnyhG 0,29..0,35
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wybws 1.8
Ywprlw- b duwdptpph uwnGuwpwluwhG dowldwh rtidhdGbpp

Upbipph uwnrlwpwGwihG dowydwh ntdhdh dhawnn plGupniinilp (skp-
Jwuwnhdw0p, funGwynipinilp, onh swpddwl wpwgniejmlp, dptipph Gwju-
Gwywlt b yYbpelwywl gtipdwuwnpdwGGbpp, uwnGwpwlwhl dowydwh
wlnnnipintlp) Ywplnp nbp b uwnmd debipph pwpdp npwih wwhuwGdwd
U YnpnwwnlGbpp Ypdwwndwl gnpond: Rpdwuwnpdwlph hetignudp b onh
2wpdiwl wpwgnipjwl fuhun pwpdpwgndp pny; 56 nwipu 2...3 wiqwd
wpwqwglt) wwnbigiwl b uwntigdwi plrwgpp uwrtwpwiwihG dowydwd
Jugtipmud, pln npned Gwqliglnu 6G dpbipph snpwgnidp 25...35 %-ny:

Uuh wuwnbgnuip dhwunhdwl tnwlwyny ppwyuwlwgynud b jugbpnd,
-4.-5 °C gtipdwuwnhdwlnd, onh 2wpddwl wpwgniniip Yuquind
1...2 4/, 12...16 dwd (wwywph duh hwdwp):

Epywuinhdwh Gnwbwlh ntwpnd dhup wwnligynw £ -10...-12 °C gbip-
dwuwnhdwl nilbgnn fugbipnd, onh pwpddwG. wpwgnipniGp 1..2 A £
6...7 dwdnd (wywpp duh hwdwp): Uu pbupnd dup ebpdwuwnhdwGp
Gjwqnud £ dh03l 15 °C: Mwnbigdw tpypnpg wunpdwlp ppwlwbugynd §
Jup wwhwwldwb fugbipnud  (UhGswywntignud) -1...-1,5 °C etipdwuwnhdw-
Gnud, onh wpddwl wpwgnyenip 0,1...0,2 U/, 15...17 dwd (npn2 nyjwi-
Gbph hwdwdw)l 10...12 dwd):

Uwnlwpwlwihl dywydwl tOpwpyynn dup ebpdwuwnpdwlp hwyw-
uwp k37 °C, huy wwnbigiwh Ytpgnd® 4 °C: Onh hwpwpbpwlwG fmGw-
yntpynilip 90...95 % k:

fwwpwuinh duwdpbppp (Gp2hytinka, GppbpahyGp, uwpnbywatp,
junquiynijuin) wwhwwGynid § 10...12 °C-nud” 2...3 o, hul unipnifup, pusu-
wnindwl UhGsu 15 °C, 10...15 op nbinpnie)wdp: '

nyGh dhup Gupbh b wwntglb) fugbpnd 10 (15) dwddw plpwgpnid
2 (4) dwd’ pniltyGtpnd (wnwehG phip Ybpwpbpynw b hwdbphG, pwnb-
phG, hul thwlwgdtiphlp® uwgtpp6 U hGpywhwytphG):

bugipnid onh etipdwuwnhdwlp -1 °C t, hwpwpbpwlwl fjunGuwyniem-
Gp" 90 %, Ununp gnponn dpbipph gtipdwuwnhdwlp® 30 °C, uwebtigynn dpbp-
phlp® 4 °C: '

Uuh uvwntigdwl dhwdwq tnulwlp dup YndphGwinGliph uwnbwpwG-
Gtpnud ppwlwlwgynu & fugbipnud, onh wpwq 2pewlwnenipjwdp, onh 9bip-
dwuwnhdwlp® -30 °C: Ywnbkigdwl plpwgpp wlin & 24 dwd: Ununp qnpdnn
Juh ebipdwuwnhdwlp 37 °C t, nripu tiynnhGp® 12 °C: Loyl ww)dwGGbpnd
G0 dhup vwnbglnu pwoluhy uwnGwpwGtpmd, np dnunp gnpdnn dup gtip-

112

dwuwnhdwlp hwywuwr £ 8 °C, huy naipu bynn duhlp® -18 °C: UpwldwG
wbnnnipnilp’ 20 dwd:

@ayGh dhup vwnklnd 60 fugpmd, nip gbipdwunhdwlp -30 °C t:
Ununp gnpodnn duh gbiplwunhdwip 4...0 °C t, uwntigltnig htivn® -15 °C:
YwnlwpwlwjhG dwlil nbnnneniGp Yuiudwsd £ onh upddwl plny-
Rhg, duh drwpbpwynmdhg, onh ny hwplunhp opgwlwnniewG fugkpnu -
16 (20) dwd, tipt dhuphwpbpwynpyuws k thwjink wpyntpnwd:

@nyGh duh hwunwpl uwntigdwG nbwpnd fugbipnid onh nidinuigws
2npwlwnnipjwl plpwipp wpwqwlnw & U wbnd £ 5 (7) dwd, pGn npmid,
uwnGupwlwihG dwlpdp wwpdn b pogbh GwiuGwywG 25 °C gbipdwu-
whdwlhg:

Ywpwqp uwetignd GG fugbipnd, onh stipdwuwhdwGp® -30 °C, 24
dwiqw plpwgpnu: - ,

tipp, npnlp thupbipwynpws 66 undwpwenpl wpyntpn, wwh-
wwlynd &G -0,5..4,5 °C onh gtipdwuwnhdwlp wwy (wpyntipp &G
2noynud): bpp &tipp wuhnwt GG thwpint wpynbipnd, npnlp WwhwwGdwG
2ngwlinud 2pgnid &G, on gbipdwuinhdwlp Ywpbh & hotight) dhGsl -2,5 °C:

Uwnbtigwé plinGtap funphnipn t npdnd wwht fugbpnid, npatin onh
gtipdwuinhdwlp hwywwn £ -20 °C, hwpwpbpwywh funGwympinilp Yug-
dnwi & 80...90 %: Uuf, duwdpbipph U poylh dup wwhwwGdwG jugbpnid
Gwywwnwlwhwpdwp & yuhywGt) 100 % onh hwpwpbpwlwl funGwynie-
jniG: Upbippp dnunp tgnpdnid wwhwwGiwG jugkp hpdGwwGnd -8 °C
ptipdnipjwdp: Mwnbigud pbinliph wwhwwidwl gbpdwunhdwlp Yuwiu-
Juwd £ debipph nbuwlyy:

Uhup, blpwdpbnpg b wwnbgyws pryniGtpp wwhwwlnd 66 -2 9C-nu,
onp  hwpwpbpwwG pnGwynpniGp  huJwuwp & 90 %, bpohytintkp,
wuntjunGtipp 0 °C Y-8 °C, onh hwpwpbipwlwG junGwynipjniGp 75...78 %:

Ywpeh, utiph, YwpluppqwhG Jptinpitinh wwnbgdwh fugbpnid onh etip-
dwuwnhdwlp Yuqdnd 1 0 °C, Ywplwynnh wwhywliwG hwdwp® 0...-2 °C,
tphupwinl wwhywhiul nbwpnd® -18 °C, huqws jninhGp’ -30 °C, ww-
GhpGtphlp® -4...4 °C, Ywpwgh Ywpdwinl wuwhywGdwG U wwnbgdwG
ntwpnul® -12...-15 °C: : :
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Swibwd 1.9

Urbippltph wbuwywpwp FGpwiwhwGbpp wwppbp gbpdwuinhdwGibpnu

Upbinplbph wbuwlunup EGpuiwhwibng (4R1q)
dplinpltph ebpdwunhdwGOlpnud

Swybwsh rwpnilGwlnipimilp

Upbippltinh wkuwlwpwp tlpwjwhwGbpp (4R/Y4g)

JpbppGtiph gbipdwuwnhdwlltpnuw

Uptipp

20| 18 | 15| 12 | -10 | -8 | -5 -3
Swywph dpu,
onsniG 0 | 46 [13,0]222(302(394| 573 | 753
MNsjuwphdhu | O [ 46 {126 218298385 556 | 74,0
tungh dhu 0 | 46 [122] 214|289 (348 544 | 733 |
Uuwjhe 0| 50 |13
Gpwiptng , 8244 (332|431| 62,8 | 87,9
Mt - - - - - - - | 2274
Ubpwywpwg | 0 | 3,8 [ 101|176 | 235|293 | 406 | 505
UGwpwin jup 55 (14,3252 (327 |423| 628 | 887
Uwodnih, :
Ytdhp ) ) ) ] ]
Rpywubn - - - - - -
Ywplwynn 0 | 94 (26,8]41,2|53,2/63,7| 859 | 103,0
MwGhp - |- - - - 13| 585 | 11,3
UtpnigpwjhG

0| 71 | 19,7 | 34, ,
" | 8|46,9 6241053 | 178,8

114

Uptipp

‘ 2 | -1 0 1 2 | 4 8 | 10
Swdwph dhu, | g0 o | 1855 |232,2 | 2355 | 238,2 | 2455 | 248,2 | 264,5
pngntl
Ngfuwnh dhu | 95,8 (1795 224,0(227,0  230,0| 236,3 | 2490 2553 |
tungh dhu 91,6 [170,0 |211,8 (214,7 | 217,8 | 224,0 | 235,8 | 2417
UuwjhG 109.6 | 204,0 | 261,0 | 264,5 | 268,3 | 274,3 | 289,2 | 296,0
topwdplpp
ant  |230,2|233,8|237,0| 240,0 | 243,3| 249,8 | 262,4 | 268,7
Ubpwlwpwg | 60,4 | 91,6 | 95,0 | 98,8 [101,4 (1065 121,4129,8
Hi‘;“wm 111.2(184,2 | 317,8 | 322,8 | 326,8 | 334.4 | 350,7 | 358,5
Uwénio

' . - 0 | 32|80 159314394
4adhp
RPpywulip . . 0 | 38|59 130203368
GwpGwgnn - 1192,6|299,1{302,2 2055 |313,0 | 326,9334,0
MwGhp 143|167 | 197 | 22,7 | 252 | 31,0 [ 42,3 | 47,7
UtnmigowinG | 55, 01904 4 | 207.4 | 238,0 | 234,0 | 240.9 | 2544 | 264.0
Wwnwuwnwy _
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Jwilbifwoh pwpmbwlnipnilp

Upbippltiph wibuwywpwp Lopwiwhwlpp (42/4q)

Uptinp dpbpplbph obpdwuwnpdwbiEpnu
12 15 20 25 30 35 40

Swywiph dhu,
pnsnil 270,8 | 280,4 | 296,8 | 312,0 | 329,0 | 345,0 | 361,0
Ngtuwph dphu 261,4 | 271,2 | 286,7 | 301,8 | 314,0 | 334,0 | 349,8
tungf dhu 2482 | 256,8 | 272,5 | 278,7 | 301,8 | 317,8 | 332,2
UuwyjhG :
bGpwipbpp 302,2 | 312,8 | 330,6 | 348,0 | 366,0 | 384,0 | 401,0
2t 274,4 | 284,4 | 300,0 | 316,2 | 331,5 | 347,56 | 362,7
Uspulwpwg | 138,6 | 1553 | 182,8 | 204,2 | 2214 | 240,0 | 253,6
UGupwwn
l{ul[an 366,0 | 378,0 | 398,0 | 418,0 | 437,0 | 458,0 | 477,0
Uwidnil

' 47,3 | 59,0 | 786 | 98,4 | 118, - -
W9hn o0
Rrywutip 444 | 552 | 737 | 958 | 1106 - -
LYwplw)nn 344,3 | 351,5 | 369,4 | 387,2 | 404,7 - -
NwGhp 532 | 615 | 757 | 89,6 | 1038 - -
Utipnigpuihl
) 267,9 | 277,8 | 294,8 | 311,0 | 328, .
wjununuly 0| 3446 | 3614
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14. CtenanoB B.M. u ap. IlpoexTHpoBaHue NPEANIPUATHH MOAOYHOH
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15. Pacrpocca H.K., Mopasaunesa [1B. Kypcosoe ¥ AMIIAOMHOE IPOEK-
THpOBaHHE NPEATPHATHH MOAOYHOM MPOMBIIIAGHHOCTH. — M.: Tlu-
wieBas MPOMEIIAEHHOCTE, 1976, cTp. 116-120
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LNk 2

UUbk UMM3NRLURGLNRER3UL 26NLUMrYNAR3NMLLEN P
ur13nkLuPEruyYUL LUUgTNRU

2.1. UUh Ur3NhLURGMNRR3UL 26NLUNYNRRINMLLEN P
wuwuuyurensue

- Uup wpryniGwpbpnipjwl dbnGwpyniginiGGlipp pwdwGynd GG hhdGw-
Yuwbnmd hbunbjw) wpnwnpwywh ninnusnipjwa

1. Unpph wprwnpwiwy (uywlnwing)' YlnwGhGbph U prsniGGhph
Owhlwywl Jowydwh hwdwp; : '

2. UwnlwpwG® dnpph wpnwnpuwidwuny. wjunbn Ywwwpdmd £ Y&G-
nwGhGtph, pasnGGEph dnpp U dnpphg unwgyws dpbpplhph wwhuywGnd
wwnbtgwé Ywd vwebgyws Jhdwlynud;

3. Uup Yndphlwwn’ wlwubwwwhwlwa bawdph (Juh) Yndybpu dawy-
dw(, pOswbu Gwl uGGnwdptppllph, whuGhywywh U pdjuwlwh Gowlw-
Ynipjwl wpuwnpulplbph wwnpwundwb hwdwp;

4. PnylwynGphlwwn” prynGGEPp b dwquwplbiph Yndwbpu dowydwd,
detippltiph  wpwwnpnipjwl  hwdwp  (Gp2hYtinkG, YhuwdpwpphluwinGbp,
wwhwdnlbp);

5. Uuh ybpwdwlydwG gnpdwpwC’ duh Yndwybpu dwldwG, dpbpplbph
wpuwnpnipjwl hwdwp (Gp2hybnta, YpuwdwpphunGtp, wwhwdnltp):

2.2. UrSuMnNMESUL URLMUSHL JUtHUrye

2.2.1. YELWLPLECP LULUYUL UTULUUL UFSUCUUUUR URGAUSHL
Jucduryk UsRNIMYUL

Unpph wpunwnpwdwup dptipw)hl hwydwpyh hwdwp hhdp £ swewpnud
Owhwunbuws wpnwnpuwlwb hgnpaeyniGp, npp wipdnd £ dbYy hbppw-
ginfumid nuynpny Juh wpunwnpnipqwl pwlwyny Ywd dnpph Llpwlw
YtGnwGhGEph quwpwlwyny:

3nwiph U wwwpwuwh dpbpph pwlwyp npndnd £ hbiwnbyw;
pwlwsduny®
U,-100

L,

Uy = \ @.1)
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npunkin’ Uy, - YtGnwGhGtph ytGnwGh qulgqwdh £, wn
U, - nuynpny duh qubqywon, n
U, - nuynpny duh biph hwpqwpluhl GnpdwG YEGnwlh qule-
Jwsh GYuindwdp, % (hwybjws 2.8)

YtGnwhnt hwpwpYuhG quGgywdp funznp tngtipwynp YEGRwGhGbph
hwdwp Yupbh £ pGnmGl; 350 Yq, dwlp bngtipwynp YbGnwGhGbph
hwdwp® 40 Yg, fungiph hwdwp® 100 Yg:

Unpph tGpwlyw YEGnwhGaph qifuwpwluyp hippwiinfund npnaynud
t hbwnlyw| pwlwduny

q,=U/,, (2.2)

npubn’ @, - YhlnwlhGbph gfuwpwlwyl t, giniu,
U, - 4tGnwGhGtiph pGnhwGnip YEGnwGh qulqywdp, Yg,
Ug - Uty qifup qulqqudp, Ya:
UjG nbtiwpnd, tpp ﬁwtqubduiﬁ wnwownpwlpny wpdnd GG YeGnw-

GhGtph qfuwpwlwyp b npwhg wbuwyGbpp, nuynpny dup pwlwyp jnipw-
pwOynip nbuwyh hwidwn npngynid £ htnbjwy pmﬁmbgnq‘.

9,U, U,
100
npwnbn’ U, - nuynpny duh biph hwpwpyuyhG GnpdwG £ YEGnwGh quie-

Jwsh GYuwndwdp, %:
UtGnwGhGlph dnpphg unwgyws siwidwd hnwiph pwlwyp (Ghpw-

dpbpplbp, wnhGbp, wpnd, dwpwwhmdp, nuynp) npngnd £ htnlyw)
pwlwdluny’

Uy = 2 3‘)

U=U,-L,/100, 2.4)
npnbn’ U, - ndjwy hnwdph Gph GnpdwG £ YeGnwih quGgwshg, %:

- UG niwpnid, Gpp hwpqwplyynd £ hbppwiinfunid YeGnwGhGtph Y&0-
nwlh quGgqwshg uwnwgynn nuynpny dup Giph Gnpdwiny wpwnwnpynn
wwuwpwuwh debpph pwlwyp dnpph wpuwnpuwdwund, wyw wbwp £
oqudt| (2.4) pwlwdlphg: - , ‘

OphGwy" nhwyniwih( wowewnpwipny Gwiuwwnbuynd £ by htippw-
dinfunid dowlty 50 gpnifu ubY, 80 qynifu funq (wrwlg dawldwa), 100 ginifu
Ubl:

19



hugdwplynd £ hnuphg Gwjuw-

bpb wuwpwuah dpbngh pwﬁwqﬂhwzd_wpun Ywwwpynw £ hbwnlywg

wbuywd Gnpdwinhywihl wnynubliphg,
pwlwauny’

25
Uy =Up - Ly/100, o (2.5)
w + 3
npubin’ Uy - ywipwuwh delipgh qwgqt{ Ug
Uy, - hnuph quiigqudp, Yq. sohg. %
by - dptne bieh Gnndwﬁ hn' - Unyntuwly 2.1
Upununppudwsh hqnpﬂ‘(‘"uju hwaquinyp
ji——
R TP A ol B g
Uhght tlnw( pny du
Ublnw- y ,
iy | ol | quilu- | qpoodute. | e, |
wbuutp | 2T o0 Vg be | TV be ) Upo% | TR
- 350 -—"17500 47 8,225. .
| bl 50 L8000 62 4,960
'&’;ﬂ 18:0 1‘?(;’ 4000 40 1,600
Llnw- 230 ) 29500 - 14,785
dbGp |

fwpluwG wpnymbpltiph hwdwp

- 3muph U wwwpwuwh Jdpbingh hw? hwnd
(nipwpwgymp wpmwngwdwbuh hgdw&j‘hnwwliﬁﬁgn?:;rﬁuéﬁmu:j,ph::Sp'r:i
wqul| wynwwy, nputin wawp £ wp nfunid U hb-
lt:lgﬁ ﬁr&pdwﬁ (%), wwwnpwuwnh dpbnph pﬁ&ﬁggl;lhl{]g;“&nﬁm?wdtznlgwmw-
twqw ogunwgnpdiwl nynnatenilp: pmwnw whwwly) huzqupyp Yu-
pujh U odwnuwl Gripbph (un, wpub o 50 0 wy Ginipliph dwivuh
nwnynu £ ndjw dplipph hwdup U‘“h‘j‘z Llph. W
GinpdwGbpng’ huwdwdw)G hbunlyw) puds™ o (2.6)

Ocuwiruly Gyniplinh hwduwp® U, =9 uon JwG t, %:

npuntin’ Uy - odwinuwl Giniptinh bwruuf)‘ T
Swpwip hwiwp® 8, =U /S

b Yo
* 8. - nwpwjh nwpnnayejaid
nnllln:t?nwn‘\nu hl::2$wr:{:h uuinlnd{uu it wwhwGdnn hwgjwpbwihG

Gpnud:
GnpdwGtinp Glpywjwgws 66 2.1 2.8 pwbgwdGtinnt

(2.7)
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2.2.2. 36MRUSNRuh, Ofdl, UUUYU Gy SUM YU URGMU3PL JUTYUNY

Uty htppwihniuh hwdwp dpbpwihG hwpdupyp Ywwwpndhg htinn
whwp b Ywwnwpb; detipwihG hwadwpy opdw, dwpupdnud swipwpbinGdus
wdujw b vwpyw hwdwp:

1 opduw dpbpwihG hwdwpyp yuwwpbnt hwiwp heppwihntuh hwdwp
Juuwpdws debpwihl hwpdwpyGliph wpgymbplbpp puqiwwwnynd GG
dwpuhinW  dwlpwpbinGwe opw  wpluwwnwlpwihG  hbppwiinjubiph
pwlwyny: .

ThyndwjhG Gwwgsh hwdwp Gywowlwhwpdwp £ pGnilly 2
htppwihniu:

Uwpuhind swlpwpbinGdwd wdudw hwoqupy Yunwpbim hwdwp
wdujw wlvwunwbpwihG optiph pwlwyp pwgdwwwwnyyn £ opu hbp-
pwihnfutiph pwlwyny: Upuwwnwlpw)hG optinh pwlwyp Yupbip & plnnilty
25-26 op" hwyyh wnlkiny ny wowwnwlpwjhb b wnGwlwb opbipp:

Swptlwh dpbpwjht hwzdwpy Ywuwpbine hwdwp hugdwpydnd £
npwy wpnwnpuwdwuh ubignGw)Gnip)wG gpuwdhyp: Npwbu ophGwly™ dnpph
wpuwnpudwuh hwdwp Ywupbih £ plGonlty henlywy gpudhlp.

v Unyniuwly 2.2
UtignGuGnipywG hwawplp
T ]]’ ' N
SL:Jnh. Udhu, 11213l4|5|6]7181 911011 12
Yo N
100 | % |-[4]6l6[7[7[8[9[12[16]15]10

Cuwn wnnwwyh® dwpupdnud dwipwpbrGwonipinip 16 % L:
Swpw wovwwnwlpwihG hppwihniubph pwlwyp npnggdnid £ hbubyw
pwlwalny’

Nop Mg -100
%dmpu
npntn’ Ay, - Jwpupdnw dwhpwpbnlws opdw htppwiniuh pwlwyl &

(n=2),

Ny, - Ywpuhdnud  dwlpwpbnljws wiujuw  wfuwnwipw)hG
opbph pwluwlp,

%o supu - Uwpuhimd bwﬁnwghnm{wbmp]mﬁn, %

Utp ophGwinud wolwinwbpuihl optiph pwlwyp YhGh®

n , (2.8)

wwph =
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n 2-25-100
mmnh=T

Swpyw dpbpwhG hwoywpy Juwwpbint hwdwp htppwihnjuh dpb-
pwhG hwaqwpYh wppymbpGtpp puqiwwwwnynd 66 nwpyw wluwnwl-
pwjhG htppwihnjutiph pwbwyny: .

UptipwjhG hwyjwpyp wpryniGpGtph hhdwl Jpw Yuqdynd & dpbipw-
1hG hwoywpyh wdhnhhs wnuwy:

=312,5~ 313 htipp:

: . Unynwwly 2.3
UptipwhG hwyjwplyh wdhnhhy wnnuwy
Uwpuhdnud Swpyw

UGwnedp 1 htpp., Yg | Swlpwpbinlyws
' wduqw hwdwp, Yg hwdwp, 4g
tunqg (ginifu)

tubY (giniju)
UGy (giniju)

2.2.3. 5MThUB6Lh, NUMNRSLErD BY YhUUDURTRYUSLE P
iNkULh, OJULIUY L3NKRENP B¢ MUS/UUSh UREMRb JUTHUrY

EpzhtinkGh wpwnwnpnipjwt hwaqupy

GpohYtinkiGh hwdwp hhdGwlwh U odwlnwy hnwiph hwyywpyltpp
Ywuwwpynd 66 jnipwpwlynp wbuwyh hwdwp wnwGshG: 3wywpyh hw-
dwp, npwtu hhdp, plGnnGynd GG wjw| wbuwlh hwdwp hwunwnyws
pwnunpwwndup (pun  wbjubpywlwtd wwdwGibph) b wwwpwuwnp
dptipph Gph Gnpdwa:

1. Mwhwbgynn hhdGwlwG hnwph pwGwlyp npndnid £ hbnlyw|
pwlwadlny.

B

A=—-100, 2.9
~ (2.9)

npwbn® 4 - njw| wbuwyh hwdwp d&Y hppwihnund wwhwbgynn
hnwiph pGnhwGnyp pwGwyG £, Yg,
B - ywuwpwuwnh detipph pwGwyp d6Y htippwdnlund, Yq,
Z - qwwpwuwnh Jdebpph Gph Gnpdwh hnwiphg, % (hwdwdw)l
hwytyws 2.10-h):
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2. 3pdGwlywl hnwiph pGwlp, pun duh wbuwlyGliph (wwyw w-
quunws, fungh, dwnyy U wyi), npnaymd £ htwlyw| puGwalng. unh 2
A-P

D=—_
00" (2.10)

npubin’ D - wwhwGgynn 16y wnbuwy hnwiph pwGw\G £ dkYy h
pw-
pnfuh hwiuwp o, "
A - hhdlwywG hwdph pGnhwGnip pwGwlp dtYy htppwihnfup
hwdwp, Yq,
£ -100 g hnuiphibg wyjuy nbuwyh dup pwlwyG £ pun pw-
nunpwwnndup Yg: '
3.Unp U hwdbdnGpltipt pwlwyp npngynud ¢ Y&pp Gpwd pwlwaling,

:]]Ew]g P -h wpdbiplG wnh Yud hwdbdnGpGph pwlwyG £ 100 Ygq hnwiph
2 4q:

4. Swywpp U fungh mynpny du G
pwlwalny. qh mynpny duh pwlwlp npnydmd £ hbunlyw,

(2.11)

nptin’ 4 - wwhwGeyny vwiwph Yud fungh nulynpny duh pwlGwyG
d6Yy htppwihnpnu, Yg, Pl dub puulf ¢
D - wwjwph Ywi fungh guiquujws duh pwGwlG t db
htppwihnjunui.yg, puliué & vy
Z -wwjwph Ywd fungh guquunyws duh Gph GnpdwG ¢
. nuynpny duhg, ‘%:
OphGwy’ 1 htippwihnfuny Gwhiwwnbuynd £ wpnwnpt
nnG 1000 Yg uppn-
nwlwh Gpzhl: Mwwpwunp febipph tipp hnud hwdwdw)G 2.10 hw-
oududh) 107 % PINER 200 Ty (udubulh 210
w. 3dGwlws wwhwhem dhwihniy hnwiph pwGwyp®
1100"100 |

: A=z—mr—== :
107 934,5 Ug:

P- MwhwGgynn wwwph pn duh puwGwlp'
' 934,5-35
ﬁm = T = 327,1 l]q
q- Mwhwlgynn wnh pwiuyp’
934,5-2,2
C“-"'l =‘T= 20,6 uq
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Jwlwywwwujpwl suny hwjwplynd £ Gwl §Gwgwd hmiph U
hwitdnbpltiph pwlhwyp:

pdtwywo hntdph, wnh U hwdbinbpGbph hwydwpyGlipp nhwndw;hl
Owjuwgdmd Obpjwjwgynid 60 wyniuwyh nbupny:

Gp2hyObiph hwiwp pwnwieiiph pbwpnipiniip Yuwnwpydnid § bjobiny
dpbpph wbuwyhg U wyl: Pwnwlplbph b wpwbh pwiwyp hwaquplyned
b Glebind npwhg dwfuup Gnpdwlbphg U (gnGh wbuwlwpwp wwpnnm-
pinithg (hwybwoltip 2.11, 2.12, 2.13, 2.14):

GphliGbph hwdwp «undnlur wbuwlh pwnwieh dwhup 1 tinbhwh
hwdwp Ywqdnd £ 3846 d° 22 dd wipwdwqdh nhwpend U 3572 4° 24 dd
wpwdwgdh nbyend: «dhuynpu» nhwyh punwlph dwhiup Gnpdwd 1 ninG-
Guyh hwdwp 4582 U £ 24 U npwdwgdh ntiwpnd:

_ MnthErhiGh, Ynunhghlh punwlpGtpnd (10 d Gphwpnuewdp) (gnGh
awpnnnwl GnpdwG Gdwed GpzhlGiph hwdwp GEpluwywgdnid £ wyne

uwl 2.4-nud: : ,
_ ‘ Unpnwuwly 2.4
Gihwd GipghlyGlph 1gnGh wiwpnnnipjwlb Gnpdwbbp
RBwnuwiph LgnGh - Pwnwlph LgnGh
wpwdwghdp, JU | nwpanmpinidp, | wpwdwghdp, Jd | wwpnanipinibp,
Ug Yg
40 7,4 60 19,2
45 10,0 85 22,2
50 - 14,0 75 30,0
55 15,6

Rwnwlpltph U wpwbh dwheup hwuplibpl wdhnhyndd 66 wnyni-
uwly 2.5-mud:
Uhuwdwpphluwwlbph (whidbGotph U Ynuytnbbph) hwdwp by hhd-
Guljwl U odwlnwy hnwph dwiuup hwpupyynd £ Goqwd suny:
Ukl hbppwipnjup hwdwp Yunwpduwd dpbpwihG hwdwplhg hbuon
Yuowpymd £ hwajwpy opyw, wivw, wwpdw hwdwp” hhdp ponmGtiny
unjwp wprrwnpudweh wiuwinwiph ubgnhwjbnippws gpudphyp:
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Odwlinuwly Gymuptinh U hrudph Swhuuh hury quqlg""'“‘”" 25

mdph It wy G]ﬂl—
RUPP wiywGnup

3 .

. tunqwtqmlumﬁhph wpnwnpmpuG huiqupy
nuph Swhup funqu
o ]‘u quuntunltiph hwdwp huwwplnw ¢ hGunlyw,

4= 8100

| > (2.12)

npintin® 4 -dhqﬁ hEppwihnfup hwdwp Wuwhwlgynn hpdgu
.. Séxa :él;ﬁ t]mpwgwﬁamn nbuwlh hwdwp, Uq,
g nr;wthnfumd wrnwanynn indjw| dptinph putuyp, |

pneh bugh Gnndut fintdph puuling (hunjbyus 2. 10}

unquiyniunGph  huwdw
“P”qudthbmujw[pwﬁmaunqn L"thwﬁzqnn nuynpny  dup puGurlyp

_ Ahipp 100 '
A =0 — (2.13)

PN 4y, - nulnpmy fungh dub pwluwlG t, g,
Anepp - hbppwipnfunig Wwhwhgynn hnuwiph pwlwlyp Ug
Z - hnuph biph OnpdwG nulinpny duhg, % (hwybwd 2i17)'

OphOwy™ htppwiinfumg w
puwnnwdwup whin £
n \ w
2103 ::uu;;’;:, ol YU it wqgpusnu lmud%!nlbu?ﬁm N Hrqh I’:ggo p
& Pndwighinws Yanuyniguen Wyndpwuynduin® 400 e pnOtidjuwG

JwqwnyGeph wnynilplbipp qbnbindwa &G wny
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GwG hnuiph

nwwl 2.8-nwy:



Unyniuwly 2.6
3nudph Swiuup U wwwpwuwnh wpnwnpwlgh Giph hwaywpyp

. [ Mwwpwunp Nwhwheyny
unquwniunGp | ::Ih{:‘plu;hgluhh Uptinph tipp ( hnuiph
qnpmipymlp, Yq hnwiphg, % wlwlp, Yq |
Swipnjwl b Ynpn- e '
glﬂ‘wﬁ mqrmuu&nﬂym 600 8 _ o |
bopwynijun '
pdpugnifun 400 % e
CanwdkGp 1000 1215

3nwph hwaywplGlphg biGGnyY" hwyjwplynd GGp WwhwGgynn nuyn-
pny duh dwulGwwnnwhg unwgywsd hnwph pwlwybpp U wdthnihnd wnyni-
uwl 2.7-nud:

Unyniwusly 2.7
3nuwdph pwlwlp b wwwnpwunh wpunwnpwlph Giph wdthninudp
I Gipp GnpdwG | Imudph pw- hGs ywinpwuwnby, 4g
UptippGhip nuinpny duphg, |  Gulp 1 jung- m;uhtziﬁp'
% hGppnd, Yq | wynifun bpohlbinkG
Ughpwunijun 24,5 396,9 396,9 -
Bhwlwuniun 22,5 364,5 364,5 -
| Uippwwnifuin 13,5 2187 2187 | -
Updpwwynijun 14,5 -234,9 234,9 -
Chawidblp 75,0 1215,0 :
Ququunyws dhu 11,5 186,3 - 186,3
Uasoh L hnntinh 1,5 24,3 . 24,3
dunu
(hugnt : 8,0 129,6 - 129,6
lnpkp 1,3 21,6 - -
UuwlynnpGbp - 05 8,1 - 8,1
Uwoy 2,0 324 - -
UnpnwwnGbip 0,2 3,24 - -
CanwdbGp 100,0 1620,0

funquwniunGbph hwdwp swiuuynn odwlnwy Gniptipp bu hwyywny-
yn G0 Jd&Y Jhwynp wuwwpwuwnh debipph hwdwp (wjwnbujus Gnp-
JwGbpny:
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Hhuwfbwpphqwmﬁhph hnuiph hwiquty

MG1dtGGkph b YnunybinGl
ph hwdwp hny .
hwiwaw)a PWnwnpwwnduh U l"uzhn G:p Rh hwzdwnlyp Ywuiwpynud £

wpunwnpnipjwG dhg: Uwbnh, ~ hGyytiu tin2hlGtiph

NbydbGGbph hwdwp Wuwwpwuwnh dpbinph tpp hnuiphg Yuqdnu £ 115 %:

hlswbu whidbGGtph, w)Gwyb
» Wiluwbu £ YhuwhwpphywnGeph h
dwfuuh hwaduipGbnp Gbpywpwgynud kG wrumquq2.8-h grr:hﬁf,ﬂﬂ e

: u

Inuiph dwhuuh hwqwpy ey 28
1. Upu” wiaduiph el b, 4y ’
20

3 —

AR

MUIUTNLLI INRULH by 0dULY L3NKREPA ucdury

NwhwnGtiph wpunwnpwdwuh hgnpniginig
n
['umd:‘wnqunqnq Wujdwlwlws mnﬁmgnhpéwﬂil:::{z:qmd * O84 Wenpupn-
. nuph U odwlnul Gjebiph hwaqwpy Yuwwnwpbyng
YwG wnuhbpp YBpwhwaquwplnud kG dhahulwo unnuh
UEpYwjwgynid G wnynwwy 2.9-h inbupny:

hull]u.lp wwdwiw-
bph: 3wqwpyGlipp

— Unynwwly 2.9
— Mwlwhul wnuhtiph Yepwhwzgwnyp PhahbwywG wnuhbiph
Snuhh [
Snuh | wwpn | q wnph | ot
hwuwpn qm,:;r[:lr‘lju thwhwzq., Snufih nwpn- $£Iq-mnl‘-hh
2l qapduih hwdwpp nnueynilp, Honwhuiay.
i B g o qnpdulihg
1
; ;24 0,25 9 375 1,09
; - 0 0.75 12 570 1,67
: 3;52 0,75 13 892 2,59
107 [ g 3033 8.48
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bhghywywC wnuhbiph pwGwyp hwowpyynwd & htnlyw pwGwauny’
A== (2.14)

npwnkn’ 4 - $hahywyw winuhtiph puGwyt £ htppwthnfun, hww,
B - wwdwlwywa wnuhbiph  pwlwlyp (jnpwpwGyynip nbuwyh
hwdwp), hww,
K - (bpwhwywpydwl gnpduihgp (wwdwlwywlp” dhahlw-
YwGh):
3nuwiph U odwlnwy Gyniebiph hwqwpyltpp ywwwpynd &0 pwnwn-
pwwndutiph U dwluuh GnpdwGbph hhdwG Ypw: MwhwGgynn nuynpny dup
pwGwyp npngynud £ tpohytinkh wpuwnpniiniinud ogquiwgnpdynn dup
nujpwquundwl b gluquuniwl GnpdwGpny” htnlyw pwlwauny’

D-100
215
Z (2.15)

npwbin’ 4 - nuynpny dup pwluwyG £, Yg, ‘
D - nujpuquunywd Yud gluqunywd duh pwlwyp, Yg,
Z - nujpwquunywd Ywd glwquunfwd duh tph GnpdwG, %: ,
3nipwpwlynp tnbuwyh hwiwp wwhwGgynn hnudph pmﬁwlm”quﬁ-
gnud &0 puwn wryniuwy 2.10-p:

: Unynwwly 2.10
3nipwpwlyntp nbuwyh hwdwp hnuiph U odwlnwly Gynuetiph pwlwyp

Snippuwnp Yupuptigwd
Gwiuwdw? nwywph dpu

TNwwnbkn

«Upyunplw» Cnwdtln

3nuwip U Gynipbp

1. Upu” wnwjwph |

. Swpwih L thwpbpwynpiwl Gympliph dwfuuh GnpuwGlpp 1000 ww)-
JwGwywG winihh hwdwp htinlyw)0 66

utnwpwpnptb wplyntn - 66,6 hwwn
unwpwpnpRa onowlwylbp . - 2000 hww
Eplwpw dGnwnuwn -0,614q
qnpdqudp (lwi0. 0,9 U) -0,024 1

phebn -90 Yg:
Nuynpny duh nujpwquwnuihg U gjuquunuihg utnwgynn  hnwiph
dhohl hwaywpywhG Gieh GnpuwGtpp ppqwd GG hwybywd 2.17-nud:
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PrynGGLEPpH dnpph dplipwihb hwzdupy.

bpt wnwownpwipp wpwd £ dnpph Llpwlw pnznlﬁﬁlﬁnh qluwpw-

Gwyny, www prsGh dup pwlwyp npnaynud £ htnlyw) pwlwalny’

A-q-z
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(2.16)

npwtn’ M - hGppwihnfunw wpuwnpynn duh
_ qulqquéh £, Yg,
A - udnppynn pngntlGhph qluwpwlwyp htppwihnfunwd, hwwn,
q - pnylh YGnwGh dhohG qulqqudp, Yg,
z - Gph Gnpdw, %:

fonsGh Juh, GOpwdpbppltph W wy h
jL hnwdph Giph GnpdwGbpp, Ywiuws
Enzﬁhh dz;uudwﬁ Gnwlwyhg (phy dwppus, Yhuwdwppywd), umqurxu(‘Jll kG
lull:‘[llltl] 2.15-nwd, puly odwlnwy Gnipbph dwjuubpp™ hwybyws 2.16-nui:
nuiph hwzqwpyh wprymbpltpG wdpnhdmd GO0 wnmuwy 2.11-h

nkupny:
Unynwwly 2.11
Anwph wddinihg hwpqupy :
o Lannlywé 1 hppwihnfunwd '
o iy Twlnpnipintl
Jwybp
Uwghip
Eﬁr}wdhﬁﬁ —
n
2.12_I:lzxu1pwumh Upbipph  hwaquplylpp gpuilgydnd GG pun whmuwl
Unyniuwly 2.12
Twwnpwunh dptipph wdtingihy hwgdwpy s
biph wnlnup b
Uptipp Yalnwah .
quiGquidhg 1 qyfup 1 htpp | 1 opmd
Mwnbgyws hwyh dhy,
q
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VUwlytpbuGbph hwqwpyh Gepdwlbpp Obplwjwgws 66 2.9 hwyb)-
Juwdnud: ‘

Uuwdptpplbph wwhwwldwh fugbph dwybpbulbpp npnpnd &G
tiG6(n opyw plpwgpnd wpwwnpynn dpbipph pwlwlhg, wwhwywbdwh
wunnmipinbhg U whuwlwpwp SwhpwpbnGwénipgniGhg, hGwbu npnonud
b6 YwplwdptppGtph fugbph dwybpbuGtpp:

2.3. Uf‘SLl'H‘ﬂI\ﬂﬁU.L SthunLnarlyul VsuuLsre

Upvwnpngjwl ntifjubnnghwlwl upubidwG hnwiph dawldwG pnpnp
qnpénnnip|niGlGbph U gnpoplpwgbtph hwenpnuwlwl pYwpynuiG £ uuws
Gpw panniGdwl wwhhg dhbsk wwwpwunh wpwnpwiph prqwpynudp,
26iny dpwydwlb ogunwgnpdynn rbidhdlblipp (gnponnnipjwl Ywd qnpopl-
pwgh wlnnnipynilp, gbipdwuwnhdwlp, dwlipwgiwl wunhdwlp L wyG):
SGunbuwluwl hpdGwynpdwl hwydupyGtpny npndnd 66 Gwjuwgdynn
atinGwpynipjwl hqnpnipynilp U prnuplynn wpiwnpwlph hhdGwyw nk-
uwlwGhG, npb k| hhdp £ hwlnhuwGnid wptnwnpripjwl wju Ywd w)b wkiju-
GninghwlwG ufubdw)h pGupnipjwl hwdwp: StluGninghwih JwGpwdwub
dawynwihg wewg wbwnp £ wlwihgh GOpwpYyby hnuiph Yepwdwydwh
nianigniGp U hnwph Yud Yhuwywnpwundwsplph npny inbuwylbph
Yepwiwliwl wipnnowlwinpws Gywwnwlwhwpdwpninilp U npwing
huy dowby dinGwpYynipinind wptnwnpynn wpnwnpwiph npe nbuwyw-
GhG: OphGwy, dup YndphlGwnGbpnd YeGnwbhGhph Gwfubwlwl YGpw-
dwlydwl gnpéplpwgp dGnGwpynipiwl dinw wpnwnpwdwubph hwdwn
hnuiph unwgdwl wbuwbymbGhg hwdwpydnd £ pGnhwlnp b wGhntnfu
dutinhp, GOpwdpbppGEp, wnphlbp, YwhGbp, dwpwwhndp, uGlnwihG
wpintG, EOnnyphlw-dtpdtlnughit U wbGhluywhd hnwdp: Uwluw)G wyn
hawph JGpwdawldwh hbnwqu mnndwdnieimbp Ywpnn £ wwppbp (hOby
wdpnngnipjwidp Ywd dwubwyhnpbl:

Udpnng hnwiph wlpwihnl Ytpwdawynwip hGwpwydnpriginb £ wwihu
wpunwnpli] ubGGnwhl, wnbuGhywliwd b pdlwlwd wprnwnpwiph pwyw-
Ywlwswih (wyl wnbuwlwlh: Un wwwdweny jmpwpwlynip Ynbypbn
ntiwpnd whwp £ hwadh welb) wywgw derGuwpynipjwl YnGgtGnpwgdwl
U ninquédnipjwl Gywunwlwhwpdwpnignilp, wiuhlpl, |nwt] hnwph wd-
prngwlwl YEpwdwliwh Gywwnwlwhwpdwpnipjwb Ywd swhnipwpbipni-
pjwl hwpgp, Ywd £ npnpwlh thnynud wwpnty Gpw yepwdawynuip: Oph-
Owy, Ybpwiwyt| EGnnyphGw-dtpdGGunwihG hnwdpp wwinpwuwnp pdayw-
Ywl wprnwnpwlph Ywd Ywlq welt] Gpw wwhwonjugdwl (uwnbgdw)
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thnynud U s0whiwgdt) pdjwlwl wpbwwpwinllph wpnwnpwdwu Juh
YndphGwnh Ywqdnud: LnyG sund b msdnid Gl uGGnwihG wpjwl bpw-
dawydwl hwpgp® bl wwhwdnjwgdwh thny, ogunwgnndtiny wwhwén-
Jugdwl wwppbp GnwlwyGp, Ywd dhlsl ywinpwunh wpnwnpwGp, U
wyyG:

IGwnbwpwp, wpnwnpnipjwh wewdt] wpyniGwbn wnbfulninghwlwa
(ntonud pGnniGnt hwdwp wGhpwdtpu £ Ywqdby pGrhwGnip wnbjulninghw-
4wl ufubdw@bp, npnlp npngnud 56 hnwph wrwGahG wnbuwyGph depw-
dwydwh ninnywénpinilp U wunhdwlp wwwnpwuinh wpwwnpuwlph pG-
nnlGdws wbuwywlni panwpliwG hwdwp, pwihnGGEph walwnieimGp U
nnwg mnwpynwip hiwnwqw Jepwdywydwt, wjuppd, wnw0ahl wpunwn-
pripjnlhCtiph thnfuwnwnd Ywup:

COwnpwd wbfulninghwlw utibidwl whwp £ wwwhnyh wpwnpynn
wpwwnpwlph pupap npwyp, wpnwnpnipwG pwpap wpnnibwyGwnipni-
Gp, wpluwwnidh, gbpdw- b EGtipgudwfuubph GJwqugnyG swiuubip dhwynp
wwwpwunp wpnwnpwlph hwyyny, qnpdpbpwgh pwpap vwhhwwpw-
hhghtGhy hdwyp: ConmbJws pGrhwnip nbjubninghwywl ufubdwih U
wpunwnpynn wpunwnpwlph hwunwndwsd nbuwlwGne hhdwG Jpw Yug-
dnuwd G0 uyqpaibpwihl b JwuGwynp wbfubninghwlwl ufubdwlbpp puw
wnwGahG wpnwnpwiwubph Ywd wpnwnpnignGGph: Ywfujwd hnudph,
odwlnuwy Gyniebph U Yhuwwywwpwunywspltiph hwwynip)niGGhphg, wbju-
GninghwuwG gnpdplpwgh hpwywlwgdwl wwdwiGsphg b oquiwgnpdynn
uwppwynpnwdGbiphg™ Ywnbih & thniinfub wbllninghwYwG qnpsplpwgh
wwppbip gingtp, wn ywndweny Gywuwwywhwpdwp £ npwlp Ywqd)
wpunwnpwlph jnpwpwynp wbuwlh hwdwp wewGahG: WG nbwpbpnu,
pp hnwph wwppbip wbuwyGliph Guldwt Yud wwppbp wbuwyp wp-
wnwnpwlph wpnwnpripiwe whuGninghwlw gnponnmpinGGlipp hwdpGy-
Unud 66 Yud ywwn dnin GG hpwp, GywowYwhwpdwp k nhwlg hwdwp
Ywqub| dhwgjw( uyqpnilpwihb wuGninghwlyw anpoplpwglbph ujubdw-
GG, npnlp hwiwwwwwufuwbnd 66 wrwGahG wpunwnpnienGGephG:

2.4, SERULNLNGPUYLL VUL RULMNPARILEN R CUSPARRSNRLE,
@ JUTYULUL b4 SEVULUTIUARUL

UGhpwdtiow  nbjulninghwlwh uwppwynpnuiGliph  pGupnpnlG m
hwajwplyp dtnGwpynipiwl Gwhiwgddwh Ywplnp thnybphg dGYG E: Iwwn-

Ywwbiu uwppwynpnuiGiph dhown pOupnigyniGhg U hwdwpyhg £ Ywiudws

wpwwnpynn dpbipph npwlp, woluwwnwiph wpuwnpnnwlwGneniGp, Jw-
hnyph ddnipniGG nt dbinGwpYynipjw( whnipwpbipnipyniGp:
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StluGninghwywl  uwppwynpnuiGbpp nﬁmpmmmﬁg,hwmmpt{md [y
hwdwb[uu;ﬁ lﬁ&&ﬁqbnq nﬁrqmﬁl{wb wtuGninghwywG utubdwttpp U hnudph
dowldwl Ywd wwwpwutnh wpunwnpwéph unwgdwl nbjuGninghwlwl
hnupbiph hgnpniejwG’ hpdp pGnnGtiny dbpbGwih Ywd wwwpwwh wp-
wwgpnnuywGnpmlp, wjuhGpl® wjw uwppwynpiwG oquiwgnpddwl
gnpdwyhgp whwp & hwdtdwnwpwn pwpdp hGh:

UwppwynpnuiGiph pGupnipjwl dwdwbwy anEud_li[mp]mGn wbwp £
ww( ubthwywl wpnwnpnipjwl uwppwynpnGbphG* hwayh wnGbny Gwl
npwlg nbnunpdw (ogunwgnpoiw@) nGnbuwywh Gywurnwywhwpdw-
pniniGp:

StjuGninghwyw( uwppwynpnwiltiph wwhwGgwpyp npn2tijhu oquiynud
5G hGwnlyw| pwlwaltiphg,,

1. UGpGnhwuw gnpbnnniejwl uwppwynpnuiGph nbwpnud.

n= —L\— hwun, (2.17)
QT

annbn® n-n uwnpwynpiwl wwhweynn pwlwyl b, hww,
P AQ-EG‘ u&%pil{ﬂndwﬁ wpunwnpnnwywGniembp,  Yg/dwd Yud
hwuwn/dwd, A
A-G" dpwyynn hnwiph pwlwyp htppwinfund., Yghbpp. Ywd
hww/htpp.,
T-G htppwipnjuh wunnnueinp, dw:

4. 'lepp-bnwuwﬁ gnpdnnnipjwl uwppwynpdw( ntwpnu.
n=2% huwn, (2.18)
ol Gwybt, h
nputin’ n-p uwppwynpdwd wwhwbgynn pwlwll £, hwuw,

A-G" Jowyynn hnuph pwlwyp hGppwihnfumd., Yg/hbipe. Ywd
hww/hbpe.,

t-6° dowlydwG ghyih wlnnniejnip, pnwb Yud dwd,

T-G htppwihnfuh wunnnipintlp, pnwb Ywd dwd,

G -G uwppwynpiw( dhwhqudjw ptnGnuip, Yq Yud hwn: ,

' 3. UbluwGhlywuwt pupzd Yuundh g8 (Ywlundh YnGtibnh) wowd
G nbnwdwubiph GplwpnieniaGtnp npnomud 6 htnlyw pulwélnyg.
AT ' (2.19)
80-T' .

npunbn’ A-G Yuwfunyh ynGyLtiph wpuwwnpnnuwywlnpnat k, hww/htpp.

Y giniju/hbpg.,
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I-p* ¢pnfuwnpynn hwww)hG phirGph dhol Gnwd hbrwynpni-
pynibp, d,

t-0" whjulninghwywb gnpéplpwgh  (wppnGwgpynd, dwulw-
wnwd b Ywothwlnuw, GEpphb opqubGbph hbnwgnud nt vw(-
dawynud U w) G) wunnnipynilp, pnwb,

T-G" Ywlundh YnGytLjeph woluwuwwlph wbnnnenlbp hbppwipn-
funud, dwu:

SYjw| nbwpnd YnGybnph wpwgnipinid wpnwhwjnydn § hbnlyw
pwlwalny.
V=LI— 3/pnwyb (2.20)
60-T
Ywfundh YnGytitph plnhwlnp GpywpneiniGp npnadnd £ hwydh
wnGbiny hnupwihG gonw wenunpynn uwppwynpniltph Swywwbgpw-
qowihl swihbpp, wouwwwwnbntph pwliwyp U wib gnpoplpwglbliph wun-
nniejnilp, npnlp Yuwwpdnuw 56 wnwlg wolwwnnnlbph dwubwygnipqwa:
4. Unwlg JEuwlhyuwywl pwpoh Ywiundh gdh GpYwpniginiGp npng-
dnuwl £ hbnlyw| pwGwdling.
. L=z-l+a, d, (2.21)
nputn” z-p waluwwnwwntntph pwlwyh §, hwwn,
p* JBY woluwwwwnbnh Gplwpnipindp, 4,
a-0"Yywjundh goh wwhnwwnwihl GpywpnieyniGp, J:
5. UnGytjbpwjhG ubnwGGEph Gpywpniginip npngdnud £ hbnlyw) pw-
Gwalny. ) '
L=V-t+b, & (2.22)

npubin’ V-G YnGyjeph wpwgnpini0G £, d/pnw,
t-0° wpngbiuh wunnnienlp, pnyt,
b-G" YnGybjtpw)hl vbnubh w)b wbnwdwup Gpywpnemlp, npp
qpuwnbgyws § npuk uwppwynpnuing, d:
6. Swpptp wpngbulbph Ywuwwpdwl hwdwp (wwnbuws ubnub-
GGpp Gpywpnieynlp npngdnud £ hbwnlbyw| pwbwéuny.

L=n-l, 4 (2.23)

npuiin’ n-p woluwwnwwnbnbiph pwGwYyG b ubnwbh Gpywpnewdp, hwn,
p* wpuwwnwwnbnh GplwpnigniGp, Jd:
7. Lywgdwa, hnwgdw(, fuwgdwh b wy wwpnnnieinGGbph ywhwly-
Jnn pwGwyp npngynud £ hnlywi pwGwalng.
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Al . (2.24)

n=

npukn” A-G dawlynn hnwiph pwGwyG & heppwhnjunid, Yg/hbipp.,
t-G° wpngbuh wbinqnyzynilp, pnwt Yud dwd,
G-6° wwpnnnip|wl dhwdwdwbwljw pbnGnuip, Yq,

. T-G" htippwnjuh wlinnieniGp, pnwb Jwd dwd:

8. Munbgiwh, uvwnbgdwh U wwntgpws duh wwhwwOdwb ugkiph

Gwfunyp gdtiph Epywpnie)niGp npnaynud & hnlyjwy pwﬁwt}lmd_.
AL | (2.25)
g.T' .
npwbin’ A-G funig wipynn Juwdpbipph pwlwyl £, Yghbpe.,
t-6° wpngbuh tlnnnipinip, dwd,
g-0" Uk qdwdtinp Ywfunyh gdh ptinGUwG Gnpdp, Yg/d,
T-G" hppwihnjuh wbinnnipntip, dwd:

UGhpwdtipw nbulninghwljwi uwppwynpnuiGph hwadwpyp unwp-
dnud £ pun Gwjuwgdynn abnGwpyniejwl wpnwnpwywl hgnpnipjwl L
npw hhiwG Ypw Ywinwpyws dpbipwjhG hwawpyh:

LiwG hwyjuplyp U uwppwynpnuiGtph pOwnpnipintip  Guhiwgdynn
wpwnpnye(wl jnipupwbgnp wpnwipwdwuh hwdwp hwplwynp £ Qw:
wwpb)] wowGah0, huy dapgnid nwy pGwnpyws uwppwynpnuiGbiph qulyp
wrynwwyh wnbupny.

Unynwwly 2.13
StijuGninghwlwb uwpgqupnldﬁbnh wdhn wrgnuwy

h/h | Uwppwynp- |Rwluwyp, UwppwynpnuiGtph hhdGulw( plnpwgpbip
dwG, wpwn- | hwe | wpownpn- | GEYnpn- dwjwjw- | qulg-
pwdwuh nuyw(ni- gwndhsh [bgpugdwihG| Jwop,
widwhntdp, pjntap, hgnpnt- | swihbpp, 04 Ug
dwylhgp Yo/dwd pyrilp,
e
4
I I R

Upuwwnpwdwubipnud uwppwynpnwiGtiph wbnwpwiudwl hwdwp hwp-
yuynp b hwadh wnlb) npwig wiyunwig pwhwgnpddwll nt uywuwpy-
JwG0 ninyuws htinlyjwy GwjuwgdwhG Gnpdtpp. el

1. UwppwynpnudGbiph nnipu ggywd dwubph dhol Ywd npwlghg dh zﬁ
wwunp htnwynpnpiniip whwnp t (hGh ng wwywu, pwl 500 dd, tpt w)
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Owhwwnbujws st Jwpnyulg Gppubynpiwd hwdwp, L .800 dd-hg ny
wwlwuy, bpt twpwwunbudwsd £ Gwb dwpnwbg Gppubynyejwl hwdwp:

2. Uwppwynpnuilbpp dwywwnny wnbnunpbihu npulg nnipu ggyud
dwubph dhol htinwynpniejniGp wkwp £ plnnilt; 1500 dd-hg ny wwlwu:

3. bpb uwppwynpnwiGbpb NGl wpdwlwl dwubp, wwyw wignuitt-
ph (wjGnipintGp hwpjwplbiipu whwp £ hwoyh webt dwl npwbg swhbpp:

4. Uwppwynpdw@ ybpluhg dhGsh shGwpwpwlwl htidwGb pOYwsd hb-
nwynpniejntGp wtwnp £ plnniGt| 500 Jd-hg ny wwlwu: Gpb uwppwynpnuip
wbnwnpynw £ hEdwbltph wpwlpnu, www win hbwnwynpnipntlb pGrnid-
Unud £ dhOsl dwalyp:

5. Uywuwpyuwl hwppwYyhg dhOsh wpunwnpuwdwuh swolh napu
ggywé dwubipp wbwp £ hGh ny wywlwu, pwl 2000 dd: Uunhdwlwywi-
nwyh (wybnienGa pGnniGynid £ ny wwlwu, pwa 800 U4, phpnipinilp” 60 °:

2.5. UUrLuydnrnhuLsre UthuuSuLeuskhy arudkub
LunnrsNhbYU -

UwppwynpnudGbph b dbpbGwlbph wluwwnwlpwiht gpwdhyp Yug-
dnid 66" wyG phy hwdwwwunwupwbbgbting wkubGnnghwywb gnpdp-
pwglbph qpwdhyh htwn: Uu nhwpnwd hnphgnlwlwh nigm Ypw nbnwn-
pnid 56 heppwidnfuh, opyw woluwwwlph dwdp, huy nipnwhwjwgh Ypw
wnbfubninghwlwh gnpdplpwgh vwppwynpndlbph U depbGwltph whyw-
GnudGpp, dwybhop, pwlwlp, wpnwnpnnuwbnieinlp: UguwwnwGpuw)hb
gpwdhyh Yuengiwl dwiwGwy whinp £ hwyh webb| uwppwynpnwiGtph
wpwwnpaqulwbnenibp: 3pdowlwlnwd pninp uwppwynpnuiGliph woluw-
wnwGph wlnnnipntbp Ywptih £ pbnnilt; 6 dwd heppwinfunud, pwgwnent-
pjwdp w0 vwppbph, npnlp wouwwnwlph plpwgpmid YuwGgbbginud &G
{Jwlwint: -

Cuwn gpwdhyh hwuwnwwnnd 60 wouwwnwbph wbnnnpiniGp b hbppw-
Yubninibp, unnignd G0 npwbg pawnpnejwb b hwadwplh drgpuinenilp,
hGgp hhdp £ hwGnhuwnw BGYwpwtGGpghwih, gninpznt, oph, uwnlniewG
dwiuubpfi npndw hwdwp:

Nuwjlwbwlwh GuuGGepny wwihu G0 whuGninghwlw vwppwynpnid-
GGph wptuwwnwiph dwdwlwyp, (giwl, nuwwwpliwl, Yugiwl dwdw-
Owyp® hwdwwwwnwupwlwpwp Gwjunpn U hwenpn uwppwynpnwdGph
wprnwnpnulwinpjwdp:
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L] lgmud

S nwuwpynu

>< wgmu

[ ] woluwwnwGpwihG dwd

2,6. R6rUULLGralocuuisrpr UTJYUCYE SshulNlNahuyuL
LausSuyLGrk 3UuvUr

Upwnwnpnip)nibnud - uwbGhnwpwhhghtiGhly  wwydwGGbp  wwwhnybint
hwiwp wohpwdtiow £ 2hOnpm00 wiuwhwo swnwlwpwpb; opny, ekinni-
ghi, htnwglb] wpuwnpwwntubnnghwlw, Yebgwnwihl, wnlnbuwlw
yenuwepbpp, hoswbu Owl dwiwlbwyhG Ywwnwpb| onwihnfunie)niG:

OnwihnfuniginiGp b obirnignuiG wlhpwdbyn G0 wpunwnpuwywl nw-
pwoplbpnud uinib gbpdwuwnhdwl b funGwympnG wwwhnybini, hGsybu
Owl vwGhnwpwlywh GnpdwlbphG hwdwwwwnwulwG wwdweGbp unkn-
ot hwiwp:

Rbnngdwl hwiwlwpgp pwnyugwd £ nwpwglnn uwppbphg, funnn-
Jwlwowptphg, npnlp obipdnpjwl wnpinipp Ywwnid 66 ebrnignn uwppk-
nh htw: Uuwdpbpph wpunwnpnqniGnd gbipngiwl wdbGwhwpdwp bnw-
Gwlyp opwihG wwpwgmdl k, pwlh np ebrmgnn uwppbph JwybpbuGbphG
opqulwlwl hngh sh wewowlmd: Pwgh wn, wjnwhuh hwdwlwpgl
wlwndniy £, Gplwpwnl b hppbhwuwig sk:

OnwthnfunipyniGp Gwwuwnnd £ 9hGnipjwG onwihG dhowywiph uwGh-
wnwpwhhghtiGhy Jhdwlhh wywgiwlp: Uuwdpbpph wpunwnpopnbnud
nwppbp ebpdwwlowinpy uwppbiph, Jptlwibph woluwwnwlpp, pwqiw-
phy wbjbnnghwlwl gnpdplpwglbp, npnlp nintlgund GG funGuyni-
pjwh, etpdnpqwh U pniGwynp quqbph wGewwnuwiny, hwiqtglnd G J&d
pwlwympjwip unbwynpiwl Ynunwlydwa, hOszh wppniGpnd wprwnpw-
dJuutpmd pwpépwlnd G0 hwpwpbpwlwb funGwynpnibGp, etipdwunh-
dwlp, quunwind b wofuwinnnlbbiph hpbwqqugnnnipinibp, helmid £ w)-
fuwwnnGwynigyniGp: UpuwwnnnGph hwdwp wliwwnwbph Gnpdw| wwjdw-
Gbp wwwhnytint hwdwp wGhpwdbw £ wlpbnhwin hbrwglb wnuinnws
onp b wjG hnfuwphb pwpd ne dwpnip onny:

UpunwnpnipiniGp wbwp b wwwhnyl) dwpnip opny, npl oguniwgnpd-
Unud £ nlwnbuwlblgunuihG, wpnwnpwntuGninghwywb Ywphplpp hn-
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quint, uwppGph. nbulnipghwywG uwppwynpnGtiph, hwnwyh [JwgdwG,
hwywhpnbhwihG, hoswbu Gwl fudtnt Gwwwnwyny:

Rpwdwwnwlwpwpndp Ywnwpymd £ YGGunpnlwglws pwnwpwjhG
gulghg, wpunbqub epbipny: YbpehGGlpu unynpwpwp oguwgnpdynid &G
nbfuGninghwlwl GywwnwyGbpny:

~ Anipl oquwgnpdtihu wewewlmd &G Ynuwentip, npnlp htnwgynid
G0 Ynyninnu dhongny: UhGst YbGupnGulwG hwdwywpghG dhwgltip®
npwlp whwp £ GGpwplly deuwGhiwlwG, phihwlwG b YEGuwpwlwlws
dwppdwG: PwGh np dhup Guwunwynp dpowyw)p £ dwlptGtph wdh U
qupquguiwl hwdwp, Jwppdwl Gywsd EnwlwlGtph 2Gnphhy YwGlugnud
GG hhwGnnumGabph wnwowgnuiG n tnwpwonidp: '

2.6.1. UULSEluLPYUSH 3bUNRLELGE

1. UpluwwnnnGbiph pdwpwlGwyh hwaqwplp:

2. Rbnmgdwl hwadwplp U Gouwlwlnyeimbp: Swpwglnn uwpptph pG-
npnniop U hwpqwplp:

3. Skubninghwlwl, nlnbuwlwl, YEGgwnuiht, uwbhwwpwhhght-
GhY, hwlwhpnbhwihG W wy GwwwnwlGbph hwdwp opp Swiuup hwqwpyp:
Swp gpwiwwnwwpwpdwt hhiGwlyws vwppbpp b ufubidwGbpp:

4. OnwthnfunipiwG hwawplyGbpp, onwthnfuhsh pOwpnunGp:

5. Unjninm nbipp b GowGwlnepynilp, hwdwlwpgh pwnlwgnighs dwub-
nG nuhwyqwpyGtpp:

2,6.1.1. UThiUSNILGMP RYULULUYP JUTYUNLY

3hibwlwl wprnwnpnpjw waluwwnnGiph pwlwlyp duh wpnwn-
pnipfwl gnpdwpwlGtpnud hwwpynd & hbunlyuy pwlwdling
n=4 (2.26)
> .
npunbn N - hhdGwlwl wpnwnpew wfuwwnnnGph pwGwyp
A - htppwinfund wpunwnpynn dpbipph pwluwyp
P- hbmlz:jt;nhnlumd Uty pwlydnph wprnwnpwyw Gapdw, Ug (Ywd
gt
Snipwpwlynip wpnwnpripiwi hwdwp P-h wpdtipp hnhnjuwlywe t°
Ywhugws wiluwwnwbph woluwwnwwnwpniniGhg, pwpnniRinibGbphg U dwo-
pwpbinGwdnipinibhg: PwynpGlph wprnwnpwywG GnpdwunpyGlpp Ghip-
Yujwgyws GG hbwnlyw| wynuwyGbpnd®

137



Unynwwly 2.14
Unpph wpnwnpuwiwy
33 Qnponnniewh Upwnwnpwdwup 1 pwGynpp
whywlnuwip wpuwnprqwlw- wpnwnpwywh
Gripnilp, gintu/hbpp Gnpdw,
quniju/htpp
1 uby dhGsl 150 9
150-300 10
300-800 12 B
2 | UGk dhGsl 2000 33
' 2000-hg wyblp | 37
3 | tungbp - dhOsl 300 17
Yuphwanudny 300-hg wytijh 19
tungbp wnwag JdhGsl 300 14
YuoythwGiwh - 300-hg wybih 15
4 | PrynilGp dhGsl 20000 giipu 637 B
Unynwwly 2.15
bpohyGliph wptnwnpudwy
33 | Upnnwnpuinbuwy "1 pwlynph {33 Unmm 1 pwGynpp
wpin.lnp- wnbuwy | wpwn.Gnpdw,
Jw, U/htipp Uhbpe |
1 {bpahyltp 5  |UwnthunGtip
- Gthwo 182,8 - hrud- 131,8
- Yhuwwiylunwd 338,6 wwutnwd 1994
- hwd-wuwhunwd 358,3 - bthwd-
- hnwwwjunwé 412,96 wutwd
2 |Lppbpohlyltp 338,8 6 Jbiwnshlw 390,6
3 (UwpnbjywGtip 280,32 |
4 |UYuwhwgtip 171.9 |
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Unmuwly 2.16

Yhuwdbwpphlwenlbip
33| Upnwnpwubuwy | 1 pwGdnph [33] Upnwnpw- [1 pwGynph
wpu. nbuwy wpu.
Gnpdw, Gnpdw,
Jdrhtipp d/hbpp
1 |Uhu pwplipw-ynpqud 196,86 |4 |Ynuybtiwnlbp 80,32
2 JYpuwdwpppyunGlp 5 |Thhgl 85,7
= fJunanp Yuinplbpny 106,9
- Jwlp LuinplGbpny 1294
3 [MbkGGEp 166,7
Uymuwly 2.17
Mwhwanlbph wpuwnpwiwy
33 Upunwnpu- 1 pwlynph |33 Upwnwnpw- 1 pwlynph
nbuwy wpw. wnbuwl wpuw.Onpdw,
(npduw, d/hbipp
U/hbipp
1 |tngbjuwjws 87,76 5 |Lkquhg 234,1
. whwdn wwhwon
2 [ dwpwhG 71,6 6 LantntOny 98,08
wwhwon 1gnGywd
whwon
3 | «Rpnuwpohyp : 7 JLunghlbuyhG 196,88
Gwhuwdwo» 74,32 wwhwdn
4 [ MuwownbwnGbp 8 |@nsGwduhg 567,6
- pwpnh 93,44 wwhwnlbip
- duwihG 91,68

2.6.1.2. REANKSUUL JUTUUNY

Ddﬁwﬁﬁ wpwwphl U Gepphl  gipdwuwnhdwGib

' ph wnwppbpmpwl
wpmyniGpnwd tnbinh  niGGGnud gbipdnipjwl wpwwhnup (GepphG L wnmlﬁlghﬁ
wwunbiphg, nelbiphg U wy G):

Swpjw gnipn GnwlwybphG onh wpwwphG U GhpphG sbipdwuwh-

dwalbph  wwppbpnipymbhg  Ywwwpymd &6
obpdwynpnwwnlbp nk
2nguwiyur dhguidup: o "
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Rbpdwlnpniunbbpp uwwpynid 66 b bwyhy wpunwphG b GepphG ww-
wntiph, hwwnwyh, wwunthwGGbph, nebiph, wwbhplbph b w)l: Wpdwyn-
pnwwnGipp Yupnn 60 wnwowlw) Gl dplipphg’ h hwyhy pGwlwG gninp-
wgdwl:

Swpwopnwl onh gipdwunhdwlp wphbunwlwlnpbt wwhbint hwdwp
hpwlwGwgynid £ wwpptip uenigywép niGlgnn uwpptipny sbnnignud: Un
dwdwlwy wlhpwdbawn £ hwayh welb) wntbninghwlwb vwppwynpniiGb-
nhg, hnudphg b wjy wnpjninGephg wpnwnpynn gtpdnie|nilp:

Chiwpwpwlwh YnGuwnpniyghwlbphg stpdwihnuwlwliwt dwdw-
Guily nbinh GG nGGGnud hbwnbywy pbip gnpéplpwglbipp
- nwpwoph hGwpwpwlwl YnGunpnyghwGtiph Ghpphl dwltiptiung

onh ebpunipjwl Ywlmd;
- ohGwpwpwlwl  YnGunpniyghwbbph Gmeh dhongny  obipdnipjwl
thnjuwGgnud GEpphG dwltiptiupg nbwh wpunwphb dwybpbiu;
= 2hGwpwpwlwb YrGuwnpmyghwlbph wpwwphl dwybpbuny stipuni-
Rl tinfuwlgnud Jpowlu dhouidwyn:
Swppbpnd G0 ebenigdwC Gpynt Gnwlwy” wbinwluo b YEGunpnlwg-
Jué:
Stnwlwl £ hwdwpynwd wja gtinmgnudp, tpp obipdnipjwlG wnpnipp,
otipdwwwppbpp U wwpwglnn dwytipbulGtpp qulyn &G gbnnigynn ww-
pwopnid: Hwlp GG whin, htnny U ququihG Jwrbihpry woluwwnng wnwp-
phip Yunnigywop nGtgnn wwpwgnighsGlipp: Cwwn nwpwdjws G Eikywn-
pwlwh wGnwihG wwpwgmghyGlipp, npnlgny gbipdwuwhdwlh Yupquiyn-
pnudp wwn wytijh hwuwpwy U wpwyohly: Ywlw)G npwbgny nwpwgndp
wpynibwybwn sk bEYwpwkGtpghih pwy |hGknt wwwndwnny:

YsGupnGwgywe L hwdwpymd  gbinmgdwld hwdwlwpgp, npwntbin
obpunipjwl wnpnipp (Yupuwjwwnnilp) gulynd § stinmigynn wwpwdphg
notpu, huly ebpdwlhhpp wpdnd £ hwonily wwpwgynn uwppbphG, npnGp
nbnuiwpwsé G0 wwpwopltpnd: Apwbu gbipdwyhp Yhpwnn &6 wwp
onip, gninp2h Ywd on, npnlp wdunwlq G0 uwGhnwpwhhghtGphy nb-
uwlyynilhg:

ChOnpywG GGpphG  ebpdwunhdwGl wphbunwlwl GnwlwlyGbpny
wwhwwlbn hwdwp oquwgnpdymd GG wwpptp uengywoplbph otip-
dwjhG uywppwynpniGbp: Ww hwdwp wwhwbeymd £ hwadh webb| nbju-
Gninghwwl vwppwynpnuiGtphg U wy wnpjnipGtphg wlewwnynn stipdnip-
nip:

bnngdwl hwjwpyp Gywowyny uuwpydnd &6 gpdwhnupbiph
puiGwyh npAgnid b Swpwnynglbph pGupnieyniG:

bpdwhnupbiph pwlwyp npnymd § hbnbyw) pwlwalny.
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Q&bn.zg'v'(tﬁbp._iwnm.)' ‘{U‘l, (227)
nputin g-0 whuwYwpwp obipduyhG pOmpwghpG n G G
0,34:0.4 dun/d° ot £ on plnnuud ¢

V-G° 2hGnipjwC dwywyp, b2,
tatngs Lupn D" 2hOnipjwIG GbpphG wpwnwphl obpdwunhdwil
tirg. = 18 °C, . = ~12°C: d "t

Jwpduplyynd &G pninp gbnnigynn shGnipniGGnh ok
nnwlg gnidwnp’ Unn 2hGnipimGGtinh- gtipdwhnuptinp U

2Qup =2Q, Y, -(2.28)

Swpyw plpwgpnud gbpdnipjwl  dw h
pwGwAlny, ranie) uup husuwiplydnud £ hbinlyw,

Q=Qu, 01, Yu, (2.29)

npunkin Qg-‘ﬁ pOnhwGnip gbpdwhnupbiph pwlwlo k, Jwn,
n-p wwnyw phpwgpnid gbinnigynn optiph phyp, 150 op,
10" opyw pGpwgpnid gbrnigdwl nbnnnipyniGp, 16 dw:

Rbnunipgwl Swiuup niwp spudwnwlwpwpdwt hwd
£ hbwlyw) pwGwélny. YupuipdwG hwdwp hwpdwnlpynug

Qm.g =ll63G(tm —tu)’ \{my (230)

pnmbq G-G‘ nwp oph quibqywdwihh swiuuG £, 1,6 \/d,
t;,,-ﬁ‘ wnwp gnh gtipdwuwnhdwp, 65 °C,
t-0" uwnp 9ph gbpdwuwnhdwlp, 8-10 °C:

Sn|nnpont dwuup npnaynud | hGwnlyw) pwlwalny.
36-Q
D= ! gbip, ’
Thox 4g/dwd, (2.31)
npunbin ngp,-ﬁ 00nhwGnip gbpdwlnpniunG k, din,
0 gninnawgnjugdwl pupGyws gbpdnipymlp, r = 158 Ayq,
n-G‘ ogunwljwp gnpdnnnipjwh gnpowlhgp. n = 0,96+0,98,
X0 gnnpnt snpnie|wl wunpgwlp. x = 0,95+0,98:
Uwpuyngh otipd
Gwaunq? UYngh ebipdwihnjuwbuldws dwytipbup npnpynud £ hGwlyw) pw-
Q
F= gbi. |2
KTt (232
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npuibin Qu,-p 9ndwhnuptiph pwlwyl £, dun,
K-G0 gbpdwihnjuwlwliwG gnpdwyhgp. K = 7,8+9,6 Yn/d?,
T-G' obipdwyph epdwunhdwlp.T = 85498 °C,
tune-0 GGpRHG lipdwunhdwlp. teyy = 18 °C:

Nuhwhgynn dwpnlyngiph pwwyp npnymd | hbinbyjw) pwlwéuny.

Nogn. =;, hwuwn, (2.33)
npubin f-p dbY ublghwh wwpwgdwh dwybplnypd t, 4% (M-140 dwyGhoh
' pniob dwpwlngltiph hwiwp f = 0,254 §?):

2.6.1.3. QLUUUSULUCULUUL IUTHUNY

Snipl oguwgnpdynd £ nGunbuwlywl, vwihnwpwlwl, wpnwnpw-
GwG, nbuGninghwlwa, hwywhpnthwihb b wy GywnwyGbpny:

pwiwwnwywpwpnuip b Yenunwepbiph htirwgnuwp whinp & Yuwnwnpdbl
YtGupnGugywd Yupgny' puwn gpwpuifuhg Ywenyglbiph, wndwwywywGh,
Jwppiw YwnnygGtph, wpnwphG b Gepph funnndwlwywpbiph:

2nh wiG pwlwyp, npp dwhudnud | nbuGninghwlwl gnpdplpwglt-
ph. hwwwyh, uwppwynpndGbiph, gnyph (Yugdwl Ut uwbhwbgnygh
hwdwp, gynud t Ynyninh:

LnyGhuy ¢inpp hgnpnipjwl Ywplw- U duwpymGwpbpnipiwl dn-
GupynieimGGbpp Ywhwynpnw 50 gpwiwinwywpwpiwl U Ynyninnt hudw-
Ywpgbpny, npytugh wywhnydyh pwpd gpny dwinwlwpwpnp b Ygnw-
ontiph YuquwYbpwywd hbnwgnuwp:

Snipp strGupynipiniG b wnpynd punwpwihlG gwighg L wpwntiqjwl hn-
nuwunwlgptiphg:

uiwnwywpwpdwh hwdwhwpgh dbg GG dinGnd dwpphy Ywjwois-
np, wndwwwjwGGtpp, epwdpwplbpp, wpwnwphl U GipphG funnnywlyw-
upbipp: - '

Rnipp Swivuynud § wpnwnpnipnGibpnud hnbjw) Gupwinwyabpny’

- wpnwnpwlwl  (nbfubninghwlwG), npp Ywqdmd © 9ph wdpnng
dwluuh 70-80 %-p;

- YblgunujhG (Ywgpwwnil, uwlhwlgnyg, dwywpwl, Ywlwswupw-
wnd); -

- hwlwhpnthwjhG (wpwnwphG U Gepphl nwpwsplbph hpnthh dwpdwl
hwdwp); '
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G106y Jbpnhhgjwihg™ nwppt
pbipmd 66 YGunpnlwgduws hwd

wnwislwgyws gpwiwnwwpwpdwdp; wpmwmwhwﬁ?%wﬁhmm#&:{:ﬁ%
gwnwihl U hwlwhpnthuwjhG: Smpwpwlymp hwdwlwpg hpbiGhg Ghplw
]Lugti’;;ui‘1 tbhﬁgﬁmpnljﬁ 2hGnumG: s

ph owhiup Ywhiws £ i wpnwnpnip

_ Jwi mandwénipiniGhg U

hqnpnijniGhg: Ush U Yuph wpwnwnpnjwl fungnp Ahnﬁﬂﬁmp)ﬁ{ﬁﬁt!‘ngmd
oph (;Lursu;ng opnud Yuqind & 34 hwquip o>

- Slntuwlwi U Yelgwnwihl GywnwyGb
bp npn2ynud | hbnlyw, pwlwaslny. ! i Gufudut onh putu-

G K-g-N

nown, =

. Vdw, (2.34)

npwnbin K-O.gnh wlhwjwuwpwswi SwhuudwG gnpdwlhgl £. K = 1 52,0
g-0" 1 dwpn-hbppwihnfunwy nGunbuwlywa GupwinwyGbpny bu,Jh;u-
\ qwd onh pwlwlp, g = 25 fdwpn htppwinfun,
-0 ‘hbppwlhnluh nnnnigimlp, © = 8 dwd,
N-p” hbippwipnfund wzfuwmnq hhdGwlwl walvwnnnGtiph phyp:
N = My “1-Ugptpp
1900
npunbin My, -G hbppwihnfun wpwnwnpynn dpbipph pwGwyG t, n,
n-n mu{nd_w hppwihnfubiph pwlwy £,
Uygpenp -0° Upbpph Ww2iwwnwinwpnpnGe L, dwpn/dwd, 1900
dbY dwpnn nwplwo w2liwwnwGpwihG Inlnp, dwd
2. Sbjulninghwyw0 Oywinw|Gt
nny ogunwgnpd
26(m hwdwp Yhpwnynud ¢ hGwnlywy pwﬁidl?n. S anh pu Gy npo-
G -MN

u,

3
, W/dwd, (2.35)

npuntin :JA,,-\G htppwihnfun.d wpunwnpyan dpbipplbiph pwGwyG &, u,
‘ -0 1w dpbpph hwdwp Swhiugnn oph pwlwlp. N = 6-8 4¥/n
-0° hbppwipnjuh wnlnnnipniGy, d: ,

3. Jwunwyb waqlwh h
htinlyw) pwﬁwéunnlr, Hig “ wmun duuudnn gph pwlwyp npnymd £

Ghun, = F - n, @du, (2.36)
npuntkin F-D‘ [d_wgqnq hwwnwih dwibpbuG £, 62,
n-p’ 1 d* hwuwwyh Jpw dwtuudnn 9ph pwlwyp. n = 5-6 I:
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4. 3wlwhpnbhw)ht Gywwwlybtph hwdwp 1 )hph dwisuh Gnpdwh pG-
nniGymud £ 2,5 /4, 1 dwddw pGpwgpnud hpnkhp dwpdnwd £ 4 2heh oglnip-
jwdp: IwdwpyGlipp Yuwwwpynd GG pun wil hwGqudwGph, np hpnthh
dwpnudp wbnw £ 3 dwdpg ny wyb:

Uuyhuny, hwywhpnbhwihl GuuwwwlyGpnyd oph dwjuup hwyjwpy-
ymd £ hbunlyw| pwlwalny. '

G=g-n-7, Fldwdy, (2.37)

nputin g-0 1 2heh dwjuuh GnpdwG £. g =25 A,
n-p° 1 dwdjw plpwgpnid dhwdwdwlwl wijuwwnnn 2hptinh pw-
Gwyp.n =4,
1-0" dwdp YuplwGGlp nwpaltiine gnpdwyhgp. == 3600 y:

5. Uwlhwwpwlwl GywnwlGpny dwheujws oph pwlwlyp npngtijn
hwdwp Yhpweynw § hbunlyw| pwlwslp.

Guwe. = 20; 1 &is 1NNy (2.38)
nputin a-0 Jhwowdwlwy wyfwnnn vwbhnwpwlwb vwppbph oguiw-
gnpddwl gnpdwyhgl |,

n-0" uwOhnwpwywh vwpptiph pwlwyp,
g-0" 1 uwngh Ynndhg dwfuuyng gnp pwlwlp. |-
UwGpnwpwlwl vwpptiph pwGwyp GipYwjwgdnd £ unnpl pipdus

wrjnwynid;
v X Unyniwwily 2.18

Uwlhunwpwwh Guywwnwyny oguwgnpdynn oph Swfuup

3/h Uwpptiph wOjwGnwdp g a n Gpgn,
1 | Onpwy’ Jwgwpwlwynbph dnun 0,2 05
2 | Onpwl’ Juwgwunbinh dnin 025 |05 B
3 | vdpwYuw)hG nbquywjwbplpnd | 0,25 (1,0
glgnin ]
4 | Swjnwnpjnip 0,035 | 1,0 2
5 | 2niqupwlwynlph nanann énpwly | 1,3 0,3
ClnwdtGp Z Gy,

n-p hwpgwplynui & pun hhdGwyw G wojuwwnnnGbph pyh:
. 8GgninGlph hwydwply: 7-8 wylswwinnh hwdwp Gwpwwbudnd £ 1
glgnin: '
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Lwgwpwbwynlph dnin qunlynn dnpwliGlpp hwadwpl: 3nipwpwly-
jnip 8-10 wofswwinnnh hwdwp Gwhwnbuynd § 1 Jwgupwi b 1 qnigupw-
Gwynhp:

Lfwgunnbinhr dnin qunlynn énpwlltiph hwadwpl: bpbp wpnpwunn-
nhwlbiphg jmpwpwgnipnid, Jupwybinh ubiljwyned, wpnwnpwdwund nb-
nwlwpnwi £ 1 dnpwl:

6. Odwlnwy Gwywwnwllbpny swjuuyny gph pwlwyp npngtiynt hwdwp
Ywwwpynd £ -

- uwlhunwpwhhghtGhy GywwwlyGtipny dwiwuyng onph hwoduwply

G =01-Gy 5 ddud,  (2.39)

nputin Gy-p wbjuGninghwwi bywuwlltiph hwdwp oquwgnpéyng
onh pwlwlyG E, ¥3/dwdy,
- pnylapmud 9nh wipwgdwG hwdwp gph swheuph hupuply’
» G, = 1,5, ¢*/dwd,
~ YnGnbluwwnpnd wénGhwyh YnlntiGuwgdwh hwdwp oph dwjuup
hwaqwpyy’
G; =5,2, 0¥/dwd,
- Ywpuw dnunp gnpdnn 9ph hwdwnly
G, = 1,8 d¥dwy,
= nwp 9nh huduiply:
- Swp 9nipl ognwgnpdynud £ ubfulninghwywG, nlunbuwlwl b wy
GwwuwGlipny: Swp 9ph dwfsup (Gs) hwpqwplynd £ hinbyw Ytipy.
- Inipwpwlsinip gligmnh hwdwp® 270, '
wgpwwnwlp® 1 4g snp hwgnuwh hwdwp® 25 L
- dwywpwlh U junhwlngh hwdwp' 1 dwidnwd 250-300 L

wbjuGninghwwl  uwppwynpnuwiGliph, gnyph hwdwp® 1 dwdnd
280,

0Unhwlnip oguwgnpadwG {wgwpwlGtph dnpwyGtiph hwdwp® 1
dwdnuw 55-65 |:

Ujuwhuny’

Gop. =2(G, + G, +G; +G, +G): (2.40)
7. Snpdwpwlnu oph dwdwihG dwiuup 4ywqdh

Goug =2.G; (2.41)
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- 8. tunnnywltipny dwunwlwpwpdwl nbwpnwd gph pwlwlp npnztint
hwdwp wGhpwdtiow § hwyjwpyb) unpndwlGiph wpwdwghdp: Iwzdwplp
Ywwwpynu £ puwn hnuph pwlwabh’

G=F-V, 0%, (2.42)
npinbn V-G funnadwlwpwpnd  oph pwpddwlG  wpwgripmGG L
V =5:15 U/,
F-G junnnywyGtph (wjGwywG updwoph dwykpbup, %
r-d*
F= ; (2.43)
4
2
G== d v, (2.44)

4
4 G
d=";'7, (2.45)
d=ll30-‘/%'—:
'

- lunnnwywywph wpwdwghdp npntint hwdwp hwayh £ weGynd, np 1
nnydp = 25,4 dd:

2.6.1.4. 0MUSNRNRRSUL IUTUULY

Swpwopltpnd whnnunyws onh dinfuwphlGnudp wlhpwdban wwpw-
dbwnptpny wpwnwphl pwpd onnyg Ynsund & onwihnjunipnil: Onwihnfuynn
onh pwlwlp wwjdwGwynpnd  onwthniuynn hwdwwpgh hgnpnipinlp U
hwlnhuwGnud £ onwthnfuhsh pGupnigwG Giulbnwihl ndjug:

OnwthnjudwG  hwdwlwpgbpp nwuwlwpgnd GG hbnlyw] wrwGs-
Gwhwunynie)mblbpny’

- YnGuwnpniyuhy Ywwnwpdw(;

- onh 7powlwnnipjwl tnwlwyh:

Cunn GowGwyniejwtG wwppbpmd GG ninnubnu b pwnzhs: Npwbugh
dhwdwdwlwy Yuwnwpytt b pwpd onh Jwunwlwpwpnud, b wnunnnyws
onh nnipu dnnd, Yhpwend GG ningnwhnu puphy onwidinfunieniGp:

Unwyb] wpryniGwytn tnwlwy t onh YnGnhghwgnuip, npp Yunwp-
ymd & onwiinfuhsGph dhongny U wwhnw £ wwpwéph npnawlh wwpw-
dbwnpbipp:

nSumptinnul kG onwihnfudwG pOwywa b dEuwlhjwlwl hwdwlwpgtip:
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POwywl onwinfudwl dwdwlwy onp Gbpu £ dunlGnid. tnwpwop h
hwohy wpwwphG b GEpphG gbipdwunhdwGGph wwppbpngjwa, hizwtu
Owl pwint wgnbignipjwdp:

UbjuwGhywlwG onwthnfudwl dwdwlwy onp wbnwihnjuynd £ onw-
nwpltipny onwihnjudwb uwpptiph d02dwb dhengny:

- OnwihnjudwlO hwdwYywpgbpp wlhpwdbon £ wnbnunpbp wpunwnpw-
Ywl wwpwsplbphg nripu™ hwayh wnGbny funGwynipjwl YnbntGuwgnidp
uwppwynpdw( npep: -

Lwluwgdynn gnpoéwpwlnid onwihnfunignGl hpwlwlwgynd £ wnw-
owgnn gninphltiph, qugtiph W hnintph htnwgdwl Gwywwnwyny:

UGhpwdbion onwihnjuniejw pwlwyp npngyntd £ hbnlyw) pwlwalny.

L=m-V, d¥/dud, (2.46)

npwntin m-0 onwthnfunipjwb YpybwwwwpynyeniGa t. m = 0,3-7,8, dwd,
V-G" ohGnipjwl swywyp, U*:

V=_S-h, (2.47)

npwntin S-p 2hGnpjwG dwybpbul k, ¢2,
h-p” 2hGnigjwC pwpapniemlp, J:
hGypw( pwwn £ wnnnuindwd 2h0npjwb onp, wjlGpwh dto £ onwihnjunie-
jwl YpYlwwwwhynipynilp:
pnaynd £ prpnp wpuwnpwdwubphg nt nbqudwubphg hinwgynn
onh, hGswbiu Gul pGrhwGnip onh pwGwyp’

YL=1, (2.48)

Onh wbnwihnfudwl hwdwp Yuengynid £ wphbunwlw onwihnfudwG
onwwwpbph hwdwlwpg: Onwwwp gulgp wewp £ pwniugws |hoh w-
nwGahG wbnwdwubphg (hwuwnwwnnlG hwwnypny, onh wpddwl hwuwnw-
wintl wpwgnijwdp b dwhuuny): - '

Onwwwph Yupqwoph dwlbpbup npngnd 6G* hwadh wnGbiny onh
dwluup L (§%d), onh pryjwwnpbiih wpwgnueynilp V d/dpy (V = 4-14 d/dpy):

Onwwwph Yupywoph dwybpbup hwaqwpydwl pwlwalG

Fe L 72 7-d?
3600V

4
2 -
L=”d.y dzzﬁ d= 4 L
4 nV 3,14 3600-V
d:l,BJL § Ywy d=ll3OJ L
3600 -V 3600 -V

L=F.v F=
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Ynp onwuwpbph wpwdwghdp npn2ynud £ htnlyw) pwlwauny.

d= 1,13.\/2,0, (2.49)
7

npwntin L-G onh dwywG £, 6*A,
V-G" onh pwpddwl wpwgnipinip, 4+14 J/:

Swpdw gnipun GnwlwyltphG wGhpwdtion £ wwpwgll) shGnipinil
dwnGnn onp: SwpwgndG hpwlwlwgynd £ YwinphdtinGiph oghnipjwdp:
Onp nwpwglbnt hwdwp wihpwdtign ghpdnipjwl pwGwyp npngynid £ ht-
nlyw) pwlhwalny.

Q= 0,278 -L- p- C- (tm.on _twn\n.on) dn,  (2.50)

npwntin’ 0,278-p Y/d-p Ywn-h Ytipwdtiint gnpdwlpgh £,
L-p* gtinnigynn niwpwopGhiph onh dwywip, ¥,
p-G> onh funnyynilp, 1,368-1,47 Yg/u®,
C-G" onh whuwlwpwp gtipdmGuynienlp, YRAYq °K,
t‘,,,o,}-ﬂ‘ nwpwgyws onh stipdwuwnhdwbp, 18 °C,
tupnon=D” WPNWphG onh gtipdwuwnhdw(lp, -12 °C:

Ywnphdbipltpnd onh wpwgdwl hwdwp wﬁhpwdbzm gninpant pw-
Gwyp npngynud § hbnlyw) pwlwalny.

3,6-Q
D = - > Yo/d, (2.51)
npwntin Q-0 gbipdnipjwl pwlwya £, Y,
X-p" nwpwgynn gninpant snpniejwl wuwhdwlp, 0,9510,98,
r-p° wwpwgynn gninpnt pwplyws gbipdmpinilp, 2171 YAy,
n-G° obipdwynpniunlbiph gnpsdwyhgp, 0,9510,98:

2.6.1.5. UNSNRANk FUTIULY

Unjninnt hwdwlwpg £ Ynsgmd w)G hGetGEpwywh ohGnieniGGtpp,
npnlp Gwfuwwnbiugws GG atrGwpynigwl Yenwweptiph hwjwpdwh, nb-
nuihnfudwG, Jwppdwb U wnuwhwidwl hwdwp: Ap b whin Yenuw-
YunpGlpp owpnnud GG gwpnhsGpny, www fuwnelnd G0 d6d pwlwyni-
pjwdp oph htiw, nphg htivin ninwpynud pGnhwlnip funnnywlwywp:

Unuweptipp pOnipwgnpynud BG pun wnunnnwonipjwl’ dwpwnnywsd
- YGnwGpGtph uywinh, wnhpwihG, GopwdptppwhG, uGGnwihG dwpub-
ph, prslwdup duwydwld wprnwipwdwubphg; ng dwpynujws - Yhlnw-
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GhGbph Owhwuwwinwiht wywhdwG Juipbphg; ny wnununurs - uwnlw-
pwlwjhG Ywnnyglbphg U ebipdwihnfuw-Gwyhsbbphg, Ywpuwjwwntphg;
wnununjws - uwahnwpwywlb uwwbnwngGiphg, dEynwwpwbhg:

Sntpwpwbynip wbuwyh YEnunwepbph hwdwp whpwdbin £ Gwhw-
nbub) wrwOaht hwdwlwpg:

Lwiuwgdynn gnpowpwlh Yanunwepbph hwywpnidp, wbnwihnfunddp,
dwppnudp, Jwlpbwqbponudd wwwhndnn hGdGGEpwWYWE Ywrnigwoplbpl
wodwymd GG Ynpninnt hwidwlwng: Snpswpwlh fbnunweptpp Gwjubuw-
4w dowlyndhg htinin (gdnd GG Ynjninh: bpb gnpéwpwbnid syw wjnwhup
hGwpwynpnipnib, www Ywenigynw &6 Yenunweptpp dawlydwa GGpwpynn
dwppnn Ywenyglbp. Yenunwenptipp jhndhG dawldwl GGpwpyyting hbwnn
G0 niqupyynud opwdpwpbbip:

Unjninnt hwaqupyp Ywwnwpynud £ pun hnunn gpbiph pwGwyh, hwayh &
wnlynd Gwl, np wbubninghwywl, wpownpuywb b nGnbuwlwi-
YEGgwnwihG Yenwweptiph gnudwpwihG pwlwlyp Ywgdnd £ gnpdwpwGh
oph dwhuup 90195 %-p:

Gug = 092Gy, UIY: (2.52)

Upunwnpwlwh Ytnunwepbph swywp®
Gu.wnm. =g Kf M

npuntin g -0 wpnwnpwywa eph swiuuG k, g=6,2 - 8,0 63,
M -p” dwidwjhls wpnwnpnnuywlnggyniGa k, n,
K -p" oph whhwywuwpwswih dwuuh gnpéwlhgGk, K, =1,4-2,0

SGuntuwlwa, YGgunwjhG Yenuweptiph dwywyp YihGh
Gu.mﬁm. =xgn-d Ydny
Gnﬁn.tunm = Gu.tuntn. + Gq_mum_ =0,9-0,95- Gﬂﬁﬂ
Unjnunnt funnnywlh npwdwghp hugdwplynu £ hbnlyw) pwlwalny.

d=1600-\/g, dd, (2.53)

npwntin G-G Ytnuwenptiph pwlwya £, 334,
V-0 Yinuwepbiph Jwpddwl wpwgniejnibp. V = 0,5...2 J/:
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2.6.1.6. UUNULNKER3UL IUTUUrY

UwnGripjwG hwpdwnlp Juwwpdnd £ pun Gurphwywl hwaqwplh,
nph Uhgngny npnyntd £ dpbpeh gnuwdawydwh dpw dwiuuynn gtipdnip-
jniGp, 2hGwpwpwlywC ynGuwnpniyghwibphg wknh niGtignn, hGyubu Gulb

suhwgnpodwG gbpdwihG hnuptipp:
Jwpdupyp Ywuwwpynd £ hbnbjw) pwlwalny (nipwpwbgntp fugh

hwiwp wrwGsh).
Outy, = F - K - (fyy =t dun, (2.54)

apwnin F-p daynwwgiwb JwlbpbuG £, 02,
K-G" gbpdwdnuwGuynipjw gnpdwlhgp, dwn/d? °C.

npup wwinbph hwdwp K=04,
Gbpup wwwbph hwdwp - K=045,
wrwutnwnh hwdwp , K= 0,6,
hwwwyh hwdwp K=0.3,

t, U t;-0" wpuwphG U GepphG otindwuwhdwdGtpp, °C:
Uptipph uwnGwpwlwihG dpwlydwl dwdwlGwy wbnh nGlignn gpunnt-
pwG Ynpnwunp Yupuws £ Gul Jebpplbph, wwpwjh wbuwyhg U hwg-
Juplynd & hGunlyuwg pwlwalny.

1
Qu.ﬂz. =8_6_4'(G'C+Gm -Cin) -ty — o) dun, (2.55)

npubn G-G 1 hppwthnfuntd wpuwnpynn debipph pwlwya £, Ug.
C-G" wjuw| Jpbipph gtipdniGwynipniip, 2Myq,
G,-0” nwpuwih pw2D, Yg,
C,-0" nwpwih ghpdnibwynieinbp, JYyg:

- SpuinipjwG YnpnunG wGnthbnl npnzdnud £ puwn dwnwqujpdwl
OF = KFgAtsZ, dn, (2.56)

npnbin K-G dbynuwgdw gbiptwinfuwlwydwl gnpowlhgl k,
Z-p" wjwi Jwybptuh dwnwqujpdwl wlnnnpnlp, dwd,
F-G" dbynwwgiwG  dwybpbup (Gwnwqupiwl  wqntgniejwl
Gtppn qnGynn), W%,
A0 gbpdwunhdwGhph  hwybyw] wwppbpnigymGp, npp hwy-
Jupyymid £ hunbjwy pwGwaling.

P
Atg =0,75- LL—— °C, (2.57)
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npwnkn 0,75-p ebipdnipjwl wanbgnyejw gnpéwyhgl £,°
I-G“wnlmuhﬁ dwnwqupdwi wpdwonpnaG wdnwGp,
P-G‘ deynwwgdwl dwybpbup ebpdwihb Ywbdwh gnpdwyhgp,
L-p lJthindujhujr'lnmulluuﬁnlr.}]ulli (onhg nbwh wnwuwnwn) gnpow-
gn-

CanhwGnip gpuinejwl wwhwbep hwyqwpyynwd § hbnlyw| pwlwaling.
0 =0 +Quuy. + s +0a, Yl 0=0,+0, + 05 + 0, din (2.58)

Qhwztl. = EQZ £

npwnbin B - YnpnwwnGtpp, B = 1,12, Z - Yndwpbunph wzluwwnwlph wun-
nnentlp, 17-22 dwd o ph i
OnwthnfudwG hwdwp gbipdwjhG hnupp YihGh®
: O = Lon ’ iu:ntn. _iﬁhpghﬁ
NN fyp U iggpepg= wpnwphl U GepphG onh wbuwywpwp LGpwi-
whwa, M4,
Loq - Or}h bw‘lwlﬂ
Qbpdwhnuptipp pwhwgnpddwl dwdwbwy npngnd 66 hwlyw) pwlwaling
0, =(01-04)-(0+ )
Cuwn dtpnhhgwi hwadupyh™ pGupdmid £ Yndwpbunp: Uuh wpgyniGw-

phpnpinGnud ogunwgnpaynid B0 AK-45, XMA JwlGhoh wwppbp wpnwn-
pnnwlwane)wG Yndwnpbunplbp: 2 NRGP wpuwn

-d

£ 26.4.7. 6PULUUSULUAULUUL IUTUUNY

Lwluwgdynn dbrGwpynipnibnd 9bpdnipintap &
p dwiuudnid £ wnbjulnin-
gtgwquﬁ, uwChwnwpwybOgunwih@, onwihnfunyejwa, gbrnigdwl Guwnwy-
pny:
1. Rnnigdwl hwdwp gnnpant dwjuuh (Dy,) hwoqw ilv -
dnid £ 9Ennigdwl hwpdwpyh pwdlnud: sa) RUZLRUR SRR
2. Onwdwnjuneywl hwdwp gninpant dwijuuh (D) hwodw Obplw-
jugynud £ onwihnfunipjub hwdwpyh pwdbnud: " Hunte Bonl
3. Stjulninghwlwl GwwwwYlkpny gepdnipjwl dwiuup (Dyy, ) npng-
ggmh thgﬁqgwﬁglnu wpwnwnnwlph hwdwp gnpdnn fungznpugqud ﬁnndw—
ph, hOswtu Gwl vwppwynpniiGtiph wGaGwgpb b
dwdwihG dwiuubiph hwdwawih: anonhg dEngHu gninnant
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4. VwGhwnwpwytiGgunuihl GywwnwlyGph hwdwp bw!uum{nu] E wnbfu-

GninghwwG GuywunwyGlipny dwiuugws gpdnipjwh 86 %-p

Dy =086 D> Yg/d: (2.59)
CanhwGnip gnpnpant Swuup Yuqdnd £
Dnﬁq. = ngn. + Doq + Dmb[uA + DL|- qud (260)
5. 3tnwnupd YnGntGuwwnh pwlwyp npnadnd £ htinlyw| pwlGwalng.
My =080 Dy, Yg/d: (2.61)

6. Ywpuwjwnwl wlplnhwn wuwnwiph hwdwp whnp £ hwaywp-
4t inwgnigh dwnwlwpwpynn gnh pwlwlp
M[.d = Dn(m. _Mus qud. ‘ (2.62)

7. Uwwnwlwpwpynn 9nipp lnujpmgﬁh[m hwdwp Swfuuynn gninpont
pwlwyp hwywpyynud § htnlyw) pwlwany.

M ,-Co-(to—t5)
12 "t Ve T he

= > Yg/d, 2.63

Dinup L (2.69)

nputin C -0 9ph-gtipdwwnwpnnnupnba £. C,, =4190 Rlyg °C,
t,-0" nwpwgpwd onh otipdwuwnhdwlp. t,=40-45 °C,

t,-0° uwnp Swunwlwpwpynn gph obipdwuwnhdwp. t,= 10 °C,

r,-0" (nwgnighy Jwwnwlwpwpynn onph etipdnilbwynipjnibp, 518
LY,

x-p" qninpont snpwgdwl wunhdwap. x = 0,95-0,98,

n-0° oipdwynpnwwnbtipp, n = 0,95:

8. nipp gninpzh nwpdGlne hwiwp Yhpwnynud £ henlyw) puGwalp.

Q0= Dn(m. 'C[.g “(Tin =1y ), d, (2.64)
npwnbn T,-G gnpnpont obpdwunhdwGG £ 0,9 UpG dhiwl dwdwlwy.
T,=174,5°C, ‘ :

t,-0" htvwnwpd YnlntiGuwwnh oipdwuwhdwap. t, = 85 °C:
9. Snnpont wpunwnpnipjwl dwdwGwy Jwnbihph obipdwihl Swhuup
hwoqwpyynud £ hbnlyw) pwGwélny.
Q
By =——, yg/d, (2.65)
q Qu . 77[] ll
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npwntin Q,-0 pGunpqwd Jwnbihph windwh gipdnipiniQG k. qugh hwdwp
Q,=35,7-108 /3, dwqniph hwdwp Q,=41,4-108 /43,
n,-0" gbipdnipjwa 0.9.6.-0. qugh U dwgnieh hwdwp n,=0,77:
Cuwn gnjnpont panhwOnip dwhuup® pGunpgnd £ E 1/ F dwlOhzh jwpuw
(0,9 Upl d0pdwdp U wiwppbp wpnwnpnquywlnggjwdp):

2.7. UUNYGPBULG P 3UTJYUrye

2.71 Unrek Ursuarusuy suuuuceuer ursuruvuvsrh
UuysreuLers ucduruc

Upnwnpnipjwi Juqdwybipydwb hwdwp ywhwbeynn wpnwnpwlwd
dwytipbulbph funnpugqwd Gnpdwlbpp Ywdwd b0 Gwjuwgdynn wp-
nwnpwiwuh wpnwnpnqwwanpnihg (hwybjud 2.9): Sntpwpwbynip
wpnwnpwlwl dwytpbup (A) hwpdwplyymd § YeGnwGhGaph ppupupuls-
nip nbuwh hwdwp Gwpwnbujws dwybpbubbph gnidwpny.

F =n-N (2.66) -

npuntin » - YGGnwGhGeph  jmpwpwlynp  wnbuwlph dup  pwlwlls £
htppwipnjund, i,

N - nipwpwlynip nbuwyh hwdwp Gwwnbujwd Jwybpbulb-
ph Gnplw@’ Ywjuws dnpph wpunwnpwdwuh  wpnwnpn-
nwywenipniGhg, dn:

Jwowplybliph  wprymiGpltipp  GbpYwjwgywd GG wnnwy 2.19-h
ophlGwyny:

Unynwwly 2.19
Upunwnpwdwubiph dwybiptuGph hwadwpyp

UGwumbh nbuwyp

3 =) '
3 3| s a5
23 3] 3lg: |B2 | o3
33| 5| =5|522|85,| 73
=z 2 3 5 3 g3|% 3 =
& = 3 = = >23lag 3 ==
5| &2 | =2|853|252| §5
S5 S5| b3 3 3 (%':%E}:)g:_ JF S
NIFINTFINJF[NJF|INJFINTF
Swywph dhu
bungh dpu
Nsjuwph dhu

Clnwdkbp U, pwn. prhsp
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fninp wpnwnpwdwubph pGnhwGnip dwybipbup YhGh* N - pwnwyntuh
dup Ywd Ny - 2hGwpwpwywl pwnwynwuh prhsp:

* thiwpwpwywh pwewynwh prhsp unwlwint hwdwp pGnhwGnip dw-
Yytpbup pwdwlni tGp 36+, tpb. unGbph prhspObRD nwuwynpwd &G
6 ubp htnwynpnipjwl Jpw (6 x 6 = 36) ywd 72-h, tpb ujnbbinp puuwW-
dnpqwé 6G 12 dbwnp hnwynpnuejwh Ypw (6 x 12 = 72).

. N -
N, =% pwn.prhsp ywd N, = =2 pn.pafizp:

* hwsdwnUby dnneh wpnwpwdwuh dwybptup, GpE heppw-
\hnhjgpft]q?:#rlup]nllzilé hr:.lllll{lluuurfflé‘ u:]wl{wr}?h dhu - 30 w, fungh dhu - 15w,
nsfuwph dhu - 5 w: ‘

Upwnwnpwdwuh pGnhwlnip Jwytpbup YhGh
Figp. = Foow. + Fosp. + Foan. (2.67)
npwnbn Fggp, - GupuGwywh dauynw (GnhwGnip),
Fogum - GwulwywG Sawynud (wwywph),
Fop, - GuiuGulywG dawlymd (fungh),
Fogn - GwhuGulywG Guiynud (ngfuwph):

" Jwdwéw)6 hwybws 2.21-4° npngmud Gp dbp ophGwyh hwdwp dey
dhwynph dwybptuh GopdwG. Ngga =145 JZn:
Jbpwhwydwpyp Ywnwpnd Gop° kiGEny dtip ophGuwyh niwyGbiphg U
hwiwywnwuluwtgltind hwitdwnwywh wpnwnpwlph hwdwp Owfuw-
nbkuyws Gnpdtiph hbw.

15-6,5 3
- 2= _(15,4-23)=18,03 ¢*/un,
Muan =230+ 35 55\ )

50-43 _
Noan =430+ 554 3= (34 -45)=43,21 hn,

Foop. = 30-14,5+15-18,03+5-43,21=921,5 ¢*

chGwpwpwlwi pwnwynwhGbph pwbwyp yihGp*
N, N —&’2=12,78 yuwd 13 2hbwpwpwywb gwoewynwh:

720 12
UhGsu dnppp’ 2 dwd whpGndbe wyhswwnwGph Gywunwyny lqbﬁr}wffhﬁbph
YnunwlwG uwpwoplinh hwdwp 1 qyntfu YtGnwiniG Gwpwntuunid L‘2
- hbu- 2508, Utu- 058, lunq- 0,8 d%
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OphGwy’ hwajwpyb| dnpph wpunwnpwdwup b dubnfph dawldwb wp-
nwnpwdwup dwytpbup heppwihnfunid 50 w dup Jawydwh hgnpnipjwdp
dbY hwpywhh 2 gnigwhtn wluwwnnn hwpwhnu gdtipny 26Gpntd:

1. Apn2b, wprnwnpwdwuh pwGynpwlwh dwybpbup.

F =236%/n-5010=1150 4%
2. Npnt| ywhbuwnwihG wiwpwoph dwybpbup.
F=0,260%/in-50wn =13 U2
CanniGEinyY 2hGupwpwlwl pwnwynwhl 12 x6 =72 ¢ JuunwGwp

shGwpwpwlwG pwrwynuhGbp’ 115702'13 =16,5 Jwd 16 hww:

2,7.2, yunLuruuierpk UUubrsUub 3ucydurye

Uup Jbpwdwydwl wprnwnpwdwubpnd vwelwpwbwhG wywhbuwn-
Gbpp (jugliph) dwybpbubbpp hwadwpynd 66 GjGGINY wprwnpwdwuh dky
htppwihnjuh hwdwp ywhwGeynn hnwiph pwlwyhg U npnawyh dwiwlw-
Ywhwwywsh hwdwp ywhbunwihG hnwph Ynunwydwl pwbwyhg: Uwn-
GwpwGp dwybpbup hwqupydwl hwdwp GQuunh £ welynd wywnbgjws
duh U vwnbgyws duh pwlwlwhG hwpwpbpnyenilp:

UwelwpwGh dwybpbup hwaqwpydn £ hbnbjwy pwGwdlnyg’

FaApt (2.68)

npnkn’ 4 - hnC{dérh pwlOwyb £, w/htpp,
p - wohiwwnwlpw)hG htppwinfuaph phyp,
g -dpbpph  wGuwlwpwp ptnGwynpdwl  GopdwG, w/d?
(hwybwd 2.9),
¢ - whwwadwh wunnnipinilp, op,
f =ohGwpwpwlwh pwawlnwn dwybpbup, 6%

bpb dwdwlwyp wpdws £ dwdbpny, www hwjrnwpwpnd wybwgynud
t 24 phyp:

Opplwy’ dup Shwwq uwnbigdwh nbwpnw (-30 °C ebipdwuwnhdwih U
onh plwlwl powlwenpjwl wwdwaltpnu) gpunwdwydwh ghyh wnitn-
nnipniGp pGrniGynid £ 48 dwd, huly dup wwnbgdwl nbwpnd® 24 dwy, npp
hwlwwwwnwuluwbnd £ wwnbgdwb rtdhdh, bpp ugh ebpdwuwnhdwanp 0
°C k&, huy onh 2wpddwG wpwgmp)niGp’ ng wwlwuy, pwh 0,5 dpy:

Uu YnGypbwn ww)dwbGbph nbwpnd npnotbp fugbph dwybpbultpp,
Gpp A4 -0 hwdwuwp £ 50 w/hipp: CanniGnud GGp, np duh 80 %-p dnGnw £
uwnlwpwh wWwnbgdwl hwdwp, 20 %-p* vwebigdwl hwdwp:
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Swybuws 2.1

TwnbgdwG jugh dwibpbup Yhlh’ Stppwinfuwihb wpnwnpupwbwyh b wwnwdwdwiwyp Gnpdtpp
_ 08:50-2 _¢¢ ohG.pwn. YblnwGhGEph dnpeh nbwpnid
Wt 0,2:72 Unppynn YaGnwGhGbiph wbuwyp, dnpph | Upinwppw- | Uguwnwdw-
2. Mwnbgdwd duh wwhuywliwl wwhbuwnh Jwybpbuh  hwadwny YugdwybpuydwG UG m pwlwyh dwlwyh
( whmwﬁdwu nbnnnugnlp” 2 op = 48 dwd). wpnwgpnqulwlnienilp Gnpp, Gnpdp,
& 0.2-2 gy/hbpp. | pnwb/gnit
_08:50:2:2 _ 445 jhi.pun. 3 2 3
" 0272 GG wwhbunGbph 1 | tungnp tingtipwynp YbGnwGhGp N
 bipwipbppibph wwnbigiwG jugh U wwhwwltwl W w) ng YnGytybpwihG Yupundh ghs,
dmuinhuﬁzl:hphglzgtlw[r]\t (g= 0,1 wAi2, gnnwiwldwl ghyth tnlnAnip(nt- wpnwnpnnulwbngnlp®
Gn® 24 dwd, wwhwwGiwG wnnnipmbp” 2 op)- dhsu 150 gy./hbipp. 9 47,1
U e  2305.2.48 150 - 300 g./htipp. 10 40,7
Fgp - WwhwwGiw. Fegp =05 7554 = 4,06 JhG.pwn. 300 qu./hbpp. b wibih 12 354
'05 2.9 p) hnﬁl{hlhﬂwlhg Llaufumlhﬁqm
“ 7,305-2- wpwnwnpnwlwilbnggmbp”
. 49894 27 903 9h0.pwn. [rwnnnn pintlp
Fugp - WwnbgUul. Fig =370 o =208 i ihGsk 800 g /hkpp. 13 323
_ GUwG wwhbuwnlbph dwyb- 800 ~ 1200 gj./hbipp. 14 30,0
4. UnpGbph wwnbgiwl: fugh b wwhuw 1200 - 2000 gy /hipp. 15 28,2
nbuGph huzdwply (6 op, g =04 w/T’) | 2000 g /hbipp. U wdbih 16 26,7
g 176:2:624 445 06 own. 2 | UwGp bogbipwynp YbGnwGhGtp
wnh =0 4.72.24 w) ny l;nﬁd_b]bnl‘;:fﬁﬁ l;wlugll.h gho,
wpnwnpnnuwlwlnipimlp’
5. Uuh uwnbigdwl jugh dwubf‘b”f‘zhwz‘l‘”“” dhGste 2000 g/hbpp. 3 | 126
Fyn = 02-50:2-2 _5 7g ohG.pwn. 2000 gp/hbpp. L wyb(h 37 11,3
Yoo 0272 X ) unGybybnuihG Yuungh ghs,
6. Uwntigywd dup wwhwywGiwG  wwhbunh dutipbuh huqwny wpuunpnnwiwGnipmip’
(wuzhuywGUwG wbnnnueniGp’ 20 o). hGgl 2000 gy.thbipp. 42 10
0.2-50-2-20 7 ohG.pwn 2000 gy./hbpp. U wybih A7 9
wuh =T 1 4°72 =3,97 2hli.pun. 3 | lunglip® YuwpbihwGws
_ ' w) ng YnGubjGpwipl Ywiundh gho,
VwnGwpwlwhl wwhbunltiph pGnhwlnp hugupyuihG Juybinbup A —
yihGh* Jhlsk 300 gy./hbpp. 17 24.8
Py == Foug +(2040) % Fruy (2:69) 300 . qut;m 19 22,0
; = 24,57 jhG.pwn. r) YnOytybpughl Yutungh ghs,
Fruy =56 +4.4 +4,06+2,03+0,73+2,78+3,97 e wpunuwnpnnwiwlnenilp’
Foga =24,57 + 245720 _ 59 48 ohti.pwn. , dhGsh 80O gj./htipp. 22 19,2
g T 100 . = 72 ) | 800 gy./htpp. b wybih 24 17.2
DnniGns b6p" Fygq =30 206-pn. (nipwpwlyning” 6 x 12 =72 )
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-

L |

-

ongen Yugdnl |
w) ng YnGuyanuhG yutundp ahd,
wpnwnpaquwinpmin”
ihGsk 300 q)./ht
300 gy /hbpe. U will_,—

o) ynGqagbpwih Ywhindh ghd,

wnuwapnquiwlngenl

3hGsk 800 gi./hbpp-
800 g/hbpp. L wib(h 23

bihdwl Yupuwbph (@

Jwbws 2.2

wpnnuniGGnh) Gnpdwwnhyuihb

wpnwnpanulwngimig

unmmqpnqulllu.l[ml[&!mﬁﬂv yg/hipp

— T [ [= | =
3 3 3
Uwppwynpuiwl whyjw- = = g =
Gnudg, pnewahpn S 5| 2\ 55 Ed
o~ S z | 2% 3
3 35 £ 3= &
= = 3 2 =
Bt =) E e =2
QuG, 1000 580 | 1370 | 1270 | 1060
twpapRWlp
2w, 1350 ¢ 760 1570 | 1500 1320
wwpnnte{wdp
Bhdwh upuw’
y7-ddtl
0 1800
dwyGhah, 1100 850 ?150 208
g [ B S

wnwpnmpiw

158

Jwybpwd 2.
pdwdwydwl fugbph GnpdwwhdunhG wpmwnpnqwuwﬁn‘:;fnl:ég ’

Syjwilbp wpnwnpnnwwinpwt hwdwph

hwdwp
Lhuwwigunwd L
bhwd bpohlyGhp bl.hwb-;‘mumwb
UwppwynpiwG tipghyG
whwlnudy, ‘1 !
plnpwapbpp Soc| e 2
225 £5 5=
£33 (= | 32 3
2338 (5S5 (5 | g g5 £3
=8 s So =53
E |3 ] 2% | 5%
1 ] 1200x1000 dd swihb-
nh 2pewbwih pbnG- 205
e 220 | 100 | 125 130 120
2 | 1000x1000 dd swihb-
ph 2pgwlwhp 164
[masututd 178 | 80 | 100 | 105 98
3 | 750x720 dd swihbph
pgwlwlp pbinGdws 90
a i I 98 45 | 55 57 53
4 | Pnydwl ugbp
w) watuwwnwlpwihl 109 - 130 | 5
ghlih wlingnieinlp, " > ”
pawl
pt)ﬂ:utzihxwmmﬂpwmﬁ
ghynh pulwlp 4,4 3,7
e efamd , 96 | 94 7,7 80
5 | Sninpawhbithdwi tugbn
wrzl‘wztuwmmﬁgmjhﬁ T
ghyih wlnnnymip, 8
sl nip 0 100 | 20 { 30 46 45
p) wghiwnwlpuyhl
ghbtuph pwlwyp
|| hppwihnjund 6,0 48 124 | 16| 104 | 107

Dan,am,a;mG Pwpnh phnjuw
kb quq oquuugnpsbihu pnydwi
poqulwlngenGo w\{blwﬁnu}tzo %-n| P ebeh it
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Jwybpjwo 2.4

Olubigéwh (wwpundw) fugbiph GnpdwwnhywihG

o Twibiwe 2.5

Uuwnuglbph GnpdwinhyuwihG wpunwnpnqwlwany)nip

wpunwnpanwwbnienilp 3h _
Syjw)Gkp wpnwnpanwlwGnipjw S Upunwnpnnuwlwinie;nitp, Yg/dwd
huzdupbh buidup 38 | —
© bpghlbnkGh wbuwyp 2nguilbwlp [ apgwlwlh [ whiwwnwlpw- =3
swihbpp, 0d | prGdwG | b0 ghlyh wn- Uuwlpwgynn | 3 <=3 2 - . .
Gnpdp. Yg | nmipjndp, o hnwipp 523 | 35 | 35 | 24 | 3
1200x1000 135 5 . 335 23 33 35 |33
1 | 3nwwyfunwd bpohyGhp 1000x1000 110 5 29 g 59 5@ 5 | 5«
750x720 60 5 533 S| o | BL (52
Pupap wbuwlh bpws-  [—a00x100 | 150 2 285 | 22| 32| 38 |5£
2 n 1000x1000 120 2 = O5F | T 5T | oo
wugfunwd tinzhyGn 750x720 66 2 16-25 | 13600 | 15100 | 7500 | 1800
1200x1000 | 135 2 1 |Swwph dpu’ 3 2
3 | Unwehl wbuwh bhwd- — —660.3600 100 2 YunpGipny 00 | 5000 | 2500 | 600
wyfunwed GpphyGep 2
u 750x720 60 2 1600 | 1750 | 910 | 210
pwpdp b wewohl nbuwyh 7505720 55 3 9 e 97130 950 410 90
5 Yhuwuwfunwe bpzhyGhn, 1333"1000 120 1 fungh dhu 30 10480 4930 1180
vty x1000 % 1 3 3 2870 | 3010 | 1500 | 360
i nbuwh 750x720 54 1 YunnpGlpny 5
| ot wqqpunthe & 1200x1000 | 235 35 \ 950 | 1000 | 500 | 120
6 | oW | (‘}R""] ) 1000x1000 190 35 4 |ngh dhu 3 1400 | 1650 320 80
s Shu (obon 750x720 100 35 2nnunwgywé 2 460 | 550 | 105 | 25
thlumtt;b-bltiwwﬁ i oh 1200x1000 263 0,5 5 [Pwthniy tG-
7 | wqppwihu b phw u 1000x1000 21 0,5 ‘ ‘ 3 2500
(oynpnly) 750x720 115 0,5 Pudptineltn 0 2750 | 1380 | 330
(nytiwnGbp, wylinws- 1200x1000 233 0.5 ° zﬁ?;bluphﬁﬁb- |
8 ' 1000x1000 19 0,5 nRGkp,
i 750x720 100 05 ' bithws 3 4000 | 4400 | 2200 | 530
. 1200x1000 240 1,00-1,15 : ] ]
9 | Unnwihu (Ynpbjyw) 1000x1000 190 1,00-1,15
750x720 105 1,00-1,15
1200x1000 300 1,00-1,15
10 | Ypdpwdhu (gpninhGyuw) 1000x1000 240 1,00-1,15
750x720 130 1,00-1,15

buwbnpnygnb: dwjnh hnfuwnkl quq ogunwgnpdtijhu wwhindwl fugbph wpunwe-
prnwiwlbnpimit wybjwin £ 40 %-ny
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Jwybjwd 2.6

YnunnbipGinh Gnpdwwnhdwihé wpnwnprquywbnignilp

3/h

Lnpdwwnhyujhl
pOnyewantpp

Ununinbiph pwuh twpnagnlQp, |

80 125 250 | 325 |

Bwuh pbnGdwG
gnpowlhgp

0,4-06 | 0,4-06 | 0,4-06 | 0,4-0,6

UhwOywg ptinGynn hnidph
dhoht qubaqwop, Yg

45 75 150 190

UpfuwwinwGpwih@ ghyih

wbinnnienilp, pnwb

w) pwpdp wbuwyh Gthwd
tinzhyltph dwiny

p) tithwd GpghlyGph, fungh
Jduhg Gpppzhlyh U
uwpnbywip dwnz

g) wy tipzhYy0Gph,
Gppbipzhyltiph U
uwpnbiywih dwpy

10 8 6 6

UpwwnpnnwlwbnieniOp,

Yyq/dwd’

w) pwpdp nbuwlyh Gthwd
nahyGtiph dwnz

p) Ethwd tipghlyaph, fungh
duhg Opptipzhyp L
uwpntywgh wpy

q) wj Gp2hl0Lph,
Gppbipzhybph U
uwpnbijywih dwpy

350 750 1800 2280
. 450 900 2250 2850

270 560 1500 1900
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o Swbpws 2.7

buwpywluwnGhyabpph Gnpdwnhywihl wpnwnprqulwinienGp

3/h

Lnpdwunhywih0 pGripwgnptpp

dwpowewnGhsh wwnh
wnwpnnniejnp, |

1580 335 630

B bipghyGeph $uny

w) Jhwlywg ptinGynn hnudph
qulqquwop, Lg

p) wfuwwnwlpwih@ ghyjh wlin-

nneimlbp, pnuyb

q) wpnwnpnnulwbneniGp,
lg/dwd

120 270 500
4,5 5,0 6,0

1600 3240 5000

Uwunnwd Bpghlabph dwipy

w) dhwOdwg ptirGyYnn hnuiph
qulqyuwen, g

p) wwwnwlpwihb ghyjh wlin-
nnienibp, pnwb

q) wpunwnpanulwOnienidn,
Yg/dwd

100 220 410

1200 2200 3500

UnwnpdwG dhu (dwng)

w) Upwlywg ptnGynn hnwiph
qulgywdp, Yg

p) wzluwunwGpwihG ghh wiun-
nnipinilp, pnwb

q) wpunwnpnnulwGnignilp,
Yg/dwd

120 270 500
3.5 4,0 5,0

1040 4050 6000

Unwnjbwp b wbdkGGEpH JuwihG

duwn

w) dpwldwg ptinGynn hndppr
quigdwep, 4g |

p) waluwunwGpuwihG ghyh nlin-
nnientlp, pnwb :

@) wpwnwnpnnulwbnyenibp
yg/dwd

120 270 500
4,5 5,0 6,0

1600 3240 5000
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YtiGnwGh quiglwsh Ghwwdwdp, %

Jwybws 2.8
UGwuniGGaph dnpehg unwgdws dup b dGwgwd hnwiph Giph Gnpdwbbpp

-

[ lung
SwoluhwGws
z |3
Inuwiph wiyjwinwp by | Uty Juntny é{,‘ §'
= o
2 |3
| 5 53
1 2 3 4 5 6
Uhu' nulynpny 1 47. 40 69 65 62
Ahulqws bipwdptppltip
St 31 [351 | 4,01 401 [ 401 |
UYwhelbp 0,1 - 0,36 0,36 0,36
Lbgnt (ndwwih htw) 0,39 031 | 042 042 | 042
Ynipd 0,33 - - - -
Uhowwnjwdwu - - - - 2,96
Lhytp (uhpw, poplip, fepwlpw- | 2,64 | 2,41 2,54 - -
thnn, 2Gswthnn) -
bphYwdGbp 027 | - 0,25 025 | 025
Yunphs (nwinwpyywd) 1,72 | 1,99 - - -
Cpnwl 032 | - - - -
Unwdnpu (nwinwplduwsd) - - 0,56 0,56 0,56
Unndwlh (Juwlwnplbpny) 1,08 | 0,72 0,83 0.83 0,83
(unptip (Ydnwyabpny) 1,77 - 1,49 1,49 1,49
UuwnuljnpwihG wng 0,16 | 0,15 0,09 0,09 0,09
Uhu® Ybpwipwihnnhg 0,1 - 0,1 A 0,1
ClnwdbOp | 11,98 | 9,09 10,65 10,65 11,07
UnhGbip (wwpnibwynipniing) 529 | 7,16 6,12 6,12 6,12
Uhquujwpy (wwpmOwYnpmilnyg) 0,1 - 0,22 0,22 0,22
CGnwitGp | 5,39 | 7,16 | 6,34 6,34 | 634
dwpuwwhnwp
Awpwnl (punwipwdwpy) 069 | 0,78 0,42 0,42 0,42
Gphyw dwduipy 071 | - 2,28 228 | 2.28
Unwdnpuwdwpuy 022 | 01 0,11 0,11 0,11
dwpwwywnnplbp dubinpphg 0,12 - 0,06 0,06 0,06
Bupyy duphhg (Jeppwluwddhg) - - - 0,85 1,27
Clnwdblp | 1,74 | 0,88 | 2,87 372 | 4,14
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Qtindtph hnwip 0,06 [ 0,1 0,06 -0,06 | 0,06 |
Jwwnty hnudp 0,09 - 0,04 0,04 0,04
I CGnwdblp | 0,15 | 0,1 0.1 0,1 0,15
Anwip dwyyhg' degpwlwpdh hwpnwpnuihg hbiwn

Ywph, degpwlwizh 595 | 9.0 - 2,26 4,33

(4pmuynG) '

Mnywdwy 0,05 - - - -

Ywqnw wny 0,06 - - - -

tunqulwl™ dwlp - - 0,08 0,08 -

Ulnwywiwg b Ypnuidwg - - 0,16 0,16 0,16
ConwykGp | 6,08 | 9,0 | 0,24 250 | 449

' Upjnii .

UGlnh 1,56 - 1,39 1,39 1,39

StiuGhywlwG 164 | 2,88 | 1,39 139 | 139
ConwdtOp | 320 | 2,88 | 2,78 2,78 | 2,78 |

Uy dptinplip :

Lbnwujwpl 0,04 | 0,03 | 0,01 0,01 0,01

Ubnw{wi opquibOip 0.4 1.0 0,5 0,5 0,5

Jhdwawg 0,01 - - - -

Yninnylbp 024 | 0,24 - - -

Bwpuwyunplbp (wbulpluwywt) | 0,2 0.4 0,6 0,6 0,6

UnhGeph wwpnibuyinpinlb 03 0,2 0,22 0,22 0,22

3hpp 1,02 | 025 - - :

Pwyjdwn 1,02 | 0,25 - - -

Yuinpllip (Ywphshg) 0,1 - - - -

[ YunnpGbn (Guipdhg) 012 | 10 | - - -

YdnuiyGbp - 02 | 014 | 014 | 014
LOnwdklp | 2,61 6,77 1,61 1,61 1,61

Uunwidnpuh wwpnilwyntpynil 14,5 | 14,0 0,8 0,8 0,8

UnpnwnGbp 7,36 | 10,12 | 5,61 6.5 6,67
CanwubGp | 100 | 100 | 100 100 [ 100 |
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Juwbpws 2.9

_ Urwljws LGpwdptppltiph tiph Gnpdwbtpp
(sipwlué GGpwdplinpGtnh tipp Ytingdnd t hwdbidwsé 2-hg, %)

. wybwd 2.10

Unppeh b iGpwdptppGtph dowlydwa wpuwnpwdwubph

3nudp U dpbippGlp Indph Yuwpgp | BU | ULU | tung
Giniju
Uhu (qiluhg) 2 0,92 - 0,83
tppnilpltp 2 0,16 - 0,5
Yijunintin 1 0.1 0,12 0,06
Thnwnlbbp - 0,48 - -
Gwlgnuyp - 1,27 - -
SGwlgnuyp (dGnwnlGlph htwn) - - - 1,41
Ns uGlGnuyhG Juwlwnplbp - 0,17 - 0,11
Qbnabp - 0,0006 - -
Bwpwyuwhnudp (gifuhg) - - - 1,1
Fniju (wrwlg YnwnGhph, - - 3,39 -
16quh, pdwwGh U ninbinh) B
Leqnh 1 023 | 019 | 02
CdwywG 2 0,16 0,12 | 0,22
COnwdbGp 3,7 37 | 443
fénpbp 2 0.62 - 0,32
Uppwn 1 0,39 04 0,26
Lyjwpn, (uGGnughG (75 %)) 1 0,85 1,0 | 1,21
Lywpn (ns uGGnuyhG (75 %)) - 0,32 0.33 0.4
TOswihnn - 0,14 0,2 0,07
Bwpwwhnwdp (jhybiphg) - 0,11 0,03 | 004 |
Ng uGGnwyhl duwlwnplbp - 0,11 045 | 024
Clnwdklp 2,64 2,41 2,54
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dwltintuGph Gnpdwltipp
Uwlbipbiup, d?An dhu
Upnwnpwdwuh Ubtipbilwjwg- ;r:fﬁh[?:? Upnnwnpwdwuh
wiqwGnudp dw &up Qwﬁnwlqp hgnpnipjnilp, n
C ™10 30 | 50 [100
NhGhybpuw)
hwpwhnu® Ut hwp-
UGwuniGGlph dnppp, n
Gpulndp, bpw- | 3 WEUWYR hu- o Gulh ]
dpbnpltph dpwymap |, wrbwd | dwubu-
2 qniquhbin wy- 2tilp
_Juwnann ght
UGwuniGGbph dnppp,
Ugwnudp, 2 hanpwluG utibuuhhdlﬁ:- 100 | 68 | 50
tlpwdpbippltph dhwgdwo gho (T )
dawlnidp wautip
Uty hwp-
UGwuniGGbph dnpp U| 2 qmquhbn | YwGh Yud 28 | 2
dubinhph dowlnid wpluwwnn ghd | pwqiw- | 3|2
. hwply
GUpwdptpplbph
Jwldw e - - |17 {12 ] 10
wpunwnpwdwy
UOwumGGlph dnppe |  Ibppwlwl u
dubnhph dwhnd | dhwglwé gdtp | T -9 %s -
GOpwdpbipplliph
dowldwG - 1712 ] -
wpunwnpwdwu
MwhbunuwhG nw-
pwoplbp dnpph U Pninp nbuwyh .
EOpurdplinpltiph wpluwnnn gdbip o 0631041/ 0.26 0,14
hwdwp
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Jwybjwo 2.11

UwnGwpwGw)hG fugbiph nt wwhbuwnGbph Jwlybpbulbph b
whunyh gdtiph pirGwynpdwd Gnpdwltpp

. Jwbpus 2.12
Ny wnwnpqwd hnwiphg dh pwbh ywwpwuwnh pohlGkph b
junquuntfunbbipp Giph Gnpdwlbpp, %

PEnGw)hG
Ywpun- | Mwpwylbph | Iwwnwyh mbuwullr:l-
tugh (ywhbutnh) 4h wbuwlw- | nbuwlwpwp nwp
waywhnuwip qotp, | pwp dwyb- dwubpbzuu, swdwip,
Lg/d | nbup, Yo | Lo/ il
Nwnbgyws duh wwh- :
wwnw pinGwhwp- - - 500 - 1
pwlGbph dpw ‘
Uwnbgywd dup ) i ) 350
wwhuwwbnw
LGpwdpbppGbph
wwntgnu, uwntignud, 120 40 100 -
wwhwwbnu '
Uwnbgywd dpu’ ) i ) 600-800
pinyGpny
MbdLGGGph vwnbgnu 80 - 65 -
Uwnwd whdkaakph A i 400 )
wwhuwwlnw
UnpGbpp wwhwwlnw ) i 400 )
(wnwnpywd)
UhuwdwppplwinGliph ) i 100 )
wwhwwnuw
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biph Giph Gnp-
Upbipgh wGdwGnwp r?:l[&gl;; Upbnph widwGnup hn‘l’l‘]*;ﬂg
% %

Glhwd pghlyatp Yhuwwyfuwnwd

Gpzhlyatp
Uppnnwlw0 p/wn 107 {Mnpuwywlwl p/n 82
Uhpnnwlw(G' fungh p/nn 107  [Ypwyndjwl p/in 82
Uwjpwpwnwpwihl p/n 96 NpunpnuywG 67
Mnwwlwl p/n 108 |Nhlpwhlwlywl 1-h0/n 79
Ywplwhb p/in 108 | blhwd-wylunwd

' tpzhYyGtip

Pdrlwlywl p/in 108 | WjhUwwbuwihG p/in. 66
UhpnnwljwG p/n 117  |Ubpdpjwwn phn 67
UnwG&pG 1-hG/n 118  [Unuynyjwl 1-hl/in 67
Unulnyjwl 1-h0/wn 118 |UppnnwYwl 1-hG/wn 67
Swywph 2-pn/n 121 [Anudwyjjuinwd

tipzhyatip
tunpwhlwihl 2-pn/in - 116 [Jwwny p/nn 65
LppbpzhlYGbp Undtunwlwl p/in 58
UhpnnwlwG p/n 105  |Unigniju 55
Ywplwh 109 | Unulndjwl p/in 57
MnwwluwG 1-hG/in 113 |unquunijunbtp
Swywph 1-hG/n 113 [Ugnpwwnijuwn uhphpjw 70
Uwpnb uwGtp Ugnpuwynijuwn 70

. unybunwywl

lungh p/n 114 [Swdpnjwb b 91

dnpnlbdjwl wwunws -
Swywph p/in 121 |Ubigpwwnijun b 90

Ypdpwwnijun’ djubigdws
UrwGaph 1-hG/wn 109  |Ubgpwunijun 81

Ypdpwwnifun” Sfubigwd-

bhws
Btyh 114
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Jwybpwd 2.13

UnhGtphg wwinpwunyws pwnwlplnh dwiuuh GnpdwG

Mnjhdpwjhb pwnwOpltph dwiuuh Gnpdwh

Jwybjwd 2.14

Cwfuuh GnpdwG 1w pzhyh hwdwn

Mnihtph|GwjhG punwGph dwiuuh GnpdwG 1 wn

dptipph hwayny

Spwdwghp, dd | tthws bpshlGhn AnGnnnGtp
GpYwpmpmlp | GpYwpngynibp | Bplupnieymlp
0,554d 0,554 0,55 d
60 962 - -
65 767 - -
70 692 - -
75 633 - -
80 596 - -
85 553 - -
90 495 - -
95 435 - -
100 348 348 318
110 278 278 -
120 222 i 222 203

PunwGpltp
wnhGtinhg blhwd Yhuwwyhunws | hndwwunwd

Swywph 2ngwnp
(xkpyr) Juwnty 135 170 185
h.1
h.2 100 125 133
h.3 71 90 105
h.4 64 80 92
h.5 52 65 75
Swywph pwpwy wnh 46 57 65
(kpuunpw)
(G 62 78 90
shohl 82 105 122
Gbin 120 150 -
Ywuwwwnh (cuHrora) 96 - -
hww
jw)l 120 - -
dhohl 200 - -
G 200 - -
Swywph dhquwwpy, 800 - -
hwuw
Nsfuwnh gaplw,
Yuymy
h.1-h.4 200 250 -
h.5-h.7 300 375 -
tungh sbiplw, Yuwnily 120 150 -
Nsuwph Ywwwwnh, 700 1000 -

hwuwn
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Jwybwd 2.16

LwpwGh dwiuuh Grpdwl tpohlytintiGh hwdwp

1 dpbpph T 1w dptpph W
hwdwp jupw- Upknph hwdwp (wpw-
Uptipph wyuwGnuip Gh Swhuuh whyqwnup Gh dwluuh
Gnpdw(, Yg Gnpdw0, Yg
LgnGuwihG tpghylbip 3,5 bthwd bpphyltp 2,0
qhurm‘a’l;”hmmb 25 Ypdpwynijun 23
tipohYyltp
Upplipahylbp 0,7 Ubopwuyntjunn | 2,0
Uwpnbywlbp 20 . Tlubgpwd-
ywpipbgpud
Uwyjuwnws pzhlltn 30 | ipbppGtp
Lhytipuwip@ GpohlyGlip. 2,0 Ugnpuwniuwn ;;
Ugnpwynduwn 1,0 thnﬁ un .
nquuynt 23
(nybwnGbp 5,0 (Ubunyhlw)
Undpwiyniuwn 4.8

Jwybiws 2.17

Uphtunwwl punwGpitph Swhuuh GapdwG tpghyGlph hwdwp

RnyniGGliph YuGnwih qulgywshg duh b wy Spbippllph
Giph Gnpdwb, %

Suifbiwe 2.18

Juwy Puwn Ywg 30njwhwy |
3 3 3 3
UGJwlnuip S o S o S o S
Z21 312158333 3
3 S 3 S 3 S 3 =
2 3 2 3 = 3 = 3
= =} = b=} - b=} = =}
Indwgwd dhu 80,0 | 619 [ 803 | 59,7 | 789 | 59,9 | 81,3 | 64,2
Un pyrud*
pnpbip U - |08 - |12} - 09| - |08
bphywdbtp
Glpwdptpplbp - 7,1 - 9,3 - 9,4 - 75
W pynud - |23 ) - | 28| - J27| - |23
uppu b yupn
Lwpwdhy ) ; )
(wppwd) - 24 3.2 33 23
4dhq ) ) . .
(wnwGg wlh) 24 3.3 3,4 29
Qinifu '
- 3,8 - 54 - 45 - 28
(wnwlg Ygh) R
flunphip - 3.3 - 2,5 - 2.8 - 4,0
PLunnipllip 50 [ 60 | 35 | 35 | 35 | 35 | 39 | 39
Unywidwg - - 05| 05 | 10| 1,0 - -
Ruwikinnip 10 |10 [ 10110 [ 14 [ 14 [ 14 ] 14
Chnwdklp
(thbwnpwhnudp) 60 | 6.0 50 5,0 59 59 53 | 53
SuGhlwlwl | 4y 6 | 436 | 122 | 139 | 13,0 | 145 | 114 | 127
pwihnGGtip }
Ujn pynid’ B _
UpjniG 42 | 42 | 46 | 46 | 46 | 46 | 39 | 338 |
UnhGbip - 3 - 1,7 - 1,5 - |15
Uyt YnpniwnGlip 1 1 o8 |08 {0707 ]o07]o07!

Ruwnwlph Uphtunwlwl pwnwlplbph dwjuuh Onpdwa 1w bpghyh
npwdwghdp, hwdwp, ¥
dd Tthws | Yhuwwyows | Ghud- hnijwyuwnws
wufjutnwd
45 - 870 1031 1163
50 - 704 826 952
55 - 565 671 768
60 481 556 641 . 676
65 383 - - - -
70 346 - - -
75 317 - - - -
80 298 - - -
85 276 - - -
95 217 - - -
100 174 - - -
110 139 - - -
120 111 - - -
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Swybwd 2.19

Ar&nimﬁﬁbnh dnpeh dwiwlwy odwlnuy Gynipliph dwiuuh Gnpdwtipp

dwpbpwynpdwh Gyripbin Twjuup Gnpdwl

hwytp punbp uwgbp hGnyw-

| hwitip

MnptphtowhG punubpe 30 Jd.dhl.Yyg/m
Swpbpw(nnqws pudhl- | 10,15 10,15 10,15 10,15
Gbp" 0,5 4q qulgquony
bGpwdpbppGbp L Yhq’ 8,1 8,1 8,1 8,1
1 4q pwdhGGtpny

TniptehitGuhG punwbp 35 d.dhy. (pagGuwdhup thwpbtpwynptint

hwdwp) Yg/n
UwpwGh punwip 113 10,2 8,92 846
(Yubnhpp thwpbpwynnbint
hwdwp)
Mbpqudbln 1,47 1,0 0,87 0,88
Yhuwwtpqudtlwn 1,16 0,78 0,68 0.70
dwptpwynpiwl pnine 49 517 6,23 6.40
(wpynbnh dbg nbtny)
dwpbpwynpiwl pnine 4,5 3,75 3,75 3,75
(qntuGbpp hwpbpw-
{nphnt)
Upynbp® hwpnjw, hww/n 36,7 45,8 48,3 45,5
Nupybp gnpdyudpGliphg, hww/n |
PtwnnipGph hwdwp 105 149 149 | 1ﬁ
RuwihkwntpGph hwdwp 116 136 136 136
Nuypwqubqyusd, Yg/n - 15 | 15 -
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Fuybijwé 2.20

Nuynpny duh nuypwqunnuihg b gjuqunnuih
g utnwgynn hnudiph dhohG
hw)qwplwihG Gipp nuynpny duh qubgqywséh Gywwndwdp, % o

Nuynpny duh uquunjws
nbuwlp U | dhu, Swpyw- | 2o, Yaghy b Stiulhlwlua
Ywpgp hnwdp L fungh | duwlwnnpltp AuGnn puhnGOtp L
(ghpnipintGp) duiny innnuwinGn
Swywph dhu
1-hG Ywpgh 74,5 3,0 22,2
. : : 0,
2-pn Ywpgh 70,5 4,0 25,2 0 g
Lpwp 65,0 5,0 29,3 0'7
lungh Jhu' wnwhGg Jwayh ,
gwpwnun 88,0 1,2 10,6 0,2
UuwihG 84,5 1,8 13,56 0'2
Bwpyp dwu- ' ,
Gulih hulidud 83,5 2,0 14,3 0,2
Lnwp 78,0 3,0 20,5
Nyfuwiph dhu , B
1-hG Ywpgh 73,7 1,5 24,6
1 H L . 0‘2
2-pn Yupgh 65,7 2,0 321 0,2
Lnuip 56,5 25 | 405 0.5
nuunanquduh nbuwyp Bwpywhnudp Utigph, Ynnwjhl
wpgp | 6
S, e Updpw)hG dwpw
1-pG Ywpgh 3,0 5
2-nn Yuipgh 1,0 .
lungh Jhu wewlg dunyh
Bwpwnun - 25,0
Uuw(hG : 15,0
Cuwn nbuwylbph gpwqunywd duh Gjpp
sojwquunywd duh qubgywséh Gywindwip, %
Swywph dhu Giph Gnpdwh hun
' qh dphu Giph Gnpdw,
_(uuqunywbd) % __(gluquunywd) il %p
Pwpdp wbuwyh 20 Ny [niqwiph : 40
1-h( nbuwlh 45 Yhuwininwih 40
2-pn nbuwyh 35 Sniwih 20
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Swybws 2.21

LwpnpwwnphwGbph dwyptulbph hwadwpyp Gnpdwbbpp puwn

100
0,35
0,16
0,18

11

10
04
0,2
0,035 | 0,03

50
0,005 | 0,006

0,045 | 0,05

Jwytyws 2.22
0,18
0,03

Yywn/dwy

biEywpwhitnghw,

30

0,5

0,2
0,22
0,04
0,06
0,035
0,004

100
3.8
5,0
0,4
0.4
0,22
0,03

50
4,0
6,0
0,5
0,5
0,3
0,07

qninn2h, Yg

30
4,6
7,0
0,6
0,8
0.4
0,1

wpwwnpwdwup hgnpnigjwl
gqnpnipntlp '
hbppuwihntundd - hwqup | 2-6hwqup | 6-10 hwqup 10-150hu1q:1]p
d.nnwh wyd.tnnt
UGwGmdp wwd.onwh | wwpdanwh | wuwjdan th wwj
phiy. | puly [ phdt [ pwly | phi. | puly | phd- | puliy
Jup - [ 72- [3672| 216- | 108-
wwhwonlbip 18-36 U2 16720 |0s w2l & | 366 | 36 @
dn0sU 10 w/h | UG5k 20 wh | UpGsk 30 w/h | GhG3u 50 w/h
Unpeh phd.p. [ pwl. [ phd.. | pwl. | phd.y. g;ul;?{ %h&:l- p1u(;8.
72- | 36- - -
e IETET 36720 |yog 2| @ |30 | 368
UL 20000
RnynlGbiph dhGsl 6000 | dhGsu 10000 | GGy
dn[zuah w,[:- 2000 quu/h 10 o qunifu/ h qutfu/ h
nwrpwiw 18-36 12 36-72 1 36-72 02
Gn2htntGh U | dhGsb 2w/h | dhGel6 w/h | dhGsk 10 w/h | dhGsl 20 w/h
Yhuupupnh- - 72- | 3672 | 144- | 108-
YwwObph wp- | 18-36 & %728 | e | @ | 3602 | 366
inwnpwdwy . "

176

100
0,315
0,27
0,057
014
0,07
0,02

177

onip, 03
50
0,33
0,28
0,06
0,16
0,09
0,025

30
0,34
0,30

0,065

0,2

0,15
0,035

dwpywihl wpnwnpngw wpnwnpwdwetpnw, wnlhlw dhu hbppwiinfunud

wpwnwnpnipjwl wpnwnpwdwubpnl

Twluubiph fjunznpwgywsd Gnpdwlbpp wwppbp hgnpnigjwdp duph Yndphlwwnlbph duw-

dhwynpp
1 qyfup

hwiwp

1 Yndy-
l64wh

hwdwp

Quihdwe

Swfuubiph junznpugyws Gnpdwlbipp wwpplip hgnpriejwdp duh YnophGunlbph duwdwpuwhG

SnpdnnnupynlllGln

Ypnuynlh hwidwdp

2ywplu)ny
UsY
UnhGtph dwlnu

tunglip
tunqliph
Nguwnh

UkGnwihabph ugwn, dubnhph
by

dwulwwn, ipwdpbpplliph

dawlynud
Swyuwnh
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Jwybwd 2.23
‘Owluuh Gnpdw( dhwynp mwmnwumh wpuwnpwlph hwdwp dup
Ybpwdzwydwl wpnwnpniginilnu

Cuwluuh Gnpdwb dhwynp wwwnpwunh

wpwnwnpwlph hwdwp dup YEpwdawliw

o wpunwnpnentbnu
Upwnwnpwlp _g"
= -
o 3
'3 ot 2 F
3 - c (=
S = o i)
3 Z | & ° |2
(47 . & 3 3
S | & 5 |® S | £
s | £ 3 S‘ 2 | =5
& F =] a 2 o
Gthwd BpahlG6p tn 16 | 46 | 436 | 17 89 65
LppbpohyGtp n 16 | 46 | 436 | 17 89 149
Uwnnbiuitn 0 16 | 46| 436 | 17 | 89 | 65
Yhuwwwlunws i 16 | 46 | 436 | 17 | 110 94
tip2hyiGtip
Gthwd-wwlunws n 16 | 46 | 436 17 | 100 116
tin2hlyGtin
Andwypnws n 16 | 46 | 436 | 17 - -
tin2hlyGkin
tunquwnifuinltp n 16 | 46 [ 436 | 17 65 47
NGd6GGGP tn 9 |14 | 934 - - 40,5
6
Uninwnlbip hwqup 8 | 2,1 8.3 - - 3,5
_ hwwn
POwlwh Yhuw- hwqup 16 | 36 | 502 | 15 - 47
$wpphywinltp wnpghw '
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Jwybpjws 2.24
vwluuh Gnpdwd htippwiinfund 1000 1S wwhwénbtiph hwdwp
wfuuh Gnpdwl hippwthnfuntd
1000 NS wwhwonlbph
hwdwp
Nwhwanbip ol .
= £ | E8e
= = =
§ | & |282
Uhu ongbijuwpwd 2,5 240 15
Wihjwinbuwhb, duw-prvwlwl, 1-h0 L 46 310 17
2-n1 ywunbignphwih bOpwipkppltphg
LgnGwghG : 2,5 240 20-22
Jwybws 2.25

Buluuh Gapdwl hppwdinfund pryGh, dwquplliph U dbjwhdh
wpunwapnipjwl dwiwlwy

Twluuh Gnpdwl htippwhnfunud prylh, ]
dwquwnlbiph b dEwhdh wpnwnpnippwl
dwiwlwy
Upuwnpuwlp Qnip, ¥
uump | nwp | 90Unn2h, | EBYupwtGtn-
w/d .| gqhuw, 4dw/d
Ubjwad, 1 pbpywd winlGbwih .5 - 04 12
hwdwp
@nynilG thbnpwhwyws,
htppuwiinfuwih(
hqnpnipniGp, w
10 168,6 | 1,4 2 300
20 ' 187,3 | 27 3,6 520
dwquwpGtip, htppwihnfuwhG
hqnpnipiniGp, n
5 59 59 0,5 108
10 97 97 1 190
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Swybywd 2.26

UwppwynpnGliph dwyGhyp, wpnwnprqulwGnieimGp, fiEypnowndhsh hgnpniginiGp, swihubipp
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10.
1.
12.
13.
14.

rusuLNMR3NLL

U.L. TwywnnjwG, EL Uwhwlw, 4U. InghwGGhujwa, 3.U. UhGwujwG
UbRNTUNUL SNhENRULEN «&3Mhh QGMLUNYNRERINKLLENR  SEhuLNLN-
GhUMUL LURUSTNRU», «UULSEBRLPYUSE, UUMLNRESUL Gy REAUNKRSUL

oUtuUb IUtdUrYLEr» pwdhGlbphg nhwyindwihG U Ynpuwjpl Gwfuw-
qotip wwwpbnt hwdwp, bp., 3MU3, 2010, 16 ko

E.L.Uwhwlwa, .U 3ndhwlGhujwb, 3.U.UhlwujwG Utpnn.gnignidGtp
nhuyndwihG Gwhuwgdh «UpbipwihG hwyjwpy» U «Upwwnpuwdwubph
dwltpbultph hwp Jupy» pwehGbbph Yuwuwpdwh hwdwp Gp., 39U,
2003, 35k

Mutuu B.B. KypcoBoe U AMIIOMHOE NPOEKTHpOBaHHe 060pYIOBaHHA MSIC-
HO# 1 MonouHo# npoMsilieHHocTH. - M.: Konoc, 1992

O6opynoBaHue mna y60s CKOTa, NTULLI, NPOU3BOACTBA KOJNOACHBIX W3le-

* i ¥ nTHUenpoaykToB. CnpaBounuK. - M.: [TuiueBas npoMbILLIEHHOCTD,

1975 _

AmunoB M.C. u ap. TexHonorudeckoe o6opynoBaHie KOHCEPBHBIX 3aBO-
10B. - M.: Arponpomusaat, 1986 ’

PoroB U.A. u ap. TexHonoruueckoe obopynoBaHye U TEXHOJOMUA MACO-
KOHCEpBHOTO NMpou3BoacTBa. - M.: Muwesas npomeiumenHocts, 1978
Karanor. Mawmnbel u 060pydoBaHue And LEXOB W NMPEANPHATHH Maloii
MOLHOCTH MO nepepaboTke CeibCcKoX03a{cTBEHHOr O chipbi. - M.: Hudop-
marporex, 1992

Karanor. MawmHel u 06opyaoBaHue, cpeaCTBa aBTOMaTH3allMH UIA nepe-
pabathiBalomx otpacneit A[TK. MscHag npoMblLUIEeHHOCTb. ~ M.:
ArpoHHUWUT3H, 1990

Bysnos A.C. u np. JiunnoMHoe NpoeKTHMpOBAHHE NPEANPHATHH MACHOM
npomsitneHHocTH, — M.: [Muiesas npoMsiiuieHHocTs, 1979

Jlasposa JLII. n np. TexHonorua konbacHeix uspenuit. - M.: Tluiuesas
npoMbILIeHHOCTb, 1975

Hukntnn B.H. CrpasouHuk Texnonora nruuenepepabarbiBatomeii npo-
MBILIJIEHHOCTH. - M.; [THiuesas npomsiuLteHHOCTs, 1973

Poros M. A. u np. TexHonorus Maca u MaconpoaykTos. - M.: 2000
Konuukos A.I'. TexHonorua konbacuoro npoussosctea.- M.: 1961

Benses B.B. CaHurtapHad TeXHHKA TNpeANpUATHA MACHOH NpOMblLI-
neddocty. - M.: TTuwesas npoMsinmeHHocTs, 1979
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Lwluwgdh nbuGhu-nGnbuwlul dwup ... 5
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1.4. Upnwnpwdwutiph dwybpbuGlph L uwGunbuGhywih
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